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MeTtonuyna 3anucka

JaHui HaByYaNbHUH MOCIOHMK NpHU3HAYEHHH UM HaJaHHA JOINOMOTH
crynentam II-IV xypciB Beix cneniansHOCTed (akynsTeriB pajioTexHiku Ta
tenekomynikanii (QPTTK) i Meanxo-GionoriYHOro Ta  €/IEKTPOHHOrO
npunanobyxysanns (OMBEIT) npu BuBYeHHI TakuX PO3AINIB aHrmifichkol
rpaMaTHKH4 SIK Heoco0oBi popMu nieciosa.

B mocifHUKY BUCBITMIOIOTBCA OCHOBHI MHTAHHS INOKO YTBODEHH,
BXXHBAHHA Ta 3HAaYeHHs HeocobGoBUX QopM Aiecnora, ix dyHkuil B peueHni Ta
.ocobnuBoCTi mepekIagy Ha yKpaiHCBKY MOBY. Bcei rpamatnumi noscHeHss
[OlaHo0 Yy BUTVIANI Mopenel, 3HAYEHHs SKMX PO3KPHBAIOTHCHA HA NPUKIAfAX.
I‘pamamqﬂi TNIpaBHJIa LMIOCTPYIOTECS 338 JOHOMOIOK BiANIOBIHUX TabNHIb Ta
CXeM i CYNPOBOKYIOTBCS CHCTEMOIO TPEHYBATBHHUX BIIPAB, CIIPAMOBAHMX Ha
BUPOO/ICHHS Ta 3aKPIiTUICHHS HABUYOK PO3YMIHHA CTPYKTYP Ta iX nepexnajy.

MeTa npakTHYHOTO acneKTy NOCiOHHKA MOJArac B CHCTEMATH3ALIT 3HaHD
CTYAEHTiB 3 FPAMATHKH, B PO3BHTKY BMiHb T4 HaBHYOK NepeKiagy Ha piHy
MOBY IPaMaTHYHHX ABHII, fKi PO3PISHAIOTECH INpM YMTaHHI Ta nepeknasi
“creuiaipHOl TEXHIYHOI Ta HAYKOBOI JIiTEpaTypH.

Brnpasm 3rpynoBaHi B MOpSAKY 3pOCTaHHS CKIAJHOCTI | po3mimieHi
Ge3rmocepeIHbO MiCHs BiANOBIAHOIO IPAMATHYHOIO PO3ALNY, JO SKOTO BOHM
BinHOCAThCH, 1O COpHATHME Oe3M0oCepefHBOMY IIepPeXOAy BiA 3aCBOEHHS
TCOPETHYHOrO MaTepially KO HOro NIpaKTHYHOIO BHKOPHMCTaHHA. J{oCKOHane
3HaHHA IPaMaTUKA HEOOXiZHO IS PO3BUTKY BMIHb I HABHYOK YCHOTO MOBJIEHHS
"B MOHOJIOTi4HIM # ajanoriynifi mMoBHIH (Qopmi Ha Gasi aKTMBHOro BONOXIHHS
AHTTIHCHKOIO JIEKCHKOIO i IOOMArae CTYE€HTOBI HOJ0IAaTH MOBHHUIT 6ap’ep.

BripaBu, npmBenieHi Ha movaTKy po3iny, moOyZOBaHi Ha JEKCHYHOMY
MaTepiani po3MOBHOI MOBH, TOMY IX MOXXHA BHKOPHUCTOBYBATH B JiaNnorax Ta
PO3MOEHMX TeMaXx Ha mobyroBy Temaruky. OpHodacHo BiaGyBaecThes
3aKpiMlieHHA IpaMaTHYHOrO MaTepialy Ha OCHOBI HAaBEJEHHX CTPYKTYP.
Bripasu, siKi HaBesleHi B KiHUi po3ziny, yknageHi Ha 6asi TeKCHYHOro MaTepiany
1 TepMiHOMOril, IO BiANOBiAAIOTH TeMaTHui BCiX cheuianbHocredl IHCTHTYTY
paflioTexHiKH, 3B’S3Ky Ta NpUIanolynyBaHHs.

Buxnan Marepiany n03BojIsg€ BUBYATH ONHI TEMH HE3AJICKHO Bij HIMX,
TOMY NOCTiZIOBHICTH iX BHBYEHHS MOXKHA 3MIHIOBATH, BHXOZAYM 3 MOTpel i
PpiBHA 3HaHb KOXHO] aKafleMi4HOI IpYNH.

[TocibHuK Moxe GyTH BHKOPHCTAHHH SIK Ha NPaKTHYHHX 3AHATIAX B
ayauTopii, Tak i And caMoCTiHHOT po6oTH CTYAEHTIB.

TMocibuuk ciageH## y BiANOBIZHOCTI 3 AiOYOX NPOrpaMoro
BHBYCHHA aHIVIIACHKOI MOBH B BUIMX TEXHIYHUX HABYANbHUX 3aK/Iafax.
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Beryn

QopmH  mi€cnoBa, SKi BKHBAIOTBCH B PONi  NpHCYZAKa peYeHHs,
Ha3MBalOTbCs ocoGoBumE opmamu niecnoBa (Finite Forms of the Verb). B
aHrmiiceKkif# MOBi, K i B ykpaiHCBKill, € TakoX Heoco6oBi dopMu miecnosa
(Non-Finite Forms of the Verb), To6to TaKi, [0 He BXUBAIOTHCH B poni
TIPHCYZKa, ae BOHH MOXYTb BXOAMTH JI0 fioro cknany. Jlo HeocoGosux dopm
Ai€cnoBa B aHIMINCEKIH MOBI BiHOCATBCH Heo3HaueHa dopma niecnosa abo
indinitus (The Infinitive), mienpuxmersux (The Participle) i repyupiii (The
Gerund). Iudinitus, nmienpuxmeTnuk i repyHaiii MaroTh 3aranbHi JiecniBHi
BJIaCTMBOCTI, ajleé BOHH MAIOTh i Pi3Hi pHcH, SKi € BIaCTUBMMH iHIIMM YaCTHHAM
MOBH, HalpPHKNAjA TNDUKMETHHKY, IMEHHWKY, IO | BH3Hauae iX pisHi
cunTakcHdHi ¢yHxuii B peuenni. Heoco6osi dbopmu aiecnopa me maors
TpaMaTHYHUX O3HaK 0co6H, umcna | cmocoby, He BHMPAXaIOTH yacy  mil
(TemepiliEbOro, MHHyNOro Ta Mai6yTHBOro0), a JMme BKa3ylOTk Ha
CIiBBIHECEHICTh Y uaci, TOGTO 4H € BHpaXeHa HAMH is OTHOYACHOIO 3 niero
NpPUCYZIKa, YK fepeaye ii. '

arambri BractuBocTi iHQiHiTHBa, JienpukMeTHMKa Ta TEPYHAis MaiTh

CIIINIBHI pHCH:

1. Tlpocti Gopmu indinitiea, aienpukmernuxa i repyHzis BHPaXaIoTh [0,
oaHo4YacHy a6o MalyTHIO MO BiIHOWIEHHIO 10 Ai€C/OBA-NPHCYAKA.
llepdexti Gopmu BupaxatoTh filo, sKa mepexye aif, wo BUpaXeHa
Li€CIOBOM- IPHCYIKOM. ‘

2. IndiHiTHB, MieNPHKMETHUK Ta TrepyHAI MaiOTh topMu  piificroro i
MaCHBHOI'O CTaHiB,

3. InginiTus, AiempHKMETHHK Ta repyHmil MOXYTE NPHUAMATH MpsSMHi
HOJAaTOK.

4. Bci BOHHM MOXYTb O3HAYATHCh IPHCITIBHAKOM.

1 ITHOIHITUB
(THE INFINITIVE)

IndiniTus € HeocoGoBOIO (oOpMOIO Hi€cHOBa, fKA MAa€  BIACTHBOCTI
Ai€cnoBa i IMEHHHKa, KaTeropilo cTaHy i yacy, MOXe MaTH NMpsMUHA OXATOK i
O03HAYaTHCh MPHUCHIBHUKOM. IHOiHITHB — ue ¢opMa miecnoBa, ska TinBKH
Ha3uBa€ J1IO | BINIOBIA€ HA 3AMUTAHHS w0 pobumu?, wo 3pobumu?, to write
nucamu, to help donomazamu. Osnakow indiniTHBa B aHIiichKili MOBi €
uacrka to. Yactka not nepex indiniTuBoM Brasye Ha 3anepeuny dopmy.

B anrnidcekiit MoBi iH(iHITHB Ma€ OmHY NpOCTY i I’ ATh CKIAMHMX dopm
(muB. Tabnuuo 1.1).



Tabnuua 1.1 - @opmn indiniTusa

s pammit, o
Aonomarato To6i npo-
TATOM THXXHS.

Active Passive
Vo to help to be + Ved / V5 | ®opmu Indefinite Ta
I am always glad to | to be helped Continuous
help you. I am always glad | Bupaxarots
Indefinite |51 3apxmu  panuii | to be helped by onHo4acHicTe  abo
JIOTIOMOTTH TOGI. you. nilo, AKa €
S 3apxmu pagui, | MaliGyTHBOWO no
0 TH AOTIOMa- BiHOLUEHHIO HO [ii,
raei MeHi. BHpa)KeHo1
To be + Ving IecIoBOM-
to be helping IIPHUCYIKOM.
He seems to be
Continuous | helping his mother
now.
3naeTses, BiH 3apa3
Jonomarae CcBoiif
Marepi.
tohave+Ved/V; |to have been +|Ilepdexrni dopmu
to have helped Ved/ V; BUpPAXaIOTh  Jik0,
I am glad to have to have been mo wnepexye i,
helped you. helped BHpaXKeHiH
Perfect | A panuit, mo nonomir | I was glad to have | nieciosom—npu-
T0bi. been helped by | cymkom.
you.
A 6yB panuii, mwo
TH AOTIOMIT MEHi.
to have been + Ving ®opmu Perfect
I am glad to have Continuous
Perfect been helping you for BUPAXaIOTH Iil0,
Continious | a week. fIKa 11o4Yanach B

MHHYJIOMY i
TpPHBaJIa [POTATOM
TIEBHOT'O 4acy Jio
MOMEHTY MOBIIEH-
HA.

Maioun BnacTUBOCTi iMeHHHKa, IH(IHITHB MOXe BHKOHYBAaTH B pedYeHHI
oyuxuil nigmera, fofaTKa, 03HAYEHHS, OOCTABMHHM i BXOLUTH A0 CKiady Oyib-
AKOr0 CKJIafHOT'0 NIPUCYAKA (AHB. Tabmumo 1.2).
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Ta6maua 1.2 ~@yukuil indiniTusa B pedenni Ta Horo nepex.ia

v

© L iRiHiTHBOM. | ) ' To develop this circuit is our aim.
S ; niamer
.. IMCHHHKOM | | Po3poGHTH Ue KO0 — Halua MeTd.

C " yactuma ckaaaeHoro | Our aim is to develop this circuit.
! iHQIHITHBOM :

L imexHoro npucy;ika | Hauia MeTa — po3poduTH ue K010, |
S yacTHHa ckaaienoro . They are to develop this circuit.
| : IH(IRITHBOM IECAIBHOTO Bo#y 110BHHHI pO3poOUTH Lie
L NpUCYIKa 1 KOJ10.
i

i | circuit at the university laboratory.
IHOIHITHBOM | JI0JATOK i Haini cryaeHTH X04yTh
PO3poOUTH LIE KOAO B
| yHIBEpPCHTETChKHUIE 1aGoparopii.

; | Our students want to develop this

- 1. Our students came to the
laboratory te develop this circuit.
Haun cryaenTy npuiiuian B
i 1a0OpaTopiio U TOro, WoG
' PO3POOUTH Lie KOO,

2. To develop this circuit our
students came to the laboratory.
Jlas Tero. 1106 po3pobut 1
K00, HAWI CTYACHTH NPUALLITA B
#adopaTopiio.

: This circuit to be dcveloped

;' : attracts much attention.

H}IHITUBOM O3HAYEHHS . Kosto, axe notpiGxo pospotuty
{(sike 6y;1e po3podieHo).

npUBepTac 6araTo ysar.

' N
i

e

HbinITHBEM | obcTasnna i

ludiniTy B MEpeKIaLacTbCs:

Mpustimka. Sk o3HaveHHst iHQIHITHB NPUASTAE O O3IHAYCHOrO IMCHHMKA
CTIPaRa | BU3HAYAE 110, AKA Nie He PEeanizoBaHa. MOKIIHBA, 460 ueobOXiaHa uu
K4 0BMHHA OYTH BHKOHAHA B MaOyTHLOMY.

BIIPABH

Exercise 1. Make up five sentences from each table.

: ! am glad o mecl)ou. ?
CHe s happy . ohearm
Tshe T ae pleased fo be late.
We © was Cosorry to have missed th; tram




You were | delighted | not to have been informed about it.

¢ to tell you everything about it.
V,Van to be troubled when I am working,
I {like
hate to play basket-ball.
to be visited when [ am ill.
to be sent there.
I can find that magazine.
|He/She| may be found there.
| We must show you the way to the station.
You be shown the way to the station.
They bring the children home.

Exercise 2. Combine the two sentences as in the models.

Models: 1 teach English here. I am glad of it—1 am glad to teach English here.
We helped him. We are happy about it. — We are happy to have helped him.

I was examined yesterday. I am glad of it. — I am glad to have been examined
yesterday.

A. 1. I work at the factory. I am happy about it. 2. I see you. I am glad of
it. 3. I study French. I am glad of it. 4. I live in this town. I am happy about it. 5.
1 know this man. I am happy about it.

B. 1. T am going to Paris. I am happy about it. 2. I am spending my
holidays in the Crimea. I am happy about it. 3. I am listening to the symphony.
am glad of it. 4. I am reading his letter. I am glad of it. 5. I am playing chess
with you. I am glad of it.

C. 1.1 spent my holidays in the country. I am happy about it. 2. He played
chess with the world champion. He is happy about it. 3. I bathed in the river. I
am glad of it. 4. I learned English at school. I am glad of it. 5. I passed my
examination yesterday. I am glad of it.

D.1. I don't understand this rule. I am sorry about it. 2. I am not working
there now. I am sorry about it. 3. I have not seen this film. I am sorry about it. 4.
She has not been working all these years. She is sorry about it. 5. Peter didn't see
her. He is sorry about it.

E. 1. She was not invited to the evening party. She is sorry about it. 2. We
are taught English. We are glad of it. 3. I was waked early this morning. I am
glad of it. 4. I was not informed of it. I am sorry about it. 5. I am not allowed to
go there. I am sorry about it.



Exercise 3. State the function of the Infinitive in the sentences. Translate them
into Ukrainian.

I. Everyone had a wish to say something. (Gaskefl) 2. He decided to go
alone. (Gordon) 3. We must work hard to live. (4brahams) 4. The question must
be answered. (Hevm) 3. It was difficult to believe. (Dickens) 6. She was going to
my rooms to see my aunt. (Dickens) 7. She had no desire to open her heart to her
aunt. (Gaskell) 8. The great thing is to make a good breakfast. (Jerome) 9. I am
ready to go with Annie. (Dickens) 10. Nothing could be done before morning.
(Gaskell) 11. It wasn't safe to cross the bridge at night. (Greene) 12. To camn a
living he became a salesman. (Carter) 13. The man was the first to speak.
(Gaskell) 14. 1 am too old to be given a hiding. (Shaw) 15. This is my bench.
and you have no right to take it away from me. (4/bee)

Exercise 4. Translate into English using different forms of the Infinitive.

A 1. 5 paamii. WO Npawoo pasoM 3 HuM. 2. 51 pamuii. Mo npauosas
pazom 3 HuM. 3. BoHa maciupa. 1o RYUTHCH B LBOMY incTuTyTE. 4. Bowa
aCIMBA. HIO BYMAACH ¥ LOMY IHCTHTYTL 5. MeHI HepydHo. wo s 1ypoyio
Bac. 6. Meni nespvuno. wo s notypOyeas Bac. 7. Bin Oyie paiuii noixaru
Tyau. 8. Bin Oyie paanit. wo noixae Tvan.

B. 1. 8 pawmii 3anpocurd Bac Ha Beuwip. 2. 5 paumil. wo Meue
3anpouIyioTh Ha Bedip. 3. 51 paauit wo 3anpocus ix Ha sedip. 4. 5 paui. wo
MEHE 3alpockin Ha Bewip. 5. 51 paauii mocaaTH BaM L0 KHIDKKY. 6. A patui.
o nociap i WO KHUKKY. 7. 4 pajMi. 10 MEHE MOCHIAKTh Ha HIO
kondepenuiio. 8. 51 paunii. 10 MEHE NUCALTH Ha L0 KOHPEPEHLLIO.

C. 1. 81 xouy mocaary il reaerpamy. 2. 5 xouy. w00 MeHe AOCAATH Ha
KoH(epeHwito. 3. Most cecTpa xoue nodaunth ix Tam. 4. Boka ne xoue, 16 ii
tam nobaunan. 5. JliBunaka MoOKTh. wo0 il posnosizain kasku. 6. JliBunika
00OUTH PO3IOBINATH KA3KK.

D. 1. 3abytu ueit aeus Oy10 Hemox:nso. 2. [lepenpapisatucs uepes
piuky sHoul 0y;10 HeGe3ne4uHo. 3. BunrHes HAMmoNerMBO — 3aBJaHHA KOKHOIO
yuns. 4. JonomMortu #oMy Teliep—3HauuTh BPATYBATH HOro. 5. Ti meTa — cratu
fikapey. 6. Baule 3aB1aHHA—HAMUCATH TBIP PO CBOT JiTHI KAHIKVJIH. 7. Hawe
JABAANHS TIOJAraE B TOMY, W06 3aKiHunTH pobOTY 10 5 rpyaHs.

E. |. Bin nepuam 1onomir Ham. 2. Boxa Hanucana reip nepuoo. 3. Boua
fepLIo po3iosiia MeHi fpo ue. 4. JIupeKTop roBopus Ha 300pax OCTaHHIM. 5.
Bil nepumM no3;10poBus Hac. 6. 1 MillioB 1010MY OCTAHHIM.

F. | Mu B3sn Takci. wod npuGyTH Ha CTaHLio B4acHo. 2. Bona niwia
Ha MoWTy. Wob 01epkaTH NOCHIKY. 3. 51 BBIMKHYB TeAEBI30p. OO NOIAMBUTHCA
$v16oabuuit mMary. 4. Bowu npuixaiu B KuiB a13 yuacti B CNOPTHBHUX
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3MarasHaX. 5. 3aBTpa MM mizeMo B yric 36upaTn rpubn. 6. [1lo6 BUBYMTH MOBY,
BM NOBHHHI skoMora GiJbIIe YHTATH.

G. 1. Ilorona 6yna Hagro xopoma, uio6 3anumarics soMa. 2. 3aBaaHHs
Oyno HagTo CcKnamHHM, mo6 3pobuTH iforo 3a roguHy. 3. Bim mocuTts
JOCBi4eHHH, 106 BHKOHATH e 3aBAaHHA. 4. ChOroaHi HagTO XONOAHO, IO
iTH Ha piuKy. 5. B ipoMy TexcTi HanTo 6araTo HOBHX CiiB, W06 3po3ymiTH fioro
Oe3 cllOBHUKA.

Exercise 5. In this exercise you have to complete each sentence with a
suitable verb in the form of the Infinitive : to talk, to get, to lend, to buy, to be,
to play, to call, to fly, to look, to close, to hear.

Example: Don't forget....to post...... the letter I gave you.

1. Tom refused ____ me any money. 2. Jill has decided not __ a car. 3. The
thief got into the house because I forgot  the window. 4. There was a lot of
traffic but we managed ____to the airport in time. 5. I've arranged ___ tennis
tomorrow afternoon. 6. One day I'd like to learn ~ an airplane. 7.1 shouted to
him. He pretended not ____ me but I'm sure he did. 8. Why hasn't Sue arrived
yet? She promised not ____ late. 9. Our neighbour threatened ____ the police if
we didn't stop the noise. 10. Ann offered ____ after our children while we were
out. 11. The teacher was very strict. Nobody dared ___ during his lessons.

Exercise 6. Open the brackets using the necessary forms of the Infinitive.

1. He seems (to read) a lot. 2. He seems (to read) now. 3. He seems (to read)
since morning. 4. He seems (to read) all the books in the library. 5. I want (to
take) you to the concert. 6. I want (to take) to the concert by my father. 7. She
hoped (to help) her friends. 8. She hoped (to help) by her friends. 9. I hope (to
see) you soon. 10. We expect (to be) back in two days: 11. He expected (to help)
by the teacher. 12. The children seem (to play) since morning. 13. I am glad (to
do) all the homework yesterday. 14. She seems (to work) at this problem ever
since she came here. 15. I am happy (to invite) you to the movie theatre.

Exercise 7. Complete each sentence using what or how with one of the
following verbs: do say  use ride cook

Example: Do you know ......how to get.......... to John's house?
1. Have you decided what for dinner this evening? 2. Can you show me
the washing machine? 3. Do you know if there's a fire in the

‘building? 4. You'll never forget a bicycle once you have learned. 5. T was
really astonished. I didn't know .
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Exercise 8. Now make your own sentences. Complete each sentence with to +
infinitive.

Example: This evening I have arranged .....fo go fo the theatre........
1.Not many people can afford . 2. T would like to learn . 3. One
day I hope . 4. Iwouldn't dare . 5. Sometimes I tend

Exercise 9. In this exercise you have to make sentences with afraid. Read each
situation and then use the words in brackets to write your sentence.

Examples: The streets are unsafe at night.(I / afraid / go out / alone). - I am
afraid to go out alone.

1. 1don't usually carry my passport with me. (I / afraid / lose / it). 2. The
sea was very rough. (we / afraid / go / swimming). 3. We rushed to the police
station. (we / afraid / look / behind. 4. I didn't tell Tom that I thought he had
behaved foolishly. (I / afraid / discuss / it / with him). 5. In the middle of the
film there was a particularly horrifying scene. (we / afraid / look). 6. She seemed
very upsct that day. (she / afraid / tell / her parents / about the incident). 7. I
didn't like the look of the food on my plate. (I/ afraid / eat / it).

Exercise 10. Now you have to make sentences with need + passive infinitive (to
be+Ved/Vs), Use the verb in brackets.

Example: This coat is rather dirty, (clean) . - It needs to be cleaned.

1. This room hasn't been painted for years (paint). It . 2. Your
hair is too long (cut). It . 3. Those shoes are rather dirty (polish).
They . 4. This plant hasn't been watered for some time (water). It
5. Those screws are loose (tighten). They .6. Your jeans are too long (take
up). They 7. The street is rather narrow (widen). It

Exercise 11. Put the verb into the correct form of the Infinitive.

Example: 1f you want to pass your exams, you need ...fo study...... (study) more.
I'm sorry I broke the chair. It needs to be repaired...... (repair).

1. Does this job need ____ (do) now or can I leave it until later? 2. I've got an
extra bed, so when you come to stay, you won't need___ (bring) your sleeping
bag. 3. Tom helped his mother ____ (get) the dinner ready. 4. The batteries of
this radio are low. They need (charge). 5. Those shirts need ____(iron)
but you don't need___ (do) it now. 6. He looks so unhappy. He needs
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(encourage). 7. The fine weather helped (make) it a very enjoyable
holiday.

Exercise 12. Translate the following sentences into Ukrainian paying
attention to active and passive forms of the Infinitive:

1.Nature has many secrets to be discovered yet. 2.To improve your
phonetics you should record yourself and analyze your speech. 3. This is the
book to be read during the summer holidays. 4.To be instructed by such a good
specialist was a great advantage. 5. To play chess was his greatest pleasure. 6.
The child did not like to be washed. 7. Isn't it natural that we like to be praised
and don't like to be scolded? 8. Which is more pleasant: to give or to be given
presents? 9. He is very forgetful, but he doesn't like to be reminded of his duties.
10. Are you a good friend to have?

Exercise 13. Translate the followz‘hg sentences into Ukrainian paying attention
to the Perfect Infinitive:

--1. T am awfully glad to have met you. 2. Sorry to have placed you in this
disagreeable situation. 3.1 am very happy to have had the pleasure of making
your acquaintance. 4. I am sorry to have kept you waiting. 5. Clyde was awfully
glad to have renewed his acquaintance with Sondra. 6. Sorry not to have noticed
you. 7.1 am sorry to have added some more trouble by what I have told you. 8.
When Clyde looked at the girl closely, he remembered to have seen her in
Sondra's company. 9. [ remembered to have been moved by the scene I
witnessed. 10. The child was happy to have been brought home. 11. Jane
remembered to have been told a lot about Mr. Rochester. 12. The children were
delighted to have been taken to the circus. 13. I am sorry to have spoilt your
mood. 14. Maggie was very sorry to have forgotten to feed the rabbits.

Exercise 14. Translate the following sentences into Ukrainian paying attention
to different forms of the Infinitive:

1. T am glad to invite you to the conference. 2. I am glad to be inviting you
to the conference. 3. I am glad to have invited you to the conference. 4. 1 am
glad to be invited to the conference. 5. I am glad to have been invited to the con-
ference. 6. He asked to be shown the new pictures. 7. We are happy to have been
included in the research group. 8. He wants to be supported by you. 9. He was
glad to be helped by you at the examination. 10. I want to support you in solving
this problem. 11. To know everything is to know nothing. 12. To achi-eve better
results we must repeat the experiment. 13. To live is to work and to study. 14. I
was sorry to have changed my mind so unexpectedly. 15. Who doesn’t like to
be given presents? 16. A little girl was pleased to be taken to the zoo. 17. He
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expected to be told more about the case. 18. A vain person always hopes to be
praised by everybody. 19. When a child she liked to be told fairy tales.

Exercise 15. Translate the following sentences into Ukrainian paying attention
to the Infinitive in the function of an attribute:

1. The article to be translated was very difficult. 2. The railway to connect
these two towns will be the longest in the region. 3. This report will be
discussed at the conference to open in Moscow in some days. 4. Show me the
text to be translated today. 5. There are many rules to be remembered when you
translate from the foreign languages. 6. I think that the film to be shown at our
club to-night will be interesting. 7. The task to be fulfilled by our students seems
to be rather difficult. 8. The power station to be put into operation in some
months will have an output of 1.000 000 kW. 9. The periodic law of elements to
be described here was discovered by D. 1. Mendeleyev in 1869. 10. The lecture
to be followed by a large concert will take place in our club. 11. The work to be
finished in a week is of great importance for our laboratory.

Exercise 16. Translate the following sentences into Ukrainian paying attention
to different functions of the Infinitive:

1. Here are some tables to be referred to later. 2, There are a lot of
problems to be solved in order to understand the phenomenon under study. 3.
Those scientists were the first to make the satellite. 4. To be precise is the
character of an experimenter. 5. There are some other phenomena to be
considered. 6. This paper will be read at the conference to open shortly in
Dubna. 7. To consider all these effects took a lot of time. 8. The method to be
followed will be discussed later. 9. To define the object of the experiment you
must consult your professor. 10. The data to be obtained from the experiment
are very important. 11. I am glad to have joined this research team. 12. We are
lucky to be working at a very interesting problem. 13. To introduce
computational physics is the subject of your studies. 14. To introduce it
successfully we are to see what computational physics is. 15. To involve
computational problems is difficult without some practice in solving ordinary
differential equations. 16. To solve this second order differential equation is the
first thing to be done. 17. To understand the problem we must involve one new
phenomenon. 18. To demonstrate this phenomenon we involve a challenging
problem. 19. To see things in a simple way is the job of a physicist. 20. To
understand many complicated phenomena in terms of a few simple principles
physicists develop theories. 21. To provide experimental evidence for the
theoretical ideas experimentalists make more and more complicated
experiments. 22. This is last but one argument to be included in the forthcoming
presentation.
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Exercise 17. Translate the following sentences with the Infinitive differentiating
between the functions of a subject and an adverbial modifier of purpose. The
latter is translated into Ukrainian with a conjunction “ons mozo wo6 .

1. To build a new railway line of this length is a very complicated task. 2.
To build a line in such short period of time a lot of preliminary work must be
done. 3. To complete it on time it is important to work out all the details. 4. To
deal with such accurate measurements is extremely difficult. 5. To obtain the
data on such shifts is the purpose of the paper. 6. Do derive the data we must
:-make several experiments. 7. To exploit new sources of energy is the most
urgent problem of today. 8. To solve this problem the researchers have been
working hard for years. 9. To exploit the whole of the Sun’s energy is one of the
researcher’s long term aims. 10. To do it as quickly as possible we are to
-increase scientific efficiency. 11. To increase scientific efficiency is to raise the
productivity of our industry. 12. To improve our citizens’ working and living
conditions our government pays much atterition to all of these questions. 13. For
these problems to be carried out successfully we are to work hard. 14. Much is
to be done in these fields for this key problem to be solved successfully. 15. To
learn the principles of the “black hole” the scientist had to carry out a number of
experiments. 16. To explain the phenomenon of the Bermuda triangle was not an
easy task. 17. To move from one astronomical body to another means to
overcome gravitational forces. 18. To do work our object must have energy. 19.
To produce a large thrust in a rocket requires high mass flow, high energy and
high pressure. 20. To coordinate the efforts of many groups of engineers
constitutes a very difficult task. 21. To start a chain reaction it is necessary for at
least one neutron to hit a Uranium-235 nucleus. 22. Four years are required for
light to travel from the nearest star to the Earth.

Exercise 18. Translate the sentences paying attention to the Infinitive in the
function of an attribute which is translated into Ukrainian by an attribute
subordinate clause beginning with a conjunction "axuil".

1. This is the key problem to be solved immediately. 2. For this key
problem to be solved immediately much is to be done. 3. We are to solve this
key problem immediately. 4. These are the main sources of energy to be
exploited. 5. The main sources of energy to be exploited in the future are the
energy of the sun and nuclear energy. 6. For energy of the sun to be exploited to
- the full the researchers are developing new techniques. 7. There is nothing to
+ worry about. 8. Packing is the first thing to be done for this algorithm. 9. There
are some important instructions to be followed. 10. You always find something
to be done urgently. 11. Have you got any book to read? 12. This is the book to
pay attention to. 13. There are many things to be taken into consideration when
designing a new device. 14. Now we will discuss the system of units to be
employed later in our discussion. 15. The experimental data to be discussed
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must be included in the paper. 16. The instruments to be displayed at the well-
known exhibition might be provided with modernized units.

Exercise 19. Translate the following sentences paying attention to the functions
of the Infinitive:

1. We have got one more problem to solve today. 2. There is one more
phenomenon to be involved into this solution. 3. To introduce numerical
methods and their use in physics is the purpose of the paper. 4. To answer the
question we studied a great deal of publications on the problem. 5. The methods
to be introduced are extremely useful for solving many practical problems. 6.
We need a week more to study the problem in detail. 7. The person to solve the
problem must be familiar with different calculus. 8. We have strong evidence to
predict this result. 9. This is the set of equations to be solved to understand the
problem as a whole. 10. The set of laws to be involved in these calculations
must be studied in detail. 11. To interpret these results in terms of your concept
is rather difficult. 12. The specialists to make these computations must write a
program in BASIC. 13. The amount of computations to be done is great. 14.
There are some laws to follow in this solution. 15. This is the novelty to pay
attention to. 16. To avoid any trouble the operator should always check up
whether the devices are in order.

Exercise 20. State the forms and functions of the Infinitive in the following
sentences and translate them into Ukrainian:

1. To magnetize a magnetic body or to create a magnetic flux in a circuit
always requires an expenditure of energy. 2. The force that causes electrons to
move is called the difference of potentials or e.m.f. 3. At the same time some
electrons become energetic enough to escape from solid and thermionic
emission takes place. 4. This quality in a diode is used to convert or rectify
alternating current to direct current. 5. One can see the anodes to be connected
together through two equal resistors R;. 6. To understand the operation of the
class A push-pull amplifier first imagine that the signal amplitude is V/2 and the
common standing bias is — Vpw/2. 7. In metallic conductors many of the
electrons are free to travel about among the atoms like molecules of a gas. 8. To
double the rate of electron flow the e.m.f. was doubled. 9. To double the rate of
electron flow means to increase the current strength. 10. It is necessary to
measure the current strength in this circuit. 11. Strength of the magnetic field to
be determined depends on the current strength in the circuit. 12. There are four
variable parameters to be taken into consideration. 13. An initial experiment was
made to reduce the interelectrode capacitance of the triode. 14. A capacitor is
usually connected externally from the screen grid to the cathode to provide a
low impedance path for the current. 15. To reduce the interelectrode capacitance
of a triode an experiment was made. 16. To reduce the interelectrode
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' capacitance was possible due to introduction of the second grid. 17. To get high-
frequency steady-state oscillations including the microwave band vacuum tubes
are necessary to be used. 18. The prime function of electromagnetic waves is to
carry information from a source (called the transmitter) to some other point
(called the receiver). 19. The model of the atom to be discussed belongs to Niels
Bohr. 20. The function of the detecting screen is to give a visible indication of
the instantaneous position of the electron beam.

' Exercise 21. Translate the following sentences into Ukrainian paying attention
" to the Infinitive.

1. The method to be used in measuring the e.m.f. is very simple. 2. The
device to be used performs different functions. 3. This is the device to be used in
our experiment. 4. The first man to get the electric current was Volta. 5. The
only way to stop or control the anode current is to decrease or remove the anode
voltage. 6. For this effect to be understood researchers had to carry out a lot of
experiments. 7. We will discuss the operation of a junction transistor to show
how amplification may be achieved. 8. The examples chosen to illustrate donors
and acceptors are particularly simple. 9. In many semiconductors it is of great

- importance to recognize two kinds of carriers of electric current, i.e. electrons
and holes. 10. Unlike the generator a transformer can not be used to convert
mechanical energy into electrical one. 11. Rectifiers are devices designed to

“convert alternating current into direct current. 12. In any amplifier or oscillator
the function of the electron stream is to convert d.c. energy from h.f. supply to
a.c. energy at the required frequency. 13. The plate must have enough surface

“area to dissipate this heat by radiation. 14. This quality in a triode is used to

' convert or rectify alternating current to direct current. 15. If there happens to be
the source of secondary emission, having a higher positive potential than this

‘source, the secondary emission electrons will tend to flow to this second

“electrode.

- Exercise 22, Find the Infinitive in the following sentences and state its
functions. Translate the sentenses into Ukrainian.

1. To develop a new device we had to study structures of many similar
devices. 2. To obtain the desired properties of the device the scientist had to
continue this experiment. 3. To determine the direction of the lines of force set
up-around a conductor we must know the rule of gimlet. 4. The above mentioned
method is used to determine the polarity of an electromagnetic solenoid. 5. To
make an electric current flow continuously along a wire, a continuous supply of
electrons must be available at one end and a continuous supply of positive
charges at the other. 6. To avoid possible breakdown of the insulation, the
practice is to put extra insulation on the end turns. 7. To make permanent steel
Jnagnets we must prepare steel of high quality. 8. In a battery the determining
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factors are kinds of electrolytes and the kind of the metals to be used for all
plates. 9. The grounded-emitter and grounded-base switching circuits.can be
made to operate from saturation to cutoff. 10. A Zener diode is incorporated in
the gate input to raise the maximum permissible logic 0 input levels to 5 V. 11.
What is used to describe different types of logic circuits? 12. The voltage level
at point P becomes sufficiently positive for a portion of the base current of T to
flow through the base-collector junction.

Exercise 23. Translate the following sentences into Ukrainian using different
kinds of translation of the Infinitive.

1. In practice, most of the problems that you’ll encounter will be easy to
fix: bad batteries, broken microphone cables, etc. 2. A triode requires three
operating voltages, one on each electrode, to operate correctly. 3. Since the radio
volume control is rendered ineffective R16 is added to control the static or
noise-free volume. 4. Use double-sided transparent or masking tape to keep the
pickup from sliding about. 5. One of the newer devices to find its way into the
modern car is the IC voltage regulator. 6. This regulator consists of three
principal parts: a voltage-control device, a temperature-compensation network,
and an output device to control alternator field current. 7. No wires are needed
or used to connect the regulator to the alternator and only one cable is required
to connect the IC regulator to the car battery and electrical system. 8. When the
system voltage drops slightly below the tolerance level, the Zener diode stops
conducting, turning off Q1, which turns on Q2, allowing field current to flow
again. 9. This current is sufficient to produce slight heating of the thermistor
assembly.10. If the fuel level falls below the level of the thermistor, it begins to
warm up and its resistance decreases. 11. To facilitate installation and servicing,
flexible leads should be used. 12. The automatic noise eliminator is an automatic
feedback control system that compares a wired — in signal to an acoustically
coupled signal containing both program and noise, then adjusts radio loudness to
maintain a fixed signal — to — noise ratio for the listener.13. T1 steps up the
audio voltage so it can be rectified and filtered to obtain a d.c. level proportional
only to S. 14. R12 is adjustable to make the radio volume “track” the noise to
maintain the selected signal —to- noise ratio over the ambient noise range. 15.
R8, RY, R10, R11, C6 and C7 establish time constants long enough to prevent
volume fluctuations due to silences and pauses. 16. R1 and D3 compensate the
base-emitter forward voltage drop to provide true class — B operation over the
temperature range. 17. The special shunt remains in use and the shunt
connected to the contacts of the selector is increased, so as to permit the
measuring of maximum currents of 10, 50, 100 and 500 milliamperes. 18. The
650 — ohm rheostat is connected at the same time in paraliel with the instrument,
so as to form an adjustable shunt which will permit the needle to be carried to
zero on the ohm scale. 19. Most instruments are more accurate and easier to read
when the needle is near the middle of the scale. 20. Additional circuit
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components have been added to ensure high-frequency stability of the complete
amplifier.

Exercise 24. Translate the following sentences paying attention to different
Sunctions of the Infinitive.

1. So the conventional flip-flop of Fig.] was modified to form the
frequency divider shown in Fig.2 by increasing all resistances. 2. A 4-volt
(peak-to-peak) trigger input is required and the MFC4040 device seems to
trigger well from sine waves to over 5 Mhz. 3. The input signal required in order
to obtain the maximum undistorted output is represented by the minimum
voltage necessary to apply to the input circuit of an amplifier to obtain the
maximum undistorted power output. 4. When an amplifier is said to have a total
gain of 130 dB, and a power output of +30 dB, the total output will be obtained
by applying an ititial power of — 100 dB. 5. He was told not to waste any more
time : it was acknowledged that the equipment was worthwhile and that airline
security people believed such devices to be necessary, but no orders were
forthcoming. 6. The real challenge is to use the telephone pair, to listen not to
telephone conversations but to conversation in the room. 7. Though Thevenin
produced a rush of publications in 1883, he seems to have published nothing
thereafter. 8. To use the tunnel diode as an ampliﬁer or an oscillator, we must
prevent it from switching. 9. The company’s research laboratories merged in
1925 with those of AT & T to become the Bell Telephone Laboratories. 10. In
addition to a high resolution capability, provisions for specimen protection are
now required of an electron microscope, to assure the acquisition of more
accurate information. 11. Thus, it is possible to obtain a diffraction pattern from
approximate 0.3 xm area. 12. This goniometer allows the specimen to be tilted
with no image deviation and to be tilted or shifted with no changes of focus,

; magnification and camera length. 13. The electron microscope, however,

.presents various restrictions that have to be solved to obtain a clean high
-vacuum. 14. To start operation, you have only to turn the POWER-key. 15. We
.have incorporated special design considerations to facilitate high voltage
-application and filament exchange. 16. The check panel enables you to
constantly monitor the operation state of each section, making the instrument
maintenance extremely easy. 17. The operation panel has enough space to

. accommodate up to five spans of attachments, such as amplifiers and signal
processors.18. Provision of a side entry type EDS detector permits a high P-B
ratio to be obtained even at high accelerating voltage. 19. Attempts to increase
output voltages and hence the range of applications, have met with two major
obstacles until recently. 20. Where the load is constant it is relatively simple to
control the voltage across the load, but if the load is variable it is necessary to -
use feedback which is proportional to the r.m.s. value of the output. 21. The
main purpose of industry is to convert ideas into wealth.
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Exercise 25. State the forms and functions of the Infinitive and translate them
into Ukrainian.

1. Each motor has nominantly the same power and is loaded to take the
rated input. 2. The control system can be expanded to include computer or tape
control . 3. With a round wire this causes the current density to be maximum at
the surface and the least at the centre. 4. Lines used for this purpose are
commonly said to be resonant or nonresonant according to the method of
operation. 5. When the load impedance does not equal the characteristic
impedance, a reflected wave exists and the line is said to be resonant because of
the resulting oscillatory character of the current and voltage distributions. 6. A
simple arrangement is shown in Fig.7, in which the tuning of the circuits and the
mutual inductance are chosen to make the load resistance of the proper
magnitude. 7. As it is, only electrons having enough energy to overcome the
surface forces manage to get away. 8. The higher the cathode temperature, the
higher the emission and the higher the voltage at which the current curve begins
to flatten or “saturate”. 9. The pentode resulted from efforts to improve the
characteristics of the triode and screen-grid tube. 10. The triode was designed to
have a low electrostatic capacity between control grid and plate.11. The amount
of the reduction of plate current in this region may be sufficient to cause the
plate current to be negative. 12. The chief use of such a resistance is to eliminate
the high-frequency peak that results when a transformer is associated with a
plate resistance that is too low. 13. A transformer used to couple a transmission
line, a microphone, or other low impedance source of energy to the grid of a
tube is termed an input transformer. 14. When the possible frequencies of
oscillation differ greatly, both tend to occur simultaneously with the low-
frequency oscillation modulating the high-frequency one. 15. Vacuum- tube
oscillators tend to synchronize with an injected voltage of approximately the
same frequency. 16. In this way it is possible to control the relative frequency of
oscillator and injected voltage at ratios up to 10:1. 17. That makes it easier to
spot when something’s wrong, and to analyze what the trouble is. 18. For
servicing you need a way to find out if a set can hold color on weak signals. 19.
This gives you a constant signal level to work with in color-sync or automatic
color control circuits. 20. All we need to know about this tunnel current is that
its transit time is so short that it does not affect the maximum operating
frequency of the diode. 21. At the opposite end, in the n-region near the
negative terminal, more electrons arrive from the negative battery-terminal and
enter the n-region to replace the electrons lost by combination with holes near
the junction. 22. This region is very thin and only slightly “doped” with impurity
atoms, so that the majority of the holes are able to drift across the base without
meeting electrons to combine with: 23. The main point to note is that a very
small emitter voltage suffices to produce a large flow of emitter current. 24. N
rays were but one of the unusual kinds of radiation to have been used for
radiography. '
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2 OB‘€KTHUH IHOIHITUBHII KOMIUIEKC (THE OBJECTIVE
INFINITIVE COMPLEX) ABO CKJIAXHHI JOJATOK
(THE COMPLEX OBJECT)

CBoI0 IyMKy, CYIUKSHHS, IPHIYINEHHST HpPO SKyCh 0coBy, GakT 4M IpeaMer
MO>XHa BUCJIOBUTH Ha aHITIiHCEKi# MOBI IBoMa 3aco0aMH:
- CxlagHONiAPSAHUM PEYSHHAM 3 NAPATHAM JONATKOBHM:

I suppose that the velocity of movement changes.
- Tlpoctum peuennsm 3 cknaguuM popatkoM (The Complex Object), sxe
CKJIaacThCA 3 iMeHHMKa (y 3arajJbHOMY BiaMiHKy) abo ocoBoBoro 3aliMeHHHKa
B 06‘exTHOMY BiAMIHKY) 1 iH)iHITUBY:

I suppose the velocity of movement to change.
O6unpa peveHHs NepeKIafaloThCs OAHAKOBO:

51 BBaxkaro, 110 MBHAKICTH PyXY 3MiHIOETbCSH.

Y peuenni  like him to come in time for dinner (Meni nodobacmocs, wo 8in
npuxoOume g4acHo Ha 06id) indiniTus ‘to come’ Bupaxae Iil0, Ky BUKOHYE
ocoba, mo3HayeHa 3aliMEHHHKOM B 06‘eKTHOMY BigMinKy — him, mo croits
-nepen iHGbiHiTHBOM to come, TOGTO iHQIHITMB BIZHOCHTECS HO LBOIO
3afiMeHHUMKa, X NpHCynok no migMera. Omke ‘him to come’ sBnse coboro
ennHe nine abo o6°‘exTHUH iHOIHITHBHUIT xoMIUIeke. Y peueHH] Hell KoMIIeke
BUKOHYE POJIb CKAAAHOTO AOJATKA, OCKITBKHM PeUeHHs, IO 3a3HayeHe BHLIE,
O3HaJae, IO MeHi NMojobacThcs He BiH, a Te 110 BiH NPUXOAMTHL BYACHO Ha
obin. ,

Came TOMy, IO TaKHH KOMIUIEKC Mae y CBOeEMy cknani iHGiiTuB i
BXHBacThCs y QyHKUii nomatka (object), Bin HasuBaeThcs 06‘exkTHHM
indinitueauM koMmekcoM (The Objective Infinitive Complex).

O6‘exTHuit inQiHiTHBHUIA KOMIIEKC CKIANAETHCS 3 ABOX 4acTuH. [lepma
YacTHHA — iMCHHHMK Y 3aralbHOMY BiOMiHKY a0o oco0oBuif 3aiiMeHHMK B
ob‘exTHOMy BinMiEKy (me, him, her, it, us, you, them). J[lpyra uactuxa
KOMIUIEKCY — iHQIHITHB, MO BHpaXae Jilo, SKy BHUKOHYE iIMeHHHK abo
3afiMEHHHK B NEpIiil 9acTHHi.

Ha yxpainceKy MoBy 00 exTHMil iHGIHITHBHUI KOMILIEKC [1EPEKIaAaETHCS
30e6iNIBIIOro HiAPSNHUM NOAATKOBHM PEYEHHSAM 3 COTYYHMUKAMH 1O abo mo0.

s me
BiH him to study better.
BOH2 her
S xouy, mod BOHO I want it BYHBCH
MH us (BUMIACH,BUMITHCD)
TH, BH you Kparue.
BOHH them _
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06‘ckTHMl iHQINITUBHAM KOMIUIEKC BXMBA€ETBCA JIMILE [IC/s NEBHHX
TpyIL AECHIB.
1. O6‘exTHuit iHGIHITHBHUI KOMIUIEKC BXHBAETBCA Nicns JAi€CniB, WO
BUpaXaloTh OakaHHs, HaMmip, nodyTTs: to want —xomimu, to wish, to desire ~
6axcamu;, to dislike — ne nodobamucs, e miobumu; to hate — nenasudimu; to
intend — smamu navip; to love — mobumu; to like —nodobamucs, should/would
like — xomie 61 Ta iHuUI.
o Bu xoyere, o 6 BIH xnd Bac
3pobuB?
[t He mono6aeTbes, WO BiH KPUUHTH
Ha CBOK CECTpY.
He intended me to go with him to the Bin xoTis, 106 2 nimwoB 3 #uM A0
theatre. Tearpy.
S xoTiB 64, W00 BU IIPOUMTAIM LIO
KHUTY.

What do you want him to do for you?

She dislikes him to shout at his sister.

I’d like you to read this book.

2. OG6‘eKTHHH iHOIHITMBHHN KOMILUIEKC BXHMBA€ThCH IicHs Hiecnis, 110
BHpaKAKOTh IYMKY, TIPUIIYIIEHHs, CTIOAiBaHHs, Hazilo: to think=to guess=to
suppose — oyvamu, egaxcamu;, to find — snaxooumu; to consider=to believe —
seaxcamur; to know — znamu; to expect — cnodisamucsa ma in. Ans niecais niel
rpynu (KpiM to expect) HailuacTille BXUBACTBCA iHQIHITHB to be:

We consider him to be the best Mu  BBakaemo  Horo  Halkpauum
student of our group. CTYICHTOM HALLOl IPYIH.

He thought her to be about Bin nywas, wo i 61n3bK0 25 poxis.
twenty five.

They knew him to be lazy. Bowu 3Hanu, o BiH neaavui.

He expected her to return. Bid cnioaiBaBcs, U0 BOHA MOBEPHETHCA.

3. OB‘ckTHWl iH}IHITMBHHMYE KOMIIEKC BXKHBAETBCA TiCHs Ji€CiiB, UIO
BUPAXaIOTh HAKA3, NPOXAKHA, 003601, nopady, npusyc: to order — nakazyeamit,
to ask=to request — npocumu; to advise = to recommend — padumu.
pexotendveamu; to persuade — enesniosamu; to press — 62060p6amil,
nanoaseami, 1o warn — nonepedcamu;, to permit = to allow — dozeonamu; to
cause=to force= to make — npuriyurysamu; to let — seaimu, o0ozeoaamu. [licns
giecaip to make i to let indinitTus BxuBaeThcs Ge3 wacTkh to (to make
somebody do something — npusyuiysamu ko2oce pooumu wocoy).

We made him work. Mu npumMycnau Horo npaitoBaTy.
Nick's tather ordered some water bartbko Hika HaxaszaB MocTaBMTH BOIY
to be put on the stove. Ha TUIUTKY.

The teacher allowed us to use YuurTenb AO3BOJIMB HaM KOPHUCTYBAaTHCH
dictionaries. CIIOBHUKAMH.



4. O6‘exTHHH iHOIHITHBHMIE KOMIUIEKC BXHBAETHCH MiCAA Al€ChiB, - 10
BUPAXQ@IOTh CIPUHHATTA 3a AONOMOIrOK OpraHiB UyTTs: to see — Gauumu , to
hear — uyymu , to feel — 6iduysamu , to watch = to observe — cnocmepizamu , to
notice — nomivamu Ta iH. Ilicna uux niecnie iHdiHITHB y 06‘exTHOMY
iHQiHITMBHOMY KOMIUIEKC BXHBaeThes 6e3 yacTku to, abo 3amicrs indidiTusa

B JESKHMX BMITQ[KaX BXHBAE€TbCH JMi€NPUKMETHHK TEHEpIlIHbOrO0 4Yacy
(Participle I).

I‘ve seen them go into the room. 51 6a4uB, 110 BOHY 3allIUIH B KiMHATY.

She saw him writing something. Bona 6auuna, sk (110) BiH 110Ch MHCaB
(mo pobus?).

They noticed him fall while getting Born mnomituny, sk BiH ynas, Konu

off the bus. BHXOJMB 3 aBTOOYCY (110 3po6uB?).
[ felt someone watching me. 51 BiguyB, 1O (AK) XTOCh cIIOCTepirae 3a
MHOIO, ‘

TakuMm ynHOM, 06°eKTHUH IHGIHITHBHMII KOMIEKC 3 AI€TIPUKMETHHKOM
tenepinraeoro wacy (Participle 1) mepexnagaeTocs AiECNOBOM HEXOKOHAHOIO
Bufly (mo pobun?), a 3 iH}IHITMBOM — [i€CIOBOM JOKOHAHOTO BMAY (ILO
3pobus?).

O6‘exTHuit IHOIHITHBHIN KOMIUIEKC 3 OIENPUKMETHAKOM MHHYJIOTO Yacy
(Participle II) nicns giecnosa to have B 3HaueHHi “Mary” BKHBAEThCH 1A
BHpP@XEHHS Iii, sika BHKOHYETHCS HE 0CO0O0M, siKa € IMiAMETOM, a SKUMOCH
IHIMM Cy6‘eKTOM , HaNpUKIa:

My daughter had her hair cut yesterday. Mos fo4ka Buopa nocTpUriIacs.

BukoHyoun BrpasH, Iue pa3 3BEpHITh yBary Ha ocoBNKBOCTI nepexnaiy
peueHb 31 CKIafiHuM fo/iaTkoM ( auB. Tabnmmo 2.1).

Tabmuua 2.1-O6’ exTunii indinituBunii komMmIeke ( ckIaaRHi 101aTOK )

. 3BOpOT JpyropsaHi
nigMer NIPHCYNIOK ( cxnanHuM
JOAATOK) YAEHH peyeHHS
1 2 3 4
They want 2 him /this engineer to test the device
Il
Boun XOUYTh, 106 l BiH /lleil iHxkeHep | BUNpoOyBas | e npunan
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BITPABH

Exercise 1. Make up five sentences from each table paving attention to the

Objective Infinitive Complex.

[ saw him enter the house.
He/She heard her leave the room.
You watched them play the piano.
We noticed you sing.
They the girl approach the river.
| made him learn the poem by heart.
He/She let them do the exercise again.
to
We caused you (o) go home.
You forced me | buy it.
They ; read it aloud.
i
[ want(s) her to become an agronomist.
He/She wanted them to work here.
We like(s) you to speak English.
You should like me to sing this song.
They | would like the boys to stay here.
T 1y e o
1 | expect (s) him | to conle back at
; ! five.
i !
e/She 1 expected them ' 1o help them.
i a




i We me to arrive on
Monday.
You expect you to win the match.
They expected us to answer the letter
| at once.
I considered him to be brave.
He/She believed you to be an honest man. |
We thought ? us ! to be lazy. ;
You knew l them to be about twenty-five.
i They supposed me i to be a good pupil. ;
E ] find(s) it difficult.
| He/She :  found . the film : 10 be easy. i
We % the subject ; to be funay, ‘
You ' the story x to be dull.
They : the flat l to be comfortable. :
i i ; !

Exercise 2. Combine the given nvo senfences into one using the Objective
Infinitive Complex.

Model: Mary opened the window. [ saw it.-—/ saw Mary open the window.

I. Peter took my pen. I saw it. 2. He ran to the river. I saw it. 3. The girl smiled.
I noticed it. 4. The children shouted in the next room. I heard it. 3. She plaved
the violin. My brother heard it. 6. The man tried 10 open the door. We saw it. 7.
They got into a taxi. He saw it. 8. Somebody knocked at the door. We heard it.

9. Kate helped the old woman to carry a heavy bag. I saw it. 10. Somebody tried
to get into the house. They noticed it. 11. The people spoke their native language
very quickly. She heard it. 12. Nick hid something in the drawer. Mother noticed



it. 13. The stranger crossed the street slowly. She saw it. 14. The boy played
with the gun in the yard. The neighbors watched it.

Exercise 3. Change the following complex sentences into simple ones using the
Objective Infinitive Complex.

A. 1. We watched the dockers as they unloaded the ship. 2. They watched me
as | made my bed. 3. Mother saw him as he climbed over the fence. 4.1 watched
them as they played ice hockey. 5. Nobody noticed her as she went away.

B. 1. We expect that he will come back at 7. 2. They expect that their football
team will win the game. 3. She expected that her friend would write her a letter.
4. 1 expect that you will come in time. 5. He expects that his friends will help
him.

C.1.1 think that he is a good engineer. 2. I suppose that he is about forty. 3.1
believe that they are at home now. 4. I know that she is very modest. 5. They
believe that he is honest.

D. 1. My wish is that you should tell me about it. 2. Her parents’ wish is that
she should enter a music school. 3. Our wish is that you should go to the forest
with us. 4. His father's wish is that he should become an engineer. 5. My wish is
that you should stay here.

E. 1. I desire that he should see me off. 2. T desire that she should go
shopping. 3. We desire that he should repair our radio set. 4. 1 desire that he
should stop smoking. 5. I desire that they should return tomorrow.

Exercise 4. Reuad each sentence and write a second sentence from the words
given.
Example. Jill didn't have any money.

(she / want / Ann / lend her some). - She wanted Ann to lend her some.

1. Tom's parents were disappointed when he decided to leave home. (they
/ want ! Tom / stay with them). 2. Please don't tell anyone that I'm leaving my
job. (I / not / want / anyone / know). 3. There's a football match next Saturday
between England and Scotland. (you / want / Scotland / win?). 4. Unfortunately
someone had told Sue that | was going to visit her. (I/ want/ it/ be a surprise).

Exercise 5. Now vou have to read a sentence and then write a second sentence
with the same meaning. Each time begin in the way shown.

Examples: 'Don't touch anything', the man said to me. - The man told nze
not to touch anything . My father said I could use his car. - My father allowed

me to use his car.
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1. 'Don't forget to post the letter', Jack said to me. - Jack reminded 2. She
told me that it would be best if I told the police about the accident. - She adwsed
____- 3. 1'told you that you shouldn't tell him anything,. - 1 wamed .

4. T was surprised that it rained. - I didn't expect 5. 'Would yo you like to
have dinner with me?' Tom said to Ann. - Tom invited . 6. At first I didn't
want to play tennis but John persuaded me. - John persuaded . 7. The
sudden noise caused me to jump. - The sudden noise made 8 f you've
got a car, you are able to travel around more easily. - Havmg acar enables

9. She wouldn't allow me to read the letter. - She wouldn't let

Exerclse 6. Now put the verb in the right form: -ing, to + mf"nmve or
infinitive without to paying attention to the Complev Object.

b,\‘amp/e.' Mr Thomas doesn't allow smoking (smoke) in his office.

1..Mr Thomas doesn't let anyone (smoke) in his office. 2. 1 don't know
Jack but I'd like (meet) him. . 3. Where would you 1ecommend me
(go) for my holndavs" 4. | don't recommend (eat) in that restaurant. The
food's awful. 5. The film was very sad. It made me _ (cry). 6. Jack's parents
have always encouraged him ___ (study) hard. 7. We were kept at the police
station for an hour and then allowed __ (go).

Exercise 7. Answer these questions beginning in the way shown.

Examples: 'Does Tom ever dance? ‘I’ ve never seen him dance (or dancing)
'How do you know | came in late?" { heard you come in late.
1. 'Does Ann ever smoke? ' ' ve never seen . 2. 'How do you know the
man took the money?' Tsaw . 3.'Did Jack lock the door? 'Yes, I heard

4. 'Did the bell ring?" ' I am m not sure. I didn't hear . 5. 'Does Tom ever
swear.( use bad language)? '1' ve never heald . 6. 'How do you know
Ann can play the piano?' '] have heard 7.'Did Bill kick the dog? 'Yes, |
saw . 8.'Did the boy fall into the water”' T didn't see

Exercise 8. In each of these situations you and a friend saw, heard or smelt
something. This is what you said at the time:

I. Look! There's Ann! She's waiting for a bus. 2. Look!
There's Sue! She's playing tennis. 3. Look! There's Tom!
He's having a meal in that restaurant. 4. Listen! That's Bill.
He's playing the guitar. 5. 1 can smell something! The
dinner's burning! 6. Look! There's Dave! He's talking to
Charles.
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Later you tell someone what you saw. heard or smelt.

1. We saw Ann waiting for a bus. 2. We saw , etc.

Exercise 9. Complete these sentences. Use one of the following verbs in the
correct form:

run - explode slam cry sit happen go out collide open tell slip crawl
climb fall bura

1. Can you smell something _ burning ? 2. I saw the accident ____happen.
3. We listened to the old man ___ his story from beginning to end. 4. Listen!
Can you hear a child __ ? 5. Did anybody see the two cars __ ? 6. We
watched the two men across the garden, ~ awindowand __ through
it into the house. 7. Everybody heard the bomb __ . It was a tremendous noise.
8. Oh! I can feel something  up my leg! It must be an insect. 9. | heard
someone the door in the middle of the night. It woke me up. 10. We
couldn't find Tom at first. In the end we found him __ in the garden. 1. The
boy was catching his cat on the sloping roof. They saw him  and _ to
the ground. 12. Oh! There is nobody here! Did you notice anyone 7

Exercise 10. Translate the following sentences into Ukrainian paying attention
to the Complex Object:

1. They think us to know this student. 2. We know metallurgists to have
produced many new alloys. 3. We know copper to contain carbon. 4. We
suppose this problem to be solved by our scientists. 5. We suppose this problem
to have been solved by our scientists successfully. 6. We expect metallurgists to
produce many new kinds of alloys. 7. I don't want the work to be done in a
hurry. 8. Do you want it to be forgotten? 9. They wanted a new house to be built
in this place. 10. Do you want them to be introduced to you? 11. Would you like
them to change their minds? 12. We didn't expect him to agree with them. 13. 1
would like you to see the sights tomorrow. 14. The father wanted his son to
become a doctor. 15. The driver expected the passenger to get off at the next
stop and opened the door. 16. She would like her son to receive a good
education. 17. He doesn't want you to leave without him. 18. I think you didn't
expect the suit to be so cheap. 19. I would like you to spend the summer with us.
20. We didn't expect the weather to change. 21. The boy wanted the train to
begin moving. 22. They didn't want the delegation to stop its visit. 23. [ didnt
expect you to leave so soon. 24. The father didn't want it to happen to his son
again. 25. We didn't expect them to come to Moscow soon. 26. I would like you
to be ready in an hour. 27. We expected the group of scientists to come at the
weekend. 28. Everybody expected the performance to be interesting. 29. Sports
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make young people train muscles and will. 30. We expect the Shengen countries
to direct all their activities to further cooperation. 31. Technologists planned
some samples of semiconductors with improved properties to be obtained on a
new installation. 32. Manufacturers consider lasers to have found wide
application in medicine.

Exercise 11. Translate the following sentences into Ukrainian paying attention
to different verbs used with the Complex Object:

I. He wants you to come to our party meeting next week. 2. [ believe him
to know this subject well. 3. They expect you to be here at half past five. 4. I
knew them to have fulfilled this difficult task in time. 5. I heard her tell about
this discovery. 6. He heard the woman say something to her son. 7. My friend
saw the taxi stop at the door. 8. We want this device to function quite well. 9.
All progressive mankind wants atomic energy to be used in peaceful purposes.
10: In old times people believed the Sun to move round the Earth. 11. We have
learned the air to compose of many gases. 12. I know this instrument to be very
accurate. 13. Everyone knows the strength of current to depend upon the
resistance of the circuit. 14. Bohr considered the atom to consist of a nucleus
with electrons revolving around it. 15. The tests have shown the device to be
very sensitive. 16. A number of scientists believe the Tunguska explosion to be
caused by a meteorite. 17. For the experiment we need several electrical devices
to be connected in series. 18. They suppose their scientific discoveries to be
practically applied in industry nowadays. 19. We know the wave theory of light
to be first proposed by the English physicist Robert Hooke in 1665.

Exercise 12. Translate the following sentences into Ukrainian paying attention
to the Objective Infinitive Complexes.

I. We assume these operations to be performed by a computer. 2. |
believe it to be the only way to do it. 3. We consider all the bodies to consist of
atoms. 4. We expect our football team to win at the next match, too. 5. We know
the practical unit of resistance to be the ohm. 6. I thought our delegation to leave
Moscow yesterday. 7. Tests have shown the receiver to be very sensitive. 8. We
know the frequency to be expressed in kilocycles. 9. [ want you to prepare the
information on this subject. 10. I do not desire you to tell them about it just now.
11. Our chief engineer wanted us to see the new invention. 12. | wish you to
complete your tests as quickly as possible. 13. I saw him give his friend this
book. 14. He watched them carry on this experiment. 15. I felt my cheeks redden
at his rude words. 16. We heard him report the commander about it. 17. We
observed the laboratory assistant to check data thoroughly day by day. 18. We
expected him to carry on a careful study of the process without a new device.
19. The government planned the reconstruction of those plants to take tour
years. 20. We expect this scientist’s work to lead to a new discovery.

28



Exercise 13. Translate the following sentences paying attention to the Complex
Object.

1.1 felt her touch my hand. 2. He took him to be a foreigner. 3. She made
me stand up and give her medicine. 4. He helped me to pack my things. 5. We
know him to be a good actor. 6. He was looking for someone to help him. 7.1
saw him cross the street. 8. I saw him crossing the street. 9. They watched the
doctor working. 10. I like my porridge to have a salty taste. 11. They found him
{o be an intelligent person. 12. She heard him talking gaily in the garden. 13. 1
would like you to help me with the translation. 14. 1 wish the matter to be settled
today. 15. 1 don’t expect them to get back before next Friday. 16. Everyone
believes him to be a promising artist. 17. I understood him to say that he would
help them. 18. [ want you to look through these letters. 19. [ would like you to
change your mind. 20. We didn't expect them to agree with this point of view.
21. 1 would like you to look through the web-sites tomorrow. 22. Mother wanted
her son to become a lawyer and earn much money. 23. The teacher expected the
best student to learn the report by heart for the conference. 24. He would like his
<on to receive the golden medal at the coming championship. 25. She doesn't
want you to come without your daughter. 26. | had my diploma thesis bound
yesterday.

Fxercise 14. Underline the Complex Object in the following sentences.
translate them into. Ukrainian.

| We believe electric current to be a quantity of electrons flowing in the
circuit per second of time. 2. Various methods cause electrons to move from one
atom to another. 3. We know the electrons to flow from the negative terminal o
the battery to the positive one. 4. We know the impurity concentration to be an
important {actor in solid-state technique. 5. We know the electric charges to be
positive and negative. 6. We know a transistor to have two junctions and three
electrodes called an emitter, a collector and a base.7. We know the simpliest
semiconductor device to be a junction diode. 8. We know a junction-solid-state
device having three electrons to be a transistor. 9. We consider current to be
increased by increasing the e.m.f. 10. When the current flows along the
conductor we notice a magnetic field be developed around it. 1'1."'We know the
use of electronics to raise the development level of many branches of
engineering. 12. We know solid-state devices to be made of semiconductor
crystals. 13. We know electronics to be the branch of science and technology
which studies the conduction of electricity through gases or vacuum. 14. The
only force that make electrons move is that of caused by the fields of other
clectrons. 15. We know the electron to be the smailest known invisible unit of
the electric charge. 16. We know different kinds of rays to be emitted by
radioisotopes. 17. Now we know neutrino to have a rest mass of about 30
electron-volts.
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3 CYB’EKTHHH IHOIHITUBHUI KOMILUIEKC
(THE SUBJECTIVE INFINITIVE COMPLEX)

SAxmwo peuyenrs We saw him run to the train (Mu 6avunu, ax ein 6iz do
noi30a), A0 CKJaay sKOro BXOZUTH 00’eKTHHH IHGIHITUBHHE KOMILTEKC,
- MepeTBOpUTH Ha macuBHe - He was seen to run to the train (Bawuny, ax gin Giz
00 noi3oa), TO iHQIHITUB te run BupaxaruMme Mil0, SKY BHKOHYe 0coba,
nosHaueHa 3aiiMeHHuKoM he. Otxe, he i to run yTBOpIOIOTh CHHTAKCHUYHH i
koMnnekc. eH xommiekc Mae Qynxiio cxirajHoro mijMera, ToMy Lo
TNIPUCYIOK PEYEHHS was seen BiAHOCHTHCS He JuIie 10 3aiiMeHHuka he, a mo
BCHOT0 KOMILEKCY he...to run (s 6in 6iz). Uepes Te, 110 [0 CKIAY KOMIUIEKCY
BXOZIMTH iH()iHITHB, @ BECh KOMILUIEKC BUKOHYE POJIb IijmeTa pedenns (subject),
BiH Ha3MBaeThcs cY6’€KTHUM iHQiHiTHBHMM komniekcowm (Subjective
Infinitive Complex), nuBs. Tabnuwo 3.1 .
Ilepworo yacTHHOIO Cy6’€KTHOTO iHQIHITUBHOTO KOMIUIEKCY MoXe 6yTH
3alIMEHHUK 1 IMEHHHUK Y 3aralsHOMY BiAMIHKY.

The boy was seen to run there. bauuny, sk xjuoneus Oir Tyau.

Orxe, cy6’exTHUI IHOIHITUBHUI KOMIJIEKC CKIAAAETHCA 3 JBOX YACTHH.
Ilepwa yacTiHa KOMIIEKCY — IMCHHHK Y 3araibHOMy BiaMminky abo ocoBosuii
3aHMEHHHMK y HA3MBHOMY BIAMIHKY. [lpyra 4acTiHa KoMmiekcy — indiHiTus, mo
BHpaXa€ Air0, Ky BHKOHYye abo sKol 3a3Hae ocoba abo npeameT, MO3HayeHH il
iMEHHNKOM ab0 3aliMEHHHKOM.

s ¢yukuis indiniTua Ha3suBacThCH “cy6 ekmuuti npeduxamug”, ToMy 1O
His, BupaxeHa iHQiHITHBOM, € HIGUTO Opyeum npucydxom IO Cy6’ekTa
(migmera) pedeHHs B JaHii KOHCTPyKIL.

They were heard to discuss the possibility. Uyu, sk BoHH 00roBOpIOBAIY TAKy
' MOXIHBICTb.

B aesxux rpamaTtnkax cnonyueHHs “they + to discuss” pasoMm Ha3MBacTbhCs
“cknamnuii nigmer” (the Complex Subject), ockinbki, 10 CyTi, B peyenHi #neTb-
Csi Ipo Te, 1o OyNIo YYTH HE TiNbKM IX, @ i K BOHH 0GrOBOPIOBANH MOXITHBICTD.

OcobnusicTio cy6’ekTHOrO iHOIHITHBHOrO KOMNneKCy € Te, WO mepima i
Apyra #0ro YacTUHH BiOXpeMJIEHi OZHA Bill OJHOI MPUCYAKOM PEYEHHS.

Hiecnosa i cnOBOCNOMY4YeHHd, WO BXHMBAIOTHCA B AKOCTI MeEpIIOTo
KOMITOHEHTa TaKoro MpucylKa, HeOOXiZHO 3amaM’ATaTH, OCKibKY BOHM JIONO-
MaraloTh po3Mi3HaBaTH KOHCTPYKUIKO B PEYEHHI. IX MOXHA MOXIIMTH Ha NeBHi
TPYMA | PO3TMISHYTH OCOO/IMBOCTI iX BXKHBAHHS | TeEpeKiasly Ha YKpaiHChKY
MOBY.

Citig 3a3Ha4MTH, 1O HACTYNHI Ai€CII0BA BKHBAIOTHCS B AaHIH KOHCTPYK-
nil TiSILKY B nacuenomy cTasi.
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1. Cy6’exThuit iHQiHITHBHAN KOMIUIEKC BXUBACTHCS 3 IIECTOBAMH, [0

O3HAYaI0Th OYMKY (n027A0), NPUNYWeHHS, CROQIBAHNA:

to think JIyMaTd is thought BBaXKalOTh, IO ...
to believe BipHTH is believed JOIYCKa€EThCH, ...
to assume is assumed nepexbayacrTecy, ...
TIPUIYCKATH . AIK) IPHUITYCKaIOTh, ...
to suppose puny 1s supposed (1) mpuny ’
JOIYCKAIOTB, ...
to consider BBaXKaTH is considered BBa)KAETHCH, ...
to expect cnoziBaTucs is expected CTIOAIBAIOTECH, ...
3HaTH .
to know ? is known
BCTaHOBJTIOBATH .
SHAXORHTH K BIIOMO, ...
to find ’ is found
BCTaHOBJIKOBATH

The meeting is expected to begin this

CnoaiBaroTscs, 110 360pH IO4YHYThCS
morning. CBOTOJHI BpaHILi.

I was supposed to meet him. Iepenbavanocs, wo 5 3ycTpiHy Horo.

He was thought to have gone. JyManu, 1o BiH mimos.

2. Cy6’exTruil iHOIHITHBHII KOMIUIEKC BXXUBAETLCA 3 Ji€CTIOBAMH, LI0
O3HAYAIOTh CMEEPONHCEHHA, NOBIOOMIEHHA,

TiIpax0OByBaTH,
BCTAHOBJIIOBATH
MOBIIOMIIATH,
CTBEPIDKYBATH
TOBOPHTH,
TIOBiIOMJISITH,
CTBEPDKYBATH
TIOBLIOMJISTH,
JIOTIOBI IaTH

to estimate is estimated

(4K) CTBEPAXYIOTb, ...

to state is stated

to say is said .
(AK) MOBiOMIIAIOTE,

to report is reported

He is said to write a new novel. KaxyTs, 1o BiH miie HOBHA poMaH.
The delegation is reported to

[oBinoMnsaroTE, W0 Aenerauis npubyna
have arrived in Geneva.

710 Xenesu.

The passport is stated to be valid. = Bcranosneno, o neit macnopr aificHuit.
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3. Cy6’extauit iHOIHITHBHUA KOMILTEKC BXUBAETHCA 3 AI€CIOBAMH, L0 BUpaxa-
10T CHPULIMAHHA 3d OONOMOZ0I0 OP2aHie Yymmis:

10 see 6aunTH is seen 6a4ark..., BUJIHO...
to hear YYTH is heard 49YIOTb..., 4YTH...
to feel B1TYYBATH is felt Bi/MYBaIOT. . .
to notice noMiuati is noticed HIOMiYaloTh. . .
to observe . is observed CIIOCTEPIraioTh. ..
criocTepiraty .
to watch is watched OYEBHIHO. ..
Birds were heard to sing in the Byno 4yTH, K CMiBAIOTh NTAIIKH Y
garden. cany.
He was seen to enter the house. Bauwsn, sk BiH BXOAUB y GyJMHOK.

4. Cy6'exTauit in(iHITHBHUA KOMILIEKC BXMBAETHCA 3 AI€CIOBAMHY, 110
BUPAXAIOTh HAKA3, NPOXAHHA, 0038iN, NPUMYC:

to order HAaKa3yBaTH
to ask, to request TIPOCHTH
to allow, to permit JIO3BOJIATH
to make, to cause, to force MIPUMYIIYBaTH
They were ordered to leave the hall. M Hakasanu sayMmATH 3a1.
He was made to put on his coat. Horo npumycuin ofArHyTH MajbTo.

TMpumimxa. V cy6’exTHOMY iH(iHITHBHOMY KOMIUIEKC iHQiHITHB BXUBAETHCA 3
4acTKOIO to Michs Beix Aiecris.

5. Cy6'exTruit in)iHiTHBHUIA KOMILIEKC BXHBAETECS 3 AEAKHUMH JIIECTOBAMH B
AKTMBHOMY CTaHi:

to seem
3aBaTHCA
to appear
to happen
TPanisTHCs
to chance
to turn out
BHABJIATHCH
to prove
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" He seemed to be thinking about 3.1aBa:10Chk, 110 BiH PO 1LIOCh 1yMac.
something.

" She proved not to listen to him. BusiBiiocs. 1110 BoHa He cayxae Horo.
She didn’t seem to have heard what | 3a1aBa1oCh, 10 BOHA HE MOYY1a, WO s
said. CKa3as.

Her mother had chanced te look into her Maru BunanxoBo 3ar.sHya B ii
room. KIMHaTy.

6. Cy6’exTHUit iIHQIHITUBHHIT KOMILIEKC BKHBACTHCA 3 CAOBOCTIONYYCHHAMM:

to be sure | Oe3nepeuHo, Ge3ymoBHO. |
to be certain HaneBHo '
. . -~ . - 1
to be likely i BIDOT1/IHO, MEBHO, IMOBIPHO |
__tobeunlikely MatoAMOBIPHO
We are not likely to meet often. HaBp#:1 44 Ham 10BeJeThCs HACTO
3VCTpiyarics.
He is certain to be sleeping. BiH. HaneBHo, 3apa3 CNiTh.
We are sure to learn of it. MH, HanesHo. 1i3HAEMOCH PO HE.

3.1 Mepeknan ey6'exTHoro indiniTuBHOrO KOMNIEKCY HAa YKPATHCLKY MOBY

PeucHus 3 Cv0 CKTHHM IHOIHITUBHUM KOMITIEKCOM HA YKPAiHCHKY MOBY
NICPeKIaIaIOThCA  31¢OITbIION0 CKTAAHOMIAPAAHHMH peueHHaMH. [lepexaai
Ci1 MOMMHATH 3 MPUCYIKA. AKHMI B YKPATHCBHKIH MOBI IepETBOPHETHLCH Ha
HEO3Ha4YeHO-0c0008e 800 Oe30cobuBe rooBHe pevchns. llepula  vdacimHg
KOMTLIEKCY (IMEHHHK 260 3aiMEHHUK), K& € MiAMETOM AHCIIHCHKOrO peveHHs,
CTa€ NiAMCTOM MIAPAIHOro J10JATKOBOrO PEYEHHS. a iH(IHITHB MepeKIaiacThes
000800 (hOPMOIO 1IECI0BA, 1O CTAE TIPUCY,IKOM TTAPKTHOTO PEHEHHS:

His father is said to work at this ~ KaxyTs. wo iforo 6arbko npaioe Ha

plant. HbOMY 3aBOAI.

He was supposed to work Tlepexbayanocs. wo Bi Oyae npaioBati
Sunday afternoons and evenings. 110 HEILIAX NICIA NOAYAHA | BeUopaMH,
(Dreiser)

He seemed to be looking for 31aBaiocs. 110 Biv 100Upac c10Ba.

words. (Greene)
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Peyenns 3 Ai€cII0BOM-TIpHCY KoM, IO 03HaYae Hakas, npoxanm, J03BijI,
UpHMYC, a TaKkox. 3 miecnosamu  to consider, to “believe, to think
TIEPEKNIANAOTECA Ha yKpaTHCBKY MOBY TIPOCTHMH HeO3HAaYeHO-0cO6OBIMH abo
6e3ocoboBumu PEUCHHAMH, 8 iHKONH ¥ npocTrMH 0COOOBHMH peveHHIMI:

The pupils were allowed to use YuHsaM nosBonunn (mo3Bomsocs)
dictionaries. KOPHUCTYBATHCS CIOBHHKaMHU.

She is considered to be the best [i BBaxarors (BoHa BB2XAETHCA)
singer. ' HalKpaIoio chiBaukolo.

Peuenns 3 AIECTOBOM-MPHCYIKOM to prove, to turn out nepexnagarorscy
NPOCTHMH 0COGOBMMHE peYeHHIMMU:

He turned out to be a good chess- Bin BusBnBCs xopommm maxicrom.
player.

Peyenns 3 npucymxom, BHPXKEHHM CIIOBOCIIONYYEHHAMY to be likely, to
be sure, to be certain, a 3 GaraTtsox Bunagkax i niecnoBamu to seem, to appear
IEPEKNAAIOTHCA TIPOCTHMH PEYEHHAMH 3 BCTaBHUMH CJIOBAMM:

He is sure to ring you up. Bin, nanepno, 3atenedoHye Bam.

They are likely to be late. Bony, O‘ICBVI/LZIHO, 3aMi3HATHCA.

She seems to have spoken on the Bona, 3xaetnes, FOBOpHIIA Ha IO TeMy
subject before. (Parker) paHine.

BIIPABU

Exercise 1. Make up five sentences Jrom each table using the Subjective
Infinitive Complex.

He is reported to know this language. 1
She are | said to be writing a play.
You was to have finished school.
They | were to have arrived in Kyiv.
to have been teaching for five years,
1 am | expected to arrive in Kyiv tomorrow:.
He is known to be very strong in body.
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She are | believed to be interested in chemistry.
We Was | considered to make a present for her.
They Were | supposed to be a lover of music.

I am | seen to cross the street at that place.
He is heard to play volley-ball.

She are | watched to burst out laughing.

We Was | noticed to unlock the door.

You were to approach the school building,
I seem(s) to understand spoken English.
He  |appeared to have recognized me.

She happened to be cooking dinner.

We proved to know the city very well.
They | chanced to meet them at the exhibition.
I am | sure to come back in time.

He is certain to know French.

We are | likely to lose the match.

You was | unlikely to solve the problem.

They | were to get an excellent mark.

Exercise 2. Transform the sentences using the Subjective Infinitive Complex
instead of the Objective Infinitive Complex.

Model: Isaw her read the letter. —She was seen to read the letter.

1. We heard her sing a folk song. 2. I saw him put his coat on. 3. They heard the
clock strike nine. 4. We saw the rider disappear in the distance. 5. We saw the
plane take off. 6. They expected him to return in a fortnight. 7. We know her to
be a talented actress. 8. Everybody supposed him to be a foreigner. 9.
Everybody considered him to be a great man. 10. I expect the telegram to be
sent tomorrow.

Exercise 3. Transform the following complex sentences into simple ones using
the Subjective Infinitive Complex.

A. 1. It is said that they work in the field. 2. It is believed that she knows
several foreign languages. 3. It is said that the film is very interesting. 4. It is
supposed that he understands Spanish. 5. It is reported that the cosmonauts feel
well.

B. 1. It is said that Kate is preparing for her entrance examinations. 2. It is
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said that they are working in the field. 3. It is reported that the painter is working
at a new picture. 4. It is believed that he is writing a historical novel.

C. 1. Tt is reported that the delegation arrived in Paris on the 10th of
September. 2. It is reported that the spaceship has reached the moon. 3. It is
believed that this house was built in the 18th century. 4. It is said that she has
been teaching mathematics for thirty years.

D. 1. It is expected that he will arrive on Monday. 2. It is supposed that the
book will be published next year. 3. It was expected that the film would be
shown in May. 4. It was supposed that the weather would be fine in April. 5. It
is expected that he will buy a car.

E. 1. It seems that they live in the same house. 2. It seems that he is
composing a new symphony. 3. It seems that he knew it long ago. 4. It seems
that she is listening. 5. It proved that you were right. 6. It turned out that the text
was very difficult.

Exercise 4. Transform the sentences according to the models.

Mode I s: 1t is (im) probable that he will come tomorrow.—
He is (un) likely to come tomorrow.
He will certainly come.— He is sure to come.
He will probably come.— He is likely to come.

A. 1. Itis probable that it will rain before evening. 2. It is improbable that she
will forget her promise. 3. It is probable that the winter will be very cold this
year. 4. It is probable that they will be late. 5. It is improbable that this medicine
will help him.

B. 1. They will certainly like this film. 2. The doctor will certainly do his
best. 3. He will probably forget the address. 4. She will probably catch cold. 5.
He will certainly do his duty. 6. The weather will probably change.

Exercise 5. Translate the following sentences paying attention to the Complex
Subject.

1. Zhukovsky is known to have been a wonderful lecturer and teacher. 2.
The expedition is said to have collected very interesting matetial concerning
natural resources of that region. 3. A big group of constructors was reported to
have been sent to that area. 4. A new town is supposed to be built in this area. 5.
They are believed to have arrived at the place of destination. 6. Cold weather
was not expected to set in so soon. 7. The average temperature in May this year
is reported to have been considerably lower than last year. 8. Black colour is
known to absorb light rays most intensively. 9. He is unlikely to be forced to do
something if he doesn't want to. 10.This invention is believed to help save up
much metal. 11.When translating the text at the exam the students were allowed
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to.use a dictionary.

Exercise 6. Translate the following sentences into Ukrainian paying attention to
the Subjective Infinitive Complex.

1. The river is supposed to flow in this direction. 2. His childhood is said
to have been very difficult. 3. You are expected to take these things for granted.
4. He didn't seem to notice me. 5. The circumstances seem to have become
strange indeed. 6. He is said to have owned a very good library. 7. He was told
to find out a few more things about the whole business. 8. The man doesn't seem
to recognize you. 9. She seems to have done it especially for you. 10. You're not
supposed to mark other people's books. 11. The Victoria Falls are said to be very
beautiful. 12. She was said to have the first edition of the book. 13. He was
expected to buy a cheap edition of the dictionary. 14. This doesn't seem to be the
right key. 15. The man seems to be a stranger here. 16. You're supposed to be
grateful when somebody does something of the kind for you. 17. She seems to
be used to the thought that they'll have to move to another flat. 18. For some
reason or other she does not seem to be grateful at all. 19. It seems to be an
interesting comparison. 20. She is believed to have been a librarian in those
days.

Exercise 7. Find the Subjective Infinitive Complex in the following sentences
and translate them into Ukrainian.

1. He is thought to have been a very good singer. 2. They are expected to
send a reply today. 3. The man was told to move his car. 4. They are said to have
moved to a new flat. 5. Who is supposed to sign the letter? 6. The doctor is
supposed to have prescribed you something. 7. This process is sure to make a
new kind of plastic. 8. The results of the experiment are believed to be very
good. 9. The new instrument is expected to help scientists solve many important
problems. 10. The members of the committee are understood to have come to an
agreement. 11. He was known to glve more attention to his spelling. 12. He is
said to have offered them his services. 13. In the 19th century the dark areas on
Mars were thought to be seas. 14. We were supposed to spend the day on board
the ship. 15. The seamen were not supposed to go ashore that day. 16. The
expedition is said to have made a very important discovery. 17. They were
expected to cover 300 miles that day. 18. He is understood to be curious about
these things. 19. She is known to have been interested in the subject. 20. They
were heard to agree to do it. 21. The ship is expected to be here on Tuesday. 22.
They are supposed to have followed him. 23. People are supposed to be able to
ski there all the year round. 24. Steve was assumed to be very good at this sort
of thing. 25. They were believed to have known the secret at that time. 26, He
was expected to hunt for some challenging job. 27. She was supposed to
arrange her friend’s arrival by letter. 28. He is considered to have made the right

38



choice. 29. Helen is thought to apply for a job as a typist.
Exercise 8. In this exercise you have to read a sentence and then write another
sentence with the same meaning using the Subjective Infinitive Complex.

Example: 1t is believed that the wanted man is living in- New York.
The wanted man is believed to be living in New York.

1. Tt is said that many people are homeless after the floods. Many people are said
. 2.1t is known that the Prime Minister-is in favour of the new law. The
Prime Minister . 3. It is expected that the government will lose the election.
The government ____. 4. It is thought that the prisoner escaped by climbing
over the wall. The prisoner . 5. It is believed that the thieves got in through
the kitchen window. The thieves ____. 6. It is alleged that he drove through the
town at 90 miles an hour. He ____. 7. It is reported that two people were
seriously injured in the accident. Two people . 8. It is said that three men
were arrested after the explosion. Three men .

Excrcise 9. There are a lot of stories about Arthur but nobody knows whether
they are true. Make sentences with supposed to.

Example: People say that Arthur eats snails. Arthur is supposed to eat snails.

1. People say that Arthur is very rich. Arthur . 2. People say that he has 22
children. He . 3. People say that he sleeps on a bed of nails. He .4,
People say that he won a lot of money gambling. He . 5. People say that

he writes poetry. He .

Exercise 10. Now you have to use supposed to with its other meaning. In each
example what happens is not what is supposed to happen. Use supposed to or
not supposed to with one of these verbs: etean come be win smoke phone
study take cycle.

Examples: Tom, you're smoking! But you know you are not supposed to smoke
in this room.

Why are the windows still dirty? You were supposed to clean them.

1. What are the children doing at home? They at school. 2. He in the
evenings but he always goes out. 3. Don't put sugar in your tea. You know you
sugar. 4. Oh dear! I Ann but I completely forgot. 5. They arrived

very early, at 2.00. They until 3.30. 6. She _____the grant but her potential
rival left her behind. 7. Most days John to work but it is raining today and
he is taking his car.
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Exercise 11. This time you have to make sentences with seem and appear using
the Subjective Infinitive Complex.

Exampies: 1s he waiting for someone? He appears fo be waiting for someone.
Has she lost weight? She seems to have lost weight,

1. Is Tom worried about something?. He seems . 2. Does Ann like Jack?
She appears . 3. Is that man looking for something?He appears 4.
Has that car broken down? It seems - 5. Have they gone out? They appear

Exercise 12. Read and translate the following sentences into Ukrainian. Pay
attention to the Subjective Infinitive Complex.

1. Light is proved to travel in straight lines. 2. Light intensity proves to be
measurable. 3. The speed of light in free space is proved to be a measured
constant. 4. This property seems to refer to a restricted number of materials. 5.
The property appears to have been mentioned frequently in the past. 6. They are
likely to be familiar with this phenomenon. 7. The approach is assumed to
provide an appropriate solution to the problem.

Exercise 13. Make an assumption using the verbs given in brackets.
Mo d el : The value increases. (assume) - The value is assumed to increase.

1. These values are in good agreement with the experimental ones. (consider)

-2. This density changes with temperature. (know) 3. The magnitude provides

slow shift in energy. (be likely) 4. The product contains two components.

(assume) 5. The distance is shown indirectly. (expect) 6. The altitude is uniform

during this period of time. (seem) 7. The path is reduced twice. (appear) 8. The
value is derived from the above equation. (suppose).

Exercise 14. Answer the following questions. Make a generally accepted
Judgement using the verbs given in brackets.

Mo del: Does this value change? (expect) - It is expected to change.

" '1. Does this metal become glowing at 300°C? (expect) 2. Is the luminous
intensity of a firefly measurable? (know) 3. Does platinum become glowing at
_this temperature? (assume) 4. Does this-substance emit visible light? (see) 5. Is
+ light from a fluorescent lamp incandescent? (doubt) 6. Are the two surfaces at
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equal distance from the point source?-(find).

Exercise 15. Translate the following sentences into English usmg the Subjective
Inf nitive Complex.

1. BizoMo, 1o 1i pe4oBHHM MalOTh OfHI i Ti ) cami BractuBocTi. 2. Bimomo,
wo Ui BmacTuBocTi Ayxe nobpe BusueHo. 3. lli mani, HaneBHo, Gynu ayxe
npubnushi. 4. Hanesro, yeii mpunan npaiosas Ge3 nonoMok. 5. [Tpumyckaers-
cs, w0 ueH Onok Oyne BUKOpHCTaHMHE B HAalmOMy ekcnepumeHti. 6. Crano
BIZIOMO, IO BOHH BX€ KOPHUCTYBAIUCH CXOXKHM npuiagoM. 7. [Ipunyckaiors, wo
BOHH 3apa3 NpalloioTh Hafl cKiaaHowo npobnemoro. 8. INepenbauanocs, o Bin
Gyne npalioBaTH MO HEAUISX MIiCHIS MONY/HS 1 BEHOPaMH.

Exercise 16. Translate the following sentences into Ukrainian. Mind that the
verb to prove in the Active Voice is translated by sunenaemuca, in the Passive
Voice it is translated by doseodeHo.

1. They proved to have provided all for the experiment. 2. The technique of
the investigation proved to be a success. 3. Lasers proved to be of great help in
medicine and industry. 4. An ordinary light was proved to consist of waves all
out of phase with each other. 5. All the waves in a laser beam were proved to
have the same wavelength. 6. A laser beam proved to have a very definite
colour. 7. The laser beam proved to be intermittent (xuckpeTHHUI1).

Exercise 17. Translate the following sentences into Ukrainian paying attention
to the Complex Subject.

1. These devices are found to be in many respects more reliable than vacuum
tubes. 2. Solid-state devices are observed to operate well under the conditions of
definite temperature range. 3. A junction solid-state device having three
electrodes is known to be a transistor. 4. Under these conditions the diode is said
to be space charge limited. 5. The experiment was considered to be very
dangerous. 6. This law is generally taken to apply to all gases. 7. Light waves
are now believed to be due to the motions of the electrons within the atoms. 8.
This method happens to give satisfactory results, 9. Many sources of x-rays are
supposed to exist in the universe. 10. A non-ionised clean air is considered to be
a good insulator. 11. Electrons are thought to be in different groups around
nucleus. 12. A lighted fluorescent light is unlikely to be too hot to the touch. 13.
The valve is said to be “cut-off’. 14. The useful range of values of anode
potential for linear amplification is seen to be limited. 15. It is desirable in most
applications of the diode that no current should flow under this condition and
this is found to be true for anode voltages up to a certain value. 16. The atom is
considered to consist of a positively charged nucleus and a number of negatively
charged electrons revolving around the nucleus in circular orbits. 17. A high-
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frequency current is known to radiate electromagnetic energy. 18. The
amplifying effect in a vacuum tube is known to be based on the control of an
electron flow in a vacuum. 19. The conductivity is found to increase very
strongly with increasing temperature. 20. Copper is claimed to have relatively
large conductive value.

Exercise 18. Find infinitive complexes in the following sentences and state their
Junctions. Translate the sentences.

1. Then he seemed to hear a voice. (Gordon) 2. I saw her look at him. (Dickens)
3. What do you want me to do? (Heym) 4. Jude watched her disappear in the
direction of the hotel. (Hardy) 5. She made her brother talk of himself. (Wilde)
6. I never expected you to ask him at all. (Shaw) 7. My father doesn’t want us to
know each other. (Galsworthy) 8. e seemed to be looking for words. (Greene)
9. Her face seemed to have become much more youthful. (Gaskell) 10. We saw
him enter the station. (Gaskell) 11. Mr. Rochester is not likely to return soon.
(Bronte) 12. She seemed not to listen to him. (Wilde) 13. Clyde felt himself
tremble. (Dreiser) 14. 1 don’t like to hear you speak so of Harry. (Gaskell) 15.
You don’t seem to understand how hard it is. (Tressel)

Exercise 19. Translate into English using infinitive complexes.

A. 1. Mu bauunm, sk BOHA Iepexomuia Bynuio. 2. S moMitus, mWo BoHa
posropHyna KHUKKY. 3. Yuni Gauunu, K npusemiuscs fitak. 4. 51 gyna, s
BOHH CIIiBAJIH WO THCHIO. 5. MU MOMITHNH, HIO BiH BCTAB i BUILIOB 3 KIMHATH.
6. Bei 4ynu, sk T# ckasa ue. 7. Bonu Gauunu, o 5 6ir nomomy. 8. Martu
HO9yJia, IO AUTHHA 3allaKana.

B. 1. 4 xouy, mo6 Bu 3po6unu ue cporoani. 2. Meui xorinocs 6, o6 Bu
npuiuLyg Ha 360pu. 3. Moro 6ateko xoue, mo6 Bin cras nikapem. 4. Mei ne
01106a€Thes, KoY BiH TOBOPHTH Tak MOBLIBHO. 5. S Xx04y, 1106 T# 3a1uumses
TyT. 6. 51 He xody, 106 BY MUK CHOrOAHI B KiHO.

C. 1. Mu cnopisanucs, mo BiH npuine y cepeny. 2. 5 He mymas, 1o T
saniswuwics. 3. Bu sBaxaere ii 106pum opramizatopom? 4. Jlikapi
CMOAIBAIOTBCS, 1O BiH CKOPO BUAYXa€. 5. BueHi BBakatoTs, o 1e MicTo Gymo
3acHosave B XII cromitri. 6. Mu croaiBaemocs, o Hama BoneHGonLHa
KOMaH/la BUrpae Mard. :

D. 1. Yuntens 3smycus Hac BuB4MTH Bipiu Hanam'ats. 2. [llo npumycuio Bac
iTH Tya” B TaKy norady noroxy? 3. Mu npuMycumo ioro npubpat KimHaty. 4.
Hot 3mycuB Mene 3anuuuThCs TYT. 5. 51 He 3Myunyio Bac poGuTy ue. 6. Bix He
3MyLIye IX [PALIOBATH HAJl POEKTOM Ha 11boMy THxHi. 7. CuTyallis npuMycuna
MEHE HeraitHo NPUIHATH pillleHHs.

E. 1. KaxyTs, mo Bin 3apa3 sxuse B Kuesi. 2. KaxyTs, o Bint %uB y Kuesi.
3. TloBinomsiiOTh, IO MOJABCHKA Aeseranis npubyna o Kuesa. 4. BeaxatoTs,
1o us hoptens Gyna 36ynosana B X cT. 5. BeaxaroTs, 1110 BiH Ayke ocBiueHa
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mozuHa. 6. KaxyTs, 1o BiH Halikpaluuii ciopTcMeH B yHiBepeuterti. 7. Binomo,
1110 BOHa BUBYAJiA KiJibKa iHO3EMHHX MOB.

F. 1. Byno uytH, sk HaGmmxasca moisn. 2. Koxnoro pauxy ii Gauum B
kpamuuni. 3. Yynu, 1K BoHa cmiBana B cycimHii ximuari. 4. Hikonun He Gaunny,
mo6 Bix cepauBes. 5. Byno BUAHO, K BUCOKO B Hebl JIeTiB JiTakK.

G. 1. BoHa, 31aeThed, 3Ha€ GpaHiy3bKy MOBY. 2. 31a€Thed, BiH OJIEPXKaB Ball
aucT. 3. 3maBanocs, LHO BOHM He ciiyxawoTs foro. 4. Cranocs Tak, W0 MU
syctpimucs y [Tontasi. 5. Bin BusiBuBCS 31i6HMM MareMarukoM. 6. OYeBN/IHO, BH
3abyIi Ipo Le.

H. 1. Bin, HaneBHo, npuiie choroxHi paeyepi. 2. BOHH, OUEBHIHO, 3HAIOTH PO
ue. 3. Happsn, mwo6 Bona micrana mo kHkky. 4. et ¢inbM, GescymmisHo,
criono6aerses BaM. 5. Mu, MaByTs, He mineMo Tyau. 6. BiH, oueBH/IHO, 3aIi3HATECA.

4 JIENPUKMETHHK
(THE PARTICIPLE)

JlienpukmeTHUK — ue HeocoGoBa dopMa fiecnosa, siKka Ma€ BIACTABOCTI
mieciosa, NpuKMeTHuka a6o mnpucniBHuka. B aHrmidicekii MoBi € aBa
nienpukMeThuka: Present Participle (aienpuxMeTsux TenepiumHboro Hacy) abo
Participle I i Past Participle (aienpuxMersuk MuHynoro 4acy) abo Participle I1.

JlienpuKMETHHK B aHIJIHCEKIHA MOBI Mae (bopmy TterepimHboro uacy (Present
Participle), munynoro uacy (Past Participle) i nepdextay dopmy (Perfect
Participle), a Takox GOpMI aKTHBHOTO i IACHBHOI'O CTaHy (AMB. Tabnuuro 4.1).

Tabnuug 4.1 ~@opMu XieNPUKMETHHKIB Ta iX mepexaan

—

Tovia Cran_
Py Active Passive
onumysanuti (To610
AKOTO OITUTYIOTh)
) . onumyea-
3anumyiouui |, . bysuiu y
. .~ being Hum (TobTO XOMH
Participle 1 asking —_—
~ asked floro onuTyBaNM)
3anumyoyu
N\ Oyswu onumanum
(tob6to kxomm Horo
OITHTAJN)
asked — onumanuii
Participle I1 - (when) asked .. komu ozo0
onumany ;
having asked — ' having been asked - Oyswu
Perfect Participle | sanumasuiu sanumanum (TOOTO 'KOIM HOro
3aMUTAIH)
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4.1 Bxusanns JicnpuKMeTHUKIB

Present Participle Active

Present Participle Active Bupaxae Ziio, ofHOYaCHy 3 [i€l0, BHPaXEHOK
JiECTOBOM-TIPUCYAKOM. SIKIO NMPHCYNOK CTOITH B TEMEpiMIHKLOMY 9aci, TO mis,
mo BupaxeHa Present Participle, BigHocuTecs mo TENEePiUIHbOrO; AKIIO
TIpHCYNIOK CTOITb B MHHYJOMY d4aci, TO Hif, BHpaxeHa Present Pamcxple
BIIHOCHTBCS 110 MHHYJIOT0; SKINO NPHCYIOK CTOITH B Mait6yTHROMY 4aci, To xis,
BHpaxeHa Present Participle, BinHocuTsCs 10 Maii6yTHEOTO:

Knowing the English language well, 3naroun f06pe aHrIHCEKY
he can translate newspaper articles MOBY, BiH MOJXe HepeKnaaTH
without a dictionary. raseTHi cTarti 6e3 cloBHuKA.

Knowing the English language well, 3natoun n06pe aHrmiiceKy
he was able to translate newspaper MOBY, BiH MIr HepeKiIafaTy
articles without a dictionary. ra3eTHi cTaTTi 6e3 CIOBHHKA.

Knowing the English language well, 3naroyu noGpe anrmiceky
he will be able to translate newspaper MOBY, BiH 3MOXe NepeKNafaTh
articles without a dictionary. raserHi cTarri 6e3 CoBHHKA.

Present Participle Moxe Takox BupaxaTu Aifo, sKa 36iracTbcs 3 MOMEHTOM
MOBJNIEHHS, HE3AIEXKHO Bill TOTO, B AKOMY Yaci Ai€CIOBO-IPHCYIOK.

Present Participle Active BxuBaetscs B dynxuii o3sHavenss. B wuiit byHkuil
Present Participle sxuBaerscs:
1. epen iMeHHMKOM:

They looked at the flying plane. Bonw nuBHNIHCE Ha NiTaK, SKHT NTCTIB.

2. ITicns iMeHHUKa:

The girl answering the question JiBunHa, gKa nae BigNOBiAL Ha
knows English well. nuTasys, J06pe 3Hae aHMiHCEKY
MOBY.

Present Participle Active BxuBactses B dynkuii o6ctasuun. B wiit bynruii
Present Partlmple BXKHBAETHCH:

1.B menpnmemuxosnx 3BOPOTAX A7 BHpaXKeHHA o6cTaBunM yacy. Taki
3BOPOTH BIANOBIiNAKOTh MIAPAIHEM PEe4YeHHSIM yacy. B UBOMY BMMAjKy mepex
Ai€NPHUKMETHHKOM 3BHYaHHO CTOTH crionyunuk while a6o when:
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When going home (=When I was Inysu nogomy (=Konu s iwos
going home) I met my brother. ZIOZOMY), A 3ycTpiB Opara.

2. B inGl'IpHKMeTHHKOBHX 3BOPOTax i BHPAXCHHA oOCTaBUHH IpUYUHU:

Knowing English well (=as he knew 3narouu 100pe aHNIHCEKY MOBY
English well) he translated the article ~ (=Tak sk Bin 3HaB anrnificbky MOBy),
without a dictionary. BiH IepeK/aB CTaTTIo 6e3 CIIOBHHKA.

3. B mienpuKMeTHHKOBHMX 3BOPOTax A1 BUpaXkeHHs o6cTaBUHM criocoby Ail:

He sat in the armchair reading a Bin cuzis B kpicui, yATa0uu
newspaper. razery. (Bin cuziB B kpicii i yurtas
rasery).

®Mopma Present Participle Active B crionyueHHi 3 JONOMiXHUM 1i€CTIOBOM
to be BXuBacThCA I yTBOpeHHd 4YaciB rpynu Continuous. B nsoMy Bunaaxy
Present Participle cknmagae exune nine 3 jiecnoBoM to be i mepeknazaeTses
TenepimHiM, MEHYTHM a60 MaifOyTHIM YacoM:

[ am reading. S yuraso.
[ was reading. Sl guraB.
I shall be reading. A 6yny yuratn.

Present Participle Passive

Present Participle Passive BxuBaerscs B QyHKIIl O3HayeHHA B
Ni€APUKMETHMKOBMX 3BOPOTaX, sKi BiAIOBIJAIOTH O3HAYANLHUM [MiIpSAHAM
pedYeHHAM 3 MI€CNOBOM B MacHeHoMy craHi. B miit ¢ynkuii Present Participle
BXUBACTLCA JUI BHpaXeHHs 1ii, sxa BiAOyBa€ThCA B TerepiltHid MOMeEHT
(MOMEHT MOBJIEHHS):

Yesterday the professor told us Buopa npodecop posxasysas Ham
about the experiments now being Opo AOCHiIKEHHS, AKi MPOBOJATD-
carried on in his laboratory (=which cs 3apas3 B foro nabopartopii.
are now being carried on in his
laboratory).

Present Participle Passive BxuBaetbcs B (¢yHkuil o06cTaBHHH B
JIEMPHKMETHUKOBUX 3BOPOTAX JUIsl BUPAXEHHs MpH4uHH i uacy. Taxi 380poTH
BiAMOBIAAIOTH NiJIPAAHMM PEYEHHAM MPUIHHH i 4acy 3 AI€CTOBOM B IACHBHOMY
CTaHi:
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Being asked to take part in this Kosu iioro nonpocuin s3stu

expedition, he agreed at once. y4acTh B Uil ekneanuii, BiH oxpasy
ROTOJHBCH.
Being interested in this problem Bin npueanascs 10 Hamof
he joined our expedition. eKCTIeuLil, TOMy 10 LiKaBHBCH

1i€exo npobiaemoro.

Past Participle
Past Participle BxxuBaeTscs B GyHKLIT 0O3HA4EHHS:
1. Tlepen iMeHHHKOM:
A broken cup was lying on the table. Po30uTa yamka nexana Ha cToxi.

2. TTicns iMEHHMKA B JIENPUKMETHUKOBHX 3BOPOTAX, SKi BiANOBIZAIOTH
O3HAYAJILHUM NI APSIHMM PEYCHHSM 3 JIECIOBOM B TACHBHOMY CTaHi:

Our firm is interested in the Haina dbipma LIKaBUTHCA
automobiles produced by this aBTOMOGINAMH, siKi BHIYCKAIOThLCS
plant. LIUM 3aBOJIOM.

Past Participle BxwuBaetbcs B GyHxuii 06cTaBHHY.

Well designed the device will Sxmo npuaajx no6pe crpoexToBaHHi,
function properly. BiH Gyge npauroBaTH BigTOBiAHHM
YHHOM.

Perfect Participle Active

Perfect Participle Active Bxusaethcs B dyukuii obcrabunu i BHpaxac
Zifo, 10 Tiepetye Mii, Aka BHpaXeHa Ai€CI0BOM-TIPHCYKOM.

Perfect Participle Active BXMBacTBCH B Hi€NPHKMETHHKOBHX 3BOpOTAxX
Ans  BHpaxeHHs ofcrasunH npuumHu. Taxi 3BopotM  BimnoBizaroTs
06CTaBMHHMM IMiAPANHAM PEYEHHAM NPHYAHH 3 Ji€CTOBOM B hopmi Perfect:

Having fulfilled the terms of the M# BiIMOBHITHCH BU3HATH
contract we refused to admit the npeTensito GpipMu, ToMy o
claim of the firm. MH BHKOHAJH BCi YMOBH.
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Perfect Participle Active BxuBaeThcst TakoX B QyHKIIT o6cTaBuHH Hacy,
koM HeoOXigHO IiAKpeCHuTH, IO Aif, BHPAXKEHa MIENPUKMETHHKOM,
. mepenye Ail Zi€cn0Ba-NPUCYAKA:

Having collected all the material 3i6paBuu Bech Martepian
(=After he had collected all the material), = (=Ilicnia Toro ax Bin 3i6pas

- he was able to write a full report on the BECh Matepial), BiH 3Mir
- work of the commission. HAITHCATH NIOBHUI 3BIT IO

poGoTy KoMicil.

Perfect Participle Passive

Perfect Participle Passive BxuBaerscs B hyHKIii 06CTaBMHM NMPHYMHHU i
yacy i BUpaxae Ao, s1xa epeaye Ail, BUpaXeHilt 1i€CI0BOM-NIPUCY AKOM:

Having been asked the students - [licna Toro sk cryaentd Oy

continued with their work in the lab. onuTaHi (micns TOro AK CTYACHTIB
ONHUTalH), BOHHU TPOJOBXKYBAIH
cBoto poboTy B nabopatopii.

TakiM YMHOM, JIENPUKMETHHK BUKOHYE TillbKH IBi QYHKUIl B pedeHni —

O3HavyeHHs Ta obcTaBHHM (IUB. Tabnuuo 4.2).
BIIPABU

Exercise 1. Form Participle I (Indefinite, Active, Passive) from the following
verbs and translate them into Ukrainian:

to build, to grow, to think, to determine, to move, to obtain, to produce, to
get, to develop, to return, to make.

Exercise 2. Form Participle Il from the following verbs and translate them into
Ukrainian:

to bind, to send, to add, to achieve, to develop, to decide, to leave, to equip,
to write, to do, to maintain.

Exercise 3. Translate the following word-combinations into Ukrainian:

A. the student attending all the lectures; the plan containing many details;
the workers building a new house; the engineer using a new method; the
engineer carrying out the research.
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B.using the new methods; constructing new machines; using the new
equipment; refusing to give an explanation ; developing new technology.

C.having calculated the distance; having introduced new methods of work;
having installed new equipment; having obtained the necessary information;
having passed all examinations.

D.the achieved results; all developed countries; the information obtained
recently; help offered by the teacher; the research done in the laboratory.

Exercise 4. Translate the folléwing word-combinations into English.

CTymeHr, IO BMBYa€ aHIMIHCBKY; METOMHM, WO MOKPAUiylOTh
HOCHifHMIBKY pOBOTY, CTyAeHT, IO CKNajac eK3aMeH;  iHXeHep, Lo
BUKOPHCTOBYE HOBITHI JOCATHEHHS; CTYJAEHT, ONMTAHMH BHKIaJadeM; JIUCTH,
3HaliZieRi B CTOM; FOJMHHKK, 3pobnenuit B SAnoHil; MaluuHa, CKOHCTpY#oBaHa
MOJIOMMM iHXeHepoM; o6NajHaHHs, BCTAHOBIeHe B Jaboparopii; BUBYAIOUH
iHO3eMHY MOBY; YMTAIOYH KHHIY; BifBIAYIOYH JNEKIii; MPOYMTAaBIIM LiKaBy
KHIDKKY, BCTAHOBJIOIOYM HOBEe OGNaiHAHHA; OTPUMABIIM HOBY iH(opMauiio;
3aKpHBLIA ABEpi; 3aKiHYMBIIH IHCTUTYT.

Exercise 5. Translate the sentences into Ukrainian paying attention to
Participle I and Participle II and their functions in the sentence.

1. All the engineers working at the Ministry of Foreign Trade must know
foreign languages. 2. You must learn all the words given on page 125.
3. Travelling about Siberia, he saw a lot of newly-built towns. 4. When speaking
at the meeting yesterday, I forgot this fact. 5. The question discussed at the
meeting was very important. 6. The boy sometimes went to sleep while
watching TV. 7. Not knowing his address, I couldn't visit him. 8. He liked to sit
on the sofa smoking a cigarette and watching TV.

Exercise 6. Express the idea contained in the clause by the Participle complex.

1. Students who read a lot in English know the language better than those
who don't read at all. 2. While I was reading the book you gave me yesterday, I
found a Jot of new words. 3. I live in a house which was built more than a
hundred years ago. 4. Since 1 didn't know my friend's new address, I could
hardly hope to find him. 5. In this shop you can buy things which are made in
different regions of Ukraine. 6. Once when I was walking in the wood, I found a
flower which I had never seen before. 7. I always read books which describe the
lives of great people with interest. 8. What's the name of the teacher who's
examining Group three? 9. When we discussed this book, we found out a lot of
controversial things. 10. When he was asked the same question, he didn't know
what to say either. 11. As I was very busy, I couldn't help them.
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Exercise 7. Make up five sentences from each table.

I the woman reading a newspaper.
He/She approached the man sitting on-the bench.
We came up o the boys playing basket-ball.
pointed to . o
You called the glr'ls w_orlfmg in the garden.
They the children digging potatoes.
The man sitting in the corner is my best friend.
The woman|standing at the window lives in our house.
The boy making the report is a good swimmer.
The gitl approaching us works at this plant.
The pupil  |crossing the street dances very well.
[ sat smiling,
He/She stood reading a newspaper.
|We ‘approached me singing.
You went away trembling.
They read the letter listening to the song.
Entering the room I apologized to her.
Opening the door he/she decided to tell her the truth. Q
Seeing her we greeted her. l
Coming home you recognized her at once. 1
Hearing her voice they found nobody there. }
When [reading the story |1 heard a knock at the door.
While |writing a letter he/she
playing chess we used a dictionary.
preparing the report {you fell asleep.
watching television |they forgot about it.
translating the text remembered you.

read the book I
written the letter he/she
cleaned the room  |we
done it you
finished it they

.decided to take a short rest.
swent shopping.

switched on the TV set.
jwent to the post-office.
iwent for a walk.

Having
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I was reading a book printed in our town.
He/She |bought the newspaper |published last month.
We looked for an article received this morning.
You |took ‘ the magazine |written by Professor Brown.
brought the letter intended for'the conference.
They |used the paper
The agreement [concluded by them serves the cause of peace.
The treaty signed last year was soon broken.
The document |made there is useful for both sides.
The contract has been carried out.
was approved by our people.

Exercise 8. Transform the following sentences using participle phrases instead
of the subordinate clauses.

A. Mod el: The boys who live in this house formed a football team.— The
boys living in this house formed a football team.

1. Most of the people who work at our factory have received comfortable flats in
new houses. 2. Many pupils who learn English are members of our English club.
3. The man who sells newspapers showed me the way to the post-office. 4. The
students who live on the left bank of the river cross this bridge twice a day.

5. The woman who teaches English at our school studied in Kyiv.

B. Model: The girls who are watering flowers are my friends.— The girls
watering flowers are my friends.

1. The man who is making the report is our history teacher. 2. The workers who
are repairing the road go home by bus. 3. The girl who is reciting the poem is
our teacher's daughter. 4. The boys who are playing hockey live in our house.
5. The men who are working in this field of electronics go to the exhibition.

C. Mod e l: When we arrived in London, we went sightseeing the city.—
Arriving in London, we went sightseeing the city.

1. When she heard her name, she turned round. 2. When we saw our teacher, we
stopped and waited for her. 3. When he came home, he switched on the TV set.
4. As 1 entered the hall, I saw my friends dancing round the fir-tree. 5. As I went
out of the shop, I met my schoolmate.
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D. Model: When I read this story, | came across many new words.— When
reading this story, I came across many new words.

1. When the pupils discussed this novel, they expressed their thoughts in
good literary language. 2. When Jane cooked dinner, she forgot to salt it. 3.
When Paul studied at the University, he published several scientific articles. 4.
While I was waiting for you, I read this magazine.

E. Model: When she finished her work, she went home.—
Having finished her work, she went home.

1. After we had passed our examinations we went to a summer camp. 2.
As I had lost my key, I couldn't get in. 3. When Nick had a dictionary, he did not
have to go to the reading-hall every day. 4. As we had booked tickets
beforehand, we went to the theatre half an hour before the performance began.
5. After they received the telegram, they packed and left for Glasgow.

F.Model: Welive in the city which was founded 1.500 years ago.— We live
in the city founded 1.500 years ago.

1. We live in a house which was built last year. 2. She received a telegram
‘which was sent yesterday. 3. I've got a TV set which was made in Lviv. 4. The
decisions which were adopted at the conference are supported by many
scientists. 5. The machines which are made at our plant are exported to many
countries of the world.

Exercise 9. Replace one of the homogeneous predicates by Participle I.

Mo del: The girls walked home and sang.—The girls walked home singing.

She looked at me and smiled. 2. The children sat and watched
telev151on 3. The girl spoke and trembled. 4. The children ran about and
shouted. 5. He turned over the pages of a book and looked at the pictures. 6. The
man read a book and made notes from time to time.

Exercise 10. Find the participles, state their form and function in the
sentence. Translate the sentences.

1. Dressing myself as quickly as I could I went for a walk. (Dickens) 2.
She came into the dressing-room to look for things belonging to their father and
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mother. (Gaskell) 3. Mary stood for a time in silence, watching and listening.
(Gaskell) 4. Still looking at me, she shook her head while 1 was speaking.
(Dickens) 5. 1 saw a passing shadow on her face. (Dickens) 6. He walked
around, saying nothing. (Heym) 7. Mary sat still looking at the writing. (Gaskell)
8. We sat there talking about our pleasant old Canterbury days. (Dickens) 9.
They ran to the steps leading down the water. (Gaskell)

Exercise 11. Translate the following sentences paying attention to the difference
in translation between Participle I and Participle II.

PARTICIPLE 1

1. The film following the report
showed ... .

2. The discussion following the
meeting showed ... .

3. His article following the research
was ... .

4. A number of works following the
experiments were ... .

5. The lecture following the
demonstration of the experiment
was ... .

6. The discussion following the report
was ... .

PARTICIPLE I

1. The film followed by a discussion
showed ... .

2. The experiment followed by a
lecture showed ... . ,‘

3. His scientific work followed by an
articlewas ...

4. The theory followed by our
professor was ... .

5. The lecture followed by a
demonstration of a film was... .

6. The method followed by us was ....

Exercise 12. Translate the following sentences paying attention to

participles. Define their functions.

1. Introducing new words the teacher explained some of their meanings in
English. 2. While introducing new words the teacher gave some examples. 3. The
new words introduced at the last lesson are to be repeated at the next lesson. 4. The
words introduced are not very difficult to remember as they are of the international
origin. 5. The new words being introduced at this lesson are easy to comprehend
as they are international ones. 6. Being introduced new words should be repeated
by the students in chorus. 7. Having introduced the new words the teacher asked us
to repeat them after him. 8. Heaving been introduced the new words were repeated
by the students. 9. When introduced new words were repeated by the students

many times.

Exercise 13. Translate the Ukrainian words and word-combinations given in

brackets using Participle I or Participle I1.

1. The research work (uo mposomutses) at the laboratory is of great
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importance for our Institute. 2. The engineer (1o nposoaurs) this research is a
physicist. 3. The students (o BimBimyrorh) these lectures are from various
departments. 4. The lecture (nmpouurana) by this scientist was challenging. 5.
(3axpinusum) the bar in a chuck, the operator began to turn it. 6. Intelligent
tools (ski MicTaTs) the microprocessor and ROM are the same as those (ski
BUKOpHCTOBYIOThCs) while working on the terminal. 7. The apparatus (saxmit
nepeTsopioe) heat into mechanical work is called the heat engine. 8. (Byayun)
the main component of chips the silicon is widely used in microelectronics. 9.
The experiments (ki npoBoasThCs) attract attention of all the scientists.

Exercise 14. Translate the following sentences into English using the
participles.

1. IlpoBomAuM BHMIpIOBaHHS, MM 3HaMILIH
3pobneHi 3 Bemukoro ToyHicTiO, 6ymu .... 3. IlpoBopsuu BUMIpIOBaHHA, MH
3amucay .... 4, 36inburyroun 06’eM, 3BEpHITH yBary Ha .... 5. Excriepumenr,
O CnixyBaB 33 JOCTiIKEHHSM, OKa3aB .... 6. MeTox, KoMy MM CIigyBany,
6yB po3pobnenni .... 7. BUKOPHCTaBIUM Lieif METOX 3BApIOBAHHA, MU OJEPKaIH
Xopoumi{ pesynprar. 8. BuzHaualoum BifcTaHb, MM NOBMHHI 3HaTH .... 9.
BuznaueHa TakUM YMHOM BiCTaHb Gye ZOPIBHIOBATH ....

2. BuwmipioBauns,

Exercise 15. Make up five sentences from each table paying attention to the
Objective Participle Complex.

I saw me playing tennis.
He heard you quarrelling.
She watched  |him swimming across the river.
We observed |her skating on the pond.
You |noticed us climbing a tree.
They |found the boys whispering something.
L was seen entering the department store.
He/She |were heard running away.
1We watched crying.
You observed playing the violin.
They noticed climbing over the fence.
L had my hair cut.
He will have |his coat cleaned.
We our shoes mended.
You your dinner cooked.
They their dress made.




Exercise 16. Transform the following complex sentences into simple ones
using the Objective Participle Complex.

Model: 1saw them as they were wbrking in the field — I saw them working
in the field.

1. I saw him as he was picking flowers in the park. 2. We watched them as
they were playing hockey. 3. The teacher observed the pupils as they were
writing compositions. 4. I saw the girl as she was crossing the street. 5. She
watched him as he was repairing his car. 6. We saw wild geese as they were
flying to the South.

Exercise 17. Combine the given two sentences into one using the Ob]ectzve
Participle Complex.

Mo del: The girls were singing a folk song. I heard it.— I heard the girls
singing a folk song. :

1. The woman was shouting at the boys. We heard it. 2. The birds were
singing in the trees. She heard it. 3. The man was trying to unlock the door. I
noticed it, 4. The boy was whistling. They heard it. 5. The children were
swimming in the river. We watched it.

Exercise 18. Paraphrase the following sentences using the Objective Participle
Complex.

Mo del: The hairdresser did Ann’s hair. — Ann had her hair done.

1. The tailor made a suit for him. 2. The worker repaired his car 3. The
photographer took a photograph of him. 4. The typist typed his article for him.
5. The waitress brought them dinner. 6. His wife washed and ironed his shirt.
7. Their daughter cooked supper for them. 8. The porter brought his luggage into
the car.

Exerrise 19. Translate into English using the Objective Participle Complex.

1. Mu cnocrepiranu, sk xjonii rpanu B gpyréon. 2. S Gauuna, sx gitn
i dail. 3. BoHu uymy, sk if 6aTbkO PO3MOBIAB HiMENLBKOIO MOBOIO. 4. Mu
Gaunnn, Ak BiH cifaB y Tpamsaii. 5. S 6auus, Ak yosen HabamxaBcs o Gepera.
6. Mu nomitiinn, six BoHa cMisnaca. 7. Yuni 6aumny, six npusemisscs JiTak. 8.
Meni BizpeMonTyBamu papio-npuitMay. 9. i 3po6umu 3auicky. 10. To6i
nonaroauny yepesuku? 11. Ham xymunu XBUTKH Ha Konuepr. 12. T saxpimum
namny Gins mixka. 13. BoHu cnocrepiramy, sk BaHTaXiBka HepeTHHANa NOJe.
14. Bin xoue, mo6 1ro CTATTIO HaAPYKyBasH B 36ipmi.
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Exercise 20. Translate the following sentences into Ukrainian paying attention
to the participles.

1. The boy lay sleeping when the doctor came. 2. The broken arm was
examined by the doctor. 3. While being examined, the boy could not help
crying. 4. Having prescribed the medicine, the doctor went away. 5. The
medicine prescribed by the doctor was bitter. 6. The dress bought at the
department store was very beautiful. 7. While using a needle you should be
careful not to prick your finger. 8. While crossing the street one should first look
to the left and then to the right. 9. People watching a performance are called an
audience. 10. Being very ill, she could not go to school. 11. The first rays of the
rising sun lit up the top of the hill. 12. The tree struck by lightning was all black
and leafless. 13. Being busy, he postponed his trip. 14. The door bolted on the
inside could not be opened.

Exercise 21. Open the brackets using the Present Participle or the Perfect
Participle.

1. (to do) his homework, he was thinking hard. 2. (to do) his homework,
he went for a walk. 3. (to sell) fruit, he looked back from time to time, hoping to
see his friends. 4. (to sell) all the fruit, he went to see his friends. 5. (to eat) all
the potatoes, she drank a cup of tea. 6. (to drink) tea, she scalded her lips. 7. (to
run) in the yard, I fell and hurt my knee. 8. (to look) through some magazines, |
came across an interesting article about UFQs. 9. (to write) out and (to learn) all
the new words, he was able to translate the text easily 10. (to live) in the south
of our country, he cannot enjoy the beauty of St. Petersburg's White Nights in
summer. 11. (to talk) to her neighbor in the street, she did not notice how a thief
stole her money. 12. (to read) the story, she closed the book and put it on the
shelf. 13. (to buy) some juice and cakes, we went home 14. (to sit) near the fire,
he felt very warm.

Exercise 22. Open the brackets using Participle I or the Perfect Participle.
Translate the sentences into Ukrainian.

Compare the usage:
translating — nepexnadaiouu
having translated — nepexnaguiu

1. a) The man (arranging, arranged) the party is our tutor. b) The party
(arranging, arranged) by our university club attracted enthusiastic audience. 2.
a) The house (surrounding, surrounded) by tall trees is very beautiful. b) The
wall (surrounding, surrounded) the house was very high. 3. a) Who is that boy
(doing, done) his homework at the table? b) The exercises (doing, done) by the
pupils were easy. 4. a) The girl (washing, washed) the floor is my sister. b) The

56



floor (washing, washed) by Helen looked very clean. 5. a) We listened to the
girls (singing, sung) Ukrainian folk songs. b) We listened to the Ukrainian folk
songs (singing, sung) by the girls. 6. Do you know the girl (playing, played) in
the garden? 7. The book (writing, written) by this scientist is very challenging.
8. Translate the words (writing, written) on the blackboard. 9. We could not see
the sun (covering, covered) by dark clouds. 10. The (losing, lost) book was
found at last. 11. (Going, gone) along the street, I met Mary and Ann. 12. Read
the (translating, translated) sentences once more. 13. Name some places
(visiting, visited) by you last year. 14. I picked up the pencil (lying, lain) on the
floor. 15. She was reading the book (buying, bought) the day before. 16.
Yesterday we were at a conference (organizing, organized) by the pupils of
the 10th form. 17. (Taking, taken) the girl by the hand, she led her across the
street. 18. It was not easy to find the (losing, lost) stamp. 19. 1 shall show you a
picture (painting, painted) by Hogarth. 20. Here is the letter (receiving, received)
by me yesterday. 21. Look at the beautiful flowers (gathering, gathered) by the
children. 22. His hat (blowing, blown) off by the wind was lying in the middle
of the street. 23. "How do you like the film?" he asked, (turning, turned) towards
me. 24. When we came nearer, we saw two boys (coming, come) towards us.

25. Ithink that the boy (standing, stood) there is his brother.

Exercise 23. Find the participles in the following sentences and translate them
into Ukrainian.

1. Being busy I couldn’t help them. 2. It was a small house built in 1830.
3. Going along the street yesterday I met my old friend. 4. When speaking at the
meeting a week ago I forgot this fact. 5. Translating this article I learned much
interesting from the history of the old English cities. 6. Not knowing the street
we couldn’t visit him. 7. Yesterday we received a letter sent by him on
November, 20. 8. I recognized the boy playing near us. 9. In the bus we met a
group of tourists speaking an unknown language. 10. The people, sitting at the
table spoke and laughed loudly.

Exercise 24. Find Participle I in the following sentences and translate them
into Ukrainian.

1. He answered through the locked door. 2. They turned into the large
alley lit up with Chinese lamps. 3. The housekeeper had come out of her room
attracted by the vilent ringing of the bell. 4. Accompanied by his father he
entered the room. 5. Crushed by his imprisonment he had soon found a dull
relief in it. 6. When questioned about the story she didn’t want to answer. 7. As
if torn with inner conflict, she cried. 8. He shook his head as though lost in
wonder and admiration. 9. Her spirit, though crushed, was not broken. 10. She
has found me unchanged, but I have found her greatly changed.
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Exercise 25. Translate the following sentences into Ukrainian paying
attention to different functions of the participles.

1. The student reading a book is my friend. 2. Having read a lot of books
on this question, he was able to make a very interesting report. 3. When he was a
little boy, he liked to listen to stories being read by his mother. 4. The book read
by this student was returned to the library. 5. Having been read by the students,
the magazines were returned to the library. 6. Being very tired we refused to go
to the cinema. 7. Having lost the key, we could not get into our room. 8.
Reading the data carefully she made up her mind to change them. 9. Unless
checked the results can’t be applied in the research. 10. He is responsible for
safety engineering being provided in time. 11. He objects to the meeting being
fixed for Monday. 12. We know of this methodical textbook being used by
many students. 13. Testing these devices we sometimes find defects in them. 14.
Reading stories about adventures he remembered his green years.

Exercise 26. From each pair of sentences make one sentence using Participle 1.

Example: She was sitting in an armchair. She was reading a book. - She was
sitting in an armchair reading a book.

1. Jill was lying on the bed. She was crying. Jill was ___. 2. T got home.
1 was feeling very tired. I got ___. 3. The old man was walking along the
street. He was talking to himself. The old man ___ . 4. Father was sitting in an
armchair. He was smoking a pipe. Father was ___.

In these sentences one thing happens during another.
Example: Jim was playing tennis. He hurt his arm. - Jim hurt his arm playing
tennis.

5. Ann was watching television. She fell asleep. Ann . 6. The man
slipped. He was getting off the bus. The man _____. 7. The boy was crossing the
road. He was knocked over. The boy . 8. The fireman was overcome by
smoke. He was trying to put out the fire. The fireman ___. 9. She was
shouting. She ran out of the house.

Exercise 27. This time make sentences beginning Having + Participle II.

Example: We finished our work. We went home. - Having finished our work,
we went home.

1. We bought our tickets. Then we went into the theatre. 2. They had
dinner. Then they continued on their journey. 3. Sue did all her shopping. Then
she went for a cup of coffee. 4. He visited his grandparents. Then he hurried to
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his friend’s birthday. 5. We found a hotel. Then they looked for somewhere to
have dinner. 6. She crossed the road. Then she looked back.

Exercise 28. Now make sentences beginning -ing or Not -ing.
Example: 1 felt tired. So I went to bed early. - Feeling tired, 1 went to bed early.

l. I thought they might be hungry. So I offered them something to eat.

Thinking . 2. She is a foreigner. So she needs a visa to stay in this country.
.3. T didn't know his address. So I couldn't contact him. Not .4. The
man wasn't able to understand English. So he didn't know what I said. .5.

He has travelled a lot. So he knows a lot about other countries. Having .
6. We had spent nearly all our money. So we couldn't afford to stay in a hotel.
. 1. He is unemployed. So he hasn’t got much money. . 8. She doesn’t
have a car. She finds it difficult to get around. ,

Exercise 29. In this exercise you have to rewrite the sentences. Each time use
the information in brackets to make a complex with Participle I.

Example: That girl is Australian, (she is talking to Tom). The girl talking to
Tom is Australian.

l. A plane crashed into the sea yesterday. (it was carrying 28 passengers).
Aplane ___ yesterday. 2. When I was walking home, there was a man. (he was
following me). When ___ . 3.1 was woken up by the baby. (she was crying). I
. 4. At the end of the street there is a path. (the path leads to the river) At
___ . 5. Some paintings were stolen from the palace. (they belong to the
Queen). Some .

Exercise 30. This exercise is similar but this time you have to make a complex
with Participle II.

Example: The man was taken to hospital. (he was injured in the accident).
The man injured in the accident was taken to hospital.

1. The window has now been repaired. (it was broken in last night's
storm). The window ____ repaired. 2. Most of the suggestions were not very
practical. (they were made at the meeting). 3. The paintings haven't been found
yet. (they were stolen from the museum). 4. Did you hear about the boy? (he
was knocked down on his way to school this morning). Did ___ 7. 5. Our
friends have given us a photo. (it was taken in the Bahamas.)
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Exercise 31. Complete these sentences with the following verbs. Each time you
have to put the verb in the correct form:
ring blow call live offer invite post read sit study wait work

1. I was woken up by a bell ringing. 2. None of the people invited to the
party can come. 3. Tom has got a brother ____ in a bank in London and a sister
____ economics at university in Glasgow. 4. Somebody ____ Jack phoned
while you were out. 5. All letters ____ today should arrive tomorrow. 6. When I
entered the waiting-room there was nobody ____ except for a young man ___
by the window _____ a magazine. 7. A few days after the interview, I received a
letter  me the job. 8. There was atree ____ down in the storm last night. 9.
Sometimes life must be very unpleasant for people _____near airports.

Exercise 32. Translate the following sentences into Ukrainian paying attention
to the forms and functions of the participles.

1. The people spoken about yesterday were good scientists. 2. Having
turned off the light we couldn’t see anything in the room. 3. The latest model
now being tested is of great importance. 4. Well done the device will be sent to
the exhibition. 5. The algorithm chosen is a modified version of the mentioned
model. 6. Having been signed the application was sent to the American
embassy. 7. Some paintings belonging to the Queen were given to the National
Gallery. 8. While being checked the device showed good characteristics. 9. The
devices having been checked appeared to have particular properties.

Exercise 33. Translate the sentences paying attention to different forms of the
participles.

I. Having been shown the wrong data I could not initiate them. 2. Being
well prepared for the examination the students could answer all the questions
asked by examiners. 3. He heard the voices coming through the open windows.
4. The explanation given was not complete. 5. This metal when examined
showed valuable peculiarities. 6. A magnet being broken into two can form two
" new complete magnets. 7. Having predicted the properties of some elements
Mendeleev left several blanks in his table. 8. Some very complicated models are
investigated in the paper. 9. When arranged properly the components could
show better characteristics.

Exercise 34. Find the predicate first, then define the function of the participles
in the sentences and translate them into Ukrainian.

1. The students spoken about at the meeting yesterday completed this
work successfully. 2. The task set was not an easy one. 3. Some very
complicated models are investigated in the paper. 4. The latest model now being
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tested accounts for many of the previously unknown phenomena. 5. For the
investigation being conducted at present the lack.of such data is of no
importance. 6. As a starting point of the investigation the algorithms developed
in the paper were exercised in various models. 7. The algorithm chosen in this
study is a simplified and slightly modified version of Wagner's model, which is
one of the models presented in Reference 1. 8. The results obtained showed the
stability of the system under conditions given above. '

Exercise 35. Translate the following sentences into Ukrainian paying attention
to Participle I and Participle 1. '

1. He referred to experimental results while explaining the phenomenon in
terms of multiple reflections. 2. We found the first series of experiments
completed. 3. Speaking on this subject, mention should be made of high
radiation intensity. 4. Allowing for these changes, we may predict time
behaviour. 5. The methods of measurements developed lately differ greatly from
the old ones. 6. The successful results of the experiments received at this
laboratory are very important for the new technological process being
developed. 7. While making the experiment we made use of all the data
available. 8. Unless checked the results can't be applied in the research. 9. The
experiments of many other scientists following Rutherford's research proved his
predictions.

Exercise 36. Write questions to the italicized parts of the sentence.

1. Having been warmed to 0° ice began to melt. 2. The data so far
obtained were of no interest. 3. Having been used for a long time the device
partly lost its efficiency. 4. The distance travelled during the next hour
changed greatly. 5. While being used the device showed poor characteristics. 6.
Knowing length and time we can define velocity. 7. If cooled water becomes
ice. 8. Having been well tested the machine was put into operation.

Exercise 37. Translate the following sentences from Ukrainian into English.

1. 3aBepuryrouy cepifo eKCIEPHMEHTIB, CTYA€HTH OepKany LikaBi AaHi.
2. 3aBepiuMBUIM TEpINy CEpil0 €KCIEpUMEHTiB, BOHH Movyanu oO6pobiaTn
(process) otpuMani nani. 3. Mipsioyn Temmneparypy BOAH, 3BHYalHO
KODHCTYIOTBCS TepMoMeTpoM. 4. OOroBOopMBIIM OTPHMAaHi pe3ynbTaTH,
€KCIIEPMMEHTATOPH 3PO3YMiNH, 110 BOHH HeJ0CTaTHHO Tousi. 5. IIpaimoroun 3
PallicaKTHBHOIO PEYOBMHOIO, B MOBHHHI OyTn obepexHi. 6. 3abesmeyusun
nabopatopilo yciM HeoOXiTHHM, HOCHiNHHMIbKA TIpyna 3MOIJa YCHIllHO
NpONOBXYBAaTH CBOK poGory. 7. BusuuBIIM HeoXimHi yMOBM, BHeHi
NPKCTYNMIM 4O BHUKOHaHHA jgocminy. 8. OTpMMaBUIIM NO3MTHBHI pe3ynsTaTH,
JOCIIAHMKH BKITIOYUIH iX y JOMOBifb.
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Exercise 38. Transiate the following sentences into Ukrainian paying attention
to the participles.

1. He heard the voices coming through the open window 2. Waiting for
him I looked through the magazines lying on the table. 3. They remained at
home refusing to go anywhere that day. 4. The channel linking the two seas is
being built now. 5. The explanation given was not complete. 6. The new
materials recommended for bridge construction were described in the article
written by our professor. 7. The results received were of great importance for
further work. 8. A balsa tree found in South America is lighter than any other, 9.
Having passed all the examinations he left for Kiev. 10. Having been shown the
wrong way I could not find his house. 11. Having waited for him for half an
hour they went home. 12. Having obtained the necessary results they stopped
their experimental work. 13. When studying elements Mendeleyev found that
they could be divided into nine groups. 14. When writing a telegram we must
“use as few words as possible. 15. When burnt coal produces heat. 16. When
reconstructed the theatre looked more beautiful than before. 17. Being built in a
new way modemn houses have better facilities. 18. Being obtained in the
laboratory the new substance had some valuable properties. 19. Being well
prepared for the laboratory work the students could perform all the tasks
quickly.

 Exercise 39, Translate the Jfollowing sentences paying attention to the functions
of Participle LII and the Perfect Participle.

|. Working at his new device the inventor made numerous experiments. 2.
The units used to measure time, space and mass are called fundamental units. 3.
Atoms are composed of a positively charged central core or nucleus and
electrons. 4. Having made a great number of experiments with different
substances the chemists found that most of them could be decomposed into other
substances. 5. The operator examines the moving parts of the machine carefully.
6. The electric current passing through a wire will heat that wire. 7. Going into
chemical reactions elements entirely change their properties. 8. When inspecting
relays great precaution should be taken not to touch the relay itself but only to
watch its operation. 9. Having finished his experiment the tester left the lab. 10.
Having been tested in action the new device was recommended to production.
11. The technique installed in our machine shop will greatly help us in our work.
12. At first sight the diesel spoken of looks like a gasoline. 13. If arranged
according to their atomic weights the elements exhibit an evident periodicity of
properties. 14. For the device called electronic electricity must flow across the
space inside the device.
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Exercise 40. State the forms and functions of the participles; translate the
Jollowing sentences into Ukrainian.

1. Discussing chemical reactions we ought first to make clear what a
chemical reaction is. 2. The heat generated by the friction of the match on the
box agitated the molecules in the tip of the match. 3. When combined with the
oxygen of the air the match was lighted. 4. While burning different substances
combine with oxygen. 5. Having discussed chemical reactions we proceeded to
the experiments. 6. Having overcome the electrical bond that holds the atoms
together, the molecule breaks into fragments. 7. Raising the temperature we
increase the agitation of the molecules. 8. Decreasing the temperature we slow
down the reaction. 9. Having spent much time studying catalysts, the scientists
now use them widely in chemical industry. 10. The catalysts being used in this
reaction accelerate the chemical change. 11. The experiment being made at our
laboratory shows the actions of catalysts. 12. The temperature used depended
upon the substances entering the reaction. 13. The figures following show the
dependence of the rate of reaction on temperature. 14. Efforts being made in the
development of chemical industry meet great approval. 15. The success
achieved in the development of economics resulted in a considerable growth of
the well-being of the Ukrainian people. This does not mean, however, that we
can be satisfied with the results obtained. 16. Science has opened out
possibilities for the conquest of nature hardly dreamed of a few years ago. 17.
The experiments referred to in our article demonstrate the action of catalysts in
chemical reactions. 18. The substance acted upon by heat changed its
composition. 19. The molecules of a substance affected by a catalyst are
changed more easily. 20. This reaction, when completed, will give us a new
proof of the use of catalysts in living systems. 21. Sometimes a molecule breaks
into two fragments, if struck with enough violence to overcome the electrical
bond that holds its atoms together.

Exercise 41. Translate the following sentences into Ukrainian paying attention
to the translation of Participle Il with adverbial modifiers:

SO

thus

so far .
TaK, TAKAM YHHOM noci
thus far

1.The values thus found are of some interest. 2. The results so far received are
not accurate enough. 3. The problem so explained was easily understood. 4. The
articles thus far written on the subject are of no interest. 5. The work so done
provided us with new data. 6. The method thus far used by us was effective
enough. 7. The results thus achieved were of great help. 8. The measurements so
far made are to be repeated.
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Exercise 42. Find the participles in the following sentences, state their forms
and functions and translate them into Ukrainian.

1. If heated molecules of the material move faster. 2. The device
measuring voltage in the circuit is called voltmeter. 3. Connecting a condenser
and a coil in series it is possible to obtain an oscillatory circuit. 4. An electron
bombarding the anode at high speed may produce the liberation of several
electrons. 5. The resistance introduced into the circuit by the valve is high. 6.
The voltage — current characteristics shown are of great importance. 7. The
electrons liberated resulted in an avalanche across the valve. 8. Having applied a
positive pulse of voltage to the control electrode we made the valve conducting.
9. A positive pulse of voltage applied made the valve conducting. 10. Both these
forces tend to urge each emitted electron back to the body. 11. For any given
metal there is a fixed rate of electron emission at every temperature level. 12,
The power required for the control of electrons is very low. 13. The space
occupied by an electron valve is only a few cubic centimetres and its weight is
several grams. 14. Special methods developed in electronics permitted to obtain
an accuracy of measurement. 15. The second requirement is a source of moving
charged particles. 16. The relationship between the voltage applied to the valve
and the current through it is shown in Fig.2. 17. A cloud of electrons known as a
space charge cloud is then built up in the interelectrode region. 18. This current
called the saturation current, depends upon the temperature of the cathode. 19.
The tunnel diode is a two-terminal active element used for many functions. 20.
A conductor is a material having free charges.

Exercise 43. Translate the following sentences defining the function of
Participle Il given bold-faced.

1. The theory of electromagnetic waves described by Maxwell shows that
light is the result of electromagnetic oscillations. 2. Under some conditions the
anode current in the diode rises to a large value limited by the resistance of the
external circuit. 3. The electron avalanches result in a greatly enhanced valve
current. 4. For the negative anode potential conditions no electrons emitted by
the cathode can pass to the anode. 5. The positive ions produced in the
avalanche are accelerated towards the negative anode. 6. The voltage-current
characteristics shown are taken into account. 7. The electrons liberated resulted
in an avalanche across the valve. 8. The anode voltage reduced to a low value
stopped conduction in the thyratron. 9. A positive pulse of voltage applied to
the control electrode made the valve conductivity. 10. Compared to vacuum
tubes they have smaller size and weight. 11. For any given metal there is a fixed
rate of electron emission at every temperature level. 12. The power required for
their control is very low. 13. Special methods developed in electronics
permitted to obtain an accuracy of measurements. 14. A coil inductance depends
upon the cross section of the cone placed within the coil. 15. A cloud of
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electrons known as a space charge cloud is then built up in the interelectrode
region.

Exercise 44. Translate the sentences paying attention to Participle II in the post
— position. '

1. The action is similar to that of a diode, except that the grid still has

some retarding effect on the electrons because of its shielding action, and hence
the plate current is somewhat less than it would be with grid removed entirely.
2. The higher is the instant magnitude of the voltage investigated, the more is the
spot deflected from the centre of the tube screen. 3. The retrace must be very
rapid in order not to lose the information contained in the input signal. 4. Since
moving charges comprise an electric current, the stream of electrons to the plate
is an electric current, called the plate current. 5. The arriving electrons are
absorbed into the positive terminal of the battery and an equal number of
electrons flow out of the negative battery terminal and return to the cathode, thus
replenishing the supply of electrons lost by emission. 6. The total number of
electrons emitted by the cathode of a diode is always the same at a given
operating temperature. 7. Since it is made up of electrons, this cloud constitutes
a negative charge in the interelectrode space that has a repelling effect on the
electrons being emitted from the cathode. 8. The simplest combination of
elements constituting an electron tube is the diode shown in Fig. 14. 9. To obtain
a steady image on the oscillograph screen it is necessary for each trace produced
in each period of scanning to overlay most accurately the previously obtained
trace. 10. With the p-type germanium biased positively the holes are repelled by
the battery voltage toward the junction. 11. Although exaggerated in the
illustration, the centre or n-type portion of the sandwich is extremely thin in
comparison to the p-regions. 12. An amplifier is an electron tube which builds
up an ac signal applied to its input. 13. On leaving the amplifier, the amplifield
signal reaches the vertical deflecting plates. 14. The scanning voltage supplied
by the scanning circuit is fed to the horizontal deflecting plates.

Exercise 45. State the forms and functions of the participles and translate the
sentences into Ukrainian.

1. Electrons, passing through the wire, create the current flow. 2. The
discharge rate is often stated in terms of time, required to discharge the battery
completely. 3. Experiments being conducted in the field of electricity are based
on Ohm's Law. 4. Studying the capacity of a battery we learned that it is
expressed in ampere-hour (AH). 5. Having defined that a car battery may have a
capacity of 40 AH at the 10 hour rate, we state that it can deliver a current of 4
A for 10 hours. 6. If emitted by a strong source of light the rays will cast bright
light. 7. I saw my neighbour examining his car. 8. I saw the car being examined
by the mechanic of our enterprise. 9. Having been calculated thoroughly the data
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were used in the further research.

.- Exercise 46. Translate the following sentences into Ukrainian paying attention
to the functions of Participle I and Participle II.

1. The bipolar junction transistor consists of two p-n junctions formed by

a sandwich of doped semiconductor material. 2. Fig. 29 shows a transistor

connected into a simple common-emitter circuit. 3. No base current is flowing

- whilst the switch is closed, allowing the current to flow from battery into the

“ base of the transistor. 4. The important point to note is that the collector-base

junction is reverse-biased with the resulting potential barrier preventing any

flow of majority carriers. 5. Neglecting leakage, the current in the collector
circuit is effectively zero with switch S open.

Exercise 47. Put questions to the words and word-combinations in bold type.
Translate the sentences paying attention to the participles.

1. The external force applied to a circuit to overcome the opposition to
the flow of current is measured in volts. 2. The voltage is equal to the current
multiplied by the resistance. 3. The electrical current passing through a
specified solution of nitrate of silver in water deposits silver. 4. This formula is
read as the voltage squared divided by the resistance. 5. The current equals
voltage divided by the resistance. 6. Having measured voltage and resistance we
can find the value of the current. 7. Being learned Ohm's Law gives the
possibility to measure the current in a circuit. 8. Having been set down the
equation can be used for defining missing quantity. 9. When studied well the
problem can be solved successfully. 10. While making experiments the scientist
discovered the law of measuring three basic electrical units.

Exercise 48. Substitute the subordinate clauses for Participle Complexes.

1. The external force which is applied to a circuit to overcome the
opposition to the flow of current is measured in volts. 2. The voltage is equal to
the current which is miltiplied by the resistance. 3. The electrical current that is
passing through a specified solution of nitrate of silver in water deposits silver.
4. The resistance is equal to the wattage that is divided by the current squared. S.
The current that is passing through the conductor equals 2 amperes.

Exercise 49. Translate the following sentences paying attention to different
Jforms of the participles.

1. Having lost some of its electrons the atom has a positive charge. 2. Using
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a transformer you can increase or decrease the voltage or current. 3. The pentode
operating as a high frequency amplifier is of wide use. 4. Lenz’s law explains
the conservation of energy principle when applied to induced voltages and
currents. 5. A gas introduced changed the characteristics of high vacuum diodes.
6. The significance a semiconductor achieved is due to the electrons being raised
to the conduction band. 7. The concentration of impurities when regulated
controls the conductivity. 8. An external field when applied gives the flow of
electrons and the conduction of electricity takes place. 9. Having made many
tests the laboratory assistant got interesting results. 10. Having been tested under
favorable conditions the machine was successfully put into operation. 11. We
know of silver and copper being very good conductors of electricity. 12. When
heated the cathode emits large quantities of electrons. 13. Electrons moving in
one direction form the electric current. 14. The results achieved depended on the
methods used. 15. The particles striking the surface and causing emission are
primary electrons. 16. The electrons flowing towards the screen will not in
general be absorbed.

Exercise 50. Translate the following sentences paying attention to different
functions of Participle I and Participle I1.

1. Every resistor has a certain amount of inductance and capacity
associated with it. 2. The insulating medium that separates the plates of a
condenser is known as the dielectric and it plays an important role in
determining the characteristics of the condenser. 3. A diode is a two-element
vacuum tube containing an emitter of electrons known as the cathode and a
collector electrode termed the anode or plate. 4. The emitter may be either an
indirectly heated cathode or a filament. 5. A triode is a three-electrode vacuum
tube containing an emitting electrode called the cathode, a contro! electrode
called the grid, and a current-collecting electrode called the anode or plate. 6.
Some typical characteristics of a triode, showing the way in which the plate
current varies with grid voltage for various fixed values of plate voltage, are
given in Fig.13. 7. The suppressor grid, though operated at zero potential, is able
to pass electrons freely through the space betwen the wires. 8. The space current
drops because the current returned from the screen-grid-plate region increses the
space charge around the cathode. 9. Some typical curves showing how space
current and plate current vary with plate voltage are shown in Fig,14. 10. Phase
distortion occurs when the relative phases of the various components being
amplified are not the same in the output as in the input. 11. A transformer used
to couple a transmission line, microphone, or other low impedance source of
energy to the grid of a tube is termed an input transformer. 12. Semiconductor
devices are almost exclusively of a type known as “junction” devices. 13. One
region called n-type material is so prepared chemically that it has an excess -
number of electrons associated with some of its atoms. 14. The techniques
employed in the fabrication of standard semiconductor devices are also the ones

67



used in the functional block construction. 15. The point-contact germanium
diode exhibits negative resistance when biased highly in the reverse direction.
16. Being an inherently fast circuit, remarkable speeds may be attained. 17. The
tunnel diode is capable of many logic and memory functions and the addition of
input currents being used to switch the device from one stable state to the other
is expedient. 18. A number of subjective tests were performed with trained and
untrained listeners.

Exercise 51. State the forms and functions of the participles and translate the
sentences into Ukrainian.

1. It is a two-terminal device having high resistivity in one derection and
lower resistivity in the other. 2. Charge carriers injected into one diode affect the
resistivity, and hence the current flow in the other diode. 3. The crystalline
lattice can be changed by tantalum or titanium being added to semiconductors to
obtain crystals with the required electrical properties. 4. The wire is usually
enameled with the enamel being cleaned off where the slider touches. 5. Every
resistor has a certain amount of inductance and capacity associated with it. 6. A
perfect condenser when discharged gives up all the electrical energy supplied to
it in charging. 7. The insulating medium that separates the plates of a condenser
is known as the dielectric. 8. A circuit consisting of a resistance, inductance, and
capacity connected in series with a voltage applied as shown in Fig.3 is termed a
series resonant circuit. 9. Practically all the power delivered to the input
terminals of such an impedance matching network finds its way to the load. 10.
An active network is a network containing one or more sources of energy or
some sink of energy. 11. The term two-terminal is applied to networks operated
under conditions shown in Fig.9. 12. The electron is the particle that constitutes
most of the current flow encounted in vacuum tubes. 13. Other charged particles
called ions may exist. 14. In any conductor there is a large number of free
electrons moving around with various velocities. 15. The number of liberated
secondary electrons that succeeded in escaping from a surface depends upon the
potential conditions surrounding the bombarded surface. 16. Most vacuum tubes
are designed so that the emitting surface gives off a surplus of electrons.

5 HE3AJIEXKHHN JICNPUKMETHUKOBHHM KOMILIEKC
(THE ABSOLUTE PARTICIPLE COMPLEX)

B yxpainchkiit MOBi miipaiHe o6cTaBuHHe pedeHHs (HanpHKiak, yacy abo
NpHuYHHK) MoXe OYyTH 3aMiHeHe MiENpPHCIiBHHKOBHM 3BOPOTOM, AKIIO B
TOJIOBHOMY 1 MiZAPAAHOMY PEYEHHAX MiAMET TOM caMUil, X0 B OAHOMY 3 HUX BiH
Moxe OyTH BHpakeHH IMEHHHKOM, a B IHIIOMY — BiAMOBiZHMM 0COGOBHM
3afMEHHHUKOM.
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Hanpuksan: Kean Ilerpo nosepnyscs 3 KueBa, BiH po3noBiB Ham rpo
Bycrasky. llosepryBmuch 3 Knesa, [letpo posnogis Ham npo Bucrasky. (B
060X peYeHHAX NMIAMET [IO3HAYaE Ty caMy 0cody.)

SIKINO B TOJIOBHOMY i MIAPAAHOMY PEUEHHAX MIAMETH Pi3Hi. TO TaKa 3aMina
HEMOXKHBA.

B anraiitcbkiit MOBI 3aMiHa 0OCTaBUHHOTO MIAPAIHOTO PEHUEHHA 3BOPOTOM
3 participle MOXUIMBA | TOAi, KOAM B FOJIOBHOMY 1 MUAPAZHOMY pEUEHHSX
NiAMETH Pi3HI.

Hanpuxnaa:When Peter came home from Kyiv, we asked him to tell us
about the exhibition. Peter coming home from Kyiv, we asked him to tell us
about the exhibition. _

Peter coming home from Kyiv He niapsnHe peuenns, a HesanexHmii
JIENpUKMETHHKOBHM  KoMmruieke (the Absolute Participle Complex), o
CKJIANAETHCA 3 IMCHHUKA Y 3araflbHOMY BiAMiHKY (260 0c060BOro 3aiiMeHHMKa Y
Ha3MBHOMY BIAMIHKY) 1 JI€TMPUKMETHHKA. Y HbpOMY KoMmrekci Peter BHKOHYE
poab 1IJMETA {10 BITHOIIEHHIO 10 AIENPHKMETHHKA i HE € MiAMETOM YCbOro
peucHHs. Y  HE3QICKHOMY  JIENPHUKMETHUKOBOMY  KOMILUIEKCI  MOXKYThb
BKHBATHCA BCi hopMu participle. Y peveHHi HE3ANEKHHUI JiENPUKMETHHKOBHIT
KOMI/IEKC BUKOHYE QYHKUIT 06CTABHH (Yacy, HpUYMHH, CrIOCOOY i, YMOBH):

The rain having stopped, Kosn gont yulyx. My nminam

we went home. JIO0MY.

The day being very fine, Ockinbku JeHb GYB Ayke

she went for a walk. rapHuit, BOHA IiILIA HA
TIPOTYASAHKY.

The article deals with optoelectronics. Crarrs TIPHCBAYEHA ONITOENEKTPO-

particular attention being Hilt, npU4oMy oco6:1Ba yBara
paid to logic arrays. TIPUIINSETHCA AOTTUHUM
MAaTPHLAM.

HesanexHuii 11€NPUKMETHHKOBUH KOMILIEKC MOXE CTOSTH Ha NOYarKy
a6o B KIHLli CKAAZHOrO PeYEHHS (AUB. cXxeMmy 5.1).

Hesanexuuit  RIEMPAKMETHUKOBMI — KOMILIEKC - MOXKE  BBOIMTHCh
upuiiMeHakoM with, Takuit xomILiekc BXKHBAETBCA Y GYHKUIT odcmasunu
cnocody 0ii 460 cynpogionux obcmasun i1 NEPEKIANAECTHCS HA YKPAIHCHKY MOBY
31e01ABIIOr0 CaMOCTIHHUM PEYEHHSM 200 JUENMPHCIIBHUKOBHUM 3B0POTOM:

She was sitting on the ground, with Bona cuaina podi, a rosioa ii |
her head and one arm lying on a chair. oiwa pyka jiexanu Ha Crijbui.
(Dickens)

He was standing, with his arms crossed BiH cTosB, cXpecTHUBIUN PYKH i
and his head bent. (Galsworthy) © ONYCTUBIIH FOJIOBY.
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Cxemas.! Hesanexunii JiEMPHKMETHHKOBHH KOMIUIEKC
(Absolute Participle Complex)

< IMEHHHK (3alIMEHHUK) T AIENPUKMETHHUK +. >

a)/\

Hesanexumit
MENPHKMETHUKOBRE
KOMILIEKC

Jlpyropaant ]

NepeKAaNacThes |
OGCTABMHHUMH [HAPSIHAMH PEHEHHAMH, BCTABHMMH CII0,1y4HHKAMU KOJIH,
SKINO, OCKLILKH, MiC/If TOT0 AK.

My friend living far from me, [ seldom see him.

OckiabKH Mili TOBAPHII JKHBE 12J1€KO0 Bid MeHe, 5 Piako Horo Gauy.

0)

Hesanexuni
€ IPUKMETHHKOBHH
KOMIUIEKC

Jpyropsasi

Miamer
A FLICHA

peyeHHs

We had three lectures yesterday. the last
being in physics. ”

hd CONOCTIHHHNMH PCUCHHAMM. Kt BBOIHTHCH
Buopa B Hac Oyno Tpu Aekuii, npu4omy CTIOT\ UHIKIMH TIPUHOMY, 3., i, A€,
ocranus Gy.1a 3 GizuKK.

Nnepex1a1aeThes

['padiuHo et 380pOT MOXKHA B1100OPa3UTH TAKMM HHHOM.
a) Konn HesanexHuif Ji€MPHKMETHUKOBHH  KOMILIEKC CTOiTH Ha MNOYaTKY
CKTAHOMIAPAIHONO PEYEHHS

OCKIBKAL. .

Ticas Toro k... .

SIkuo V -ing FOJIOBHE PEYCHHS

e 4

Koau...
0) Komm HesatexHMil Ji€ENPUKMETHHKOBHIA KOMIJIEKC CTOiTh B KiHLI
CKJIAIHOTILIPAAHOrO PEYEHHS

HIPHYOMY/
r - a/ i/ aze ,,
I'0.10BHE peyeHHs ) V -ing
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Exercise 1. Transform the following complex séntences into simple ones using
the Absolute Participle Complex.

A. Model: As the weather was fine, we went for a walk. - The weather
being fine, we went for a walk.

1. As my friend lives far from here, I go to his place by bus. 2. As the play
was very popular, it was difficult to get tickets. 3. As it is rather cold, I put on
my coat. 4. As his mother teaches English, he knows the language very well 5.
As her son was ill, she could not go to the theatre.

B. Model: As my brother had locked the door, I couldn't get into the room.
~ My brother having locked the door, I couldn't get into the room.

1. As our teacher had visited India, we asked him to tell us about that
country. 2. When the match had ended, the people went home. 3. As my friend
had bought the tickets beforehand, we did not need to hurry. 4. After the sun had
risen, we continued our way. 5. As his sister has broken his spectacles, he had to
buy a pair of new ones.

C. Model: As the bridge was destroyed, we couldn't cross the river. — The
bridge being destroyed, we couldn't cross the river.

1. As all shops were closed, we couldn't buy anything. 2. As the road was
being repaired, I couldn't go there by bus. 3. As the book was being printed, we
hoped to get it soon. 4. As houses are built very quickly nowadays, we'll soon
get a new flat. 5. As the waiting-room was being cleaned, the passengers were
not let in.

D. Model: When the work had been done, they went home. — The work
having been done, they went home.

1. When the house had been built, we got a new flat. 2. As the key had been
lost, she couldn't get into the room. 3. As the road had been repaired, we could
go there by bus. 4. When the waiting-room had been cleaned, the passengers
were let in. 5. As all the tickets had been sold out, we couldn't see the
performance.

Exercise 2. Translate into English using the Absolute Participle Complex.

1. Ockinekn BiTep AyB 3 miBHO4i, 6yno ayxe xonoguo. 2. Ockinbku
BuMTENL OYB XBOPHH, Y Hac Byopa He 6yno ypoky ¢isuku. 3. Komu muct 6ys
HamvcasuH, 1 BifHic #oro Ha momrry. 4. Koy 6aThKo npuiiiuos, yci cinu 3a ctin
obigarn. 5. Ockinbxu Oyno Bxe mi3HO, BCi KpaMHHLi Oynmu 3ayumeni. 6.
Ockinbku TeneoH GyB HeclpaBHMM, s He Mir noa3souuTH BaM. 7. Komu Mii
Opar 3aKiHYHB LIKONy, Hawa ciM’s nepeixana go Jlynpka. 8. Komu ypoku
3aKIHYHIKCB, Y4HI MUK J0A0MY.



Exercise 3. Translate the following sentences into Ukrainian paying
attention to the Absolute Participle Complex in bold type.

1. Some atomic power stations having been built all over Ukraine,
many scientists are worried about the ecological situation. 2. The working day
being over, the city transport was overcrowded. 3. They all went away, he
remaining at home. 4. All the problems having been solved, they stopped the
discussion. 5. Nobody being on the highway, he was driving his car very fast.
6. The experiment having been made, everybody was interested in the results.

Exercise 4. Translate the sentences with the Absolute Participle Complex
in bold type paying attention to its position in the sentence.

1. The meeting being over, we went home. 2. The question being too
difficult, no one could answer it. 3. The translation of the text being ready, 1
shall show it to you. 4. Her brother being ill, she could not go to the institute
that day. 5. The vacation being finished, we began our studies. 6. We had six
lessons yesterday, the last being in English. 7. There are some pictures in this
book, one being the map of England. 8. Radio was invented in Russia, its
inventor being the Russian scientist A. S. Popov. 10. The experiment having
been carried out, we decided to have some rest. 11. To translate this text
without a dictionary is difficult for him, the text containing too many new
words. 12. The work having been completed, we went home. 13. The
equipment having been received, we began the experiments from the very
beginning. 14. The dictionaries having been brought, they began translating
the text.

Exercise 5. Translate the following sentences into Ukrainian paying
attention to the Absolute Participle Complex.

1. Industry is a single complex, its constituent parts being closely
interwoven and interlinked. 2. All preparations being made, they started the
experiment. 3. The day being warm, we opened the windows. 4. Weather
permitting, we shall be able to get there on Monday. 5. The article deals with
microwaves, with particular attention being paid to radio location. 6. With the
experiments having been carried out, they started new investigation. 7. The
speed remaining constant, the train will cover this distance in seven hours. 8.
Mass being a physical concept, we define it in terms of certain laws of physics.
9. An object moving with constant velocity, the distance traveled is directly
proportional to the time. 10. Electric appliances find wide application in every
home, a microwave oven being one of them. 11. The motor having been tested,
we began to use it in our work. 12. All the substances are made of molecules,
molecules being made of atoms. 13. The experiment has been completed, good
results having been obtained.



Exercise 6. Translate the following sentences paying attention to the
Absolute Participle Complex.

1. Today the atom is regarded as an electric system, the nucleus being in
the center of it. 2. Some of electrons (having been) lost, the atom has a positive
charge. 3. The atom containing an equal amount of protons and electrons, it is-
electrically neutral. 4. The problem being very simple, everybody understood it.
5. Electrons moving through a wire, electrical energy is generated. 6. Atoms
contain various fundamental particles, an electron being one of them. 7. The
laboratory (being) equipped with modern instruments, important experiments
can be made. 8. Metals being good conductors, they are often used in power-
engineering, copper being one of.them. 9. The voltage (having been) measured,
the students started the experiment. 10. Electrons moving in one direction, an
electric current results.

Exercise 7. Translate the following sentences into Ukrainian paying
attention to the Absolute Participle Complex.

1. The e.m.f. being unidirectional, the current is called direct. 2. The force
changing its direction periodically, the current is known as alternating. 3. All
other factors being constant, the current is -directly proportional to the
conductivity. 4. The e.m.f. driving the electrons, they are moving along the
circuit. 5. One coulomb passing the point in a circuit per second, the current
strength is 1 ampere. 6. An electric current is a quantity of electrons flowing in a
circuit per second of time, the ampere being the unit of measure of current. 7.
The force being doubled, the rate of electron flow is doubled. 8. An electron
leaving the surface, the metal becomes positively charged. 9. All metals are
conductors of electricity, their conductivity ranging from silver which is 1.06
times as effective as copper, to steel which is only about 0.1 times as effective as
copper. 10. The speed of electrons being extremely great, we cannot measure it
by ordinary methods. 11. There exist various kinds of light, each corresponding
to some definite colour.

Exercise 8. Pay attention to the Absolute Participle Complex in the
Jfollowing sentences and translate them into Ukrainian.

1. Electrical energy being released, a force called electromotive force is
developed. 2. An e.m.f. is present, whenever free electrons are moved from
atoms, any of the above-named methods being used to produce such electron
motion. 3. This charge being always negative, the e.m.f. is indirectional. 4. The
transmitter is connected in series with its power supply and receivers/indicators,
these devices being situated at the receiving end. 5. If this is not provided for,
electrons will acumulate at the end of the wire, their repulsion back along the
wire stopping the current flow. 6. There are two general methods by which a

=3

Fo



continuous supply of electrical charge is obtained, one being by means of a
battery, and the other being by means of an electric generator. 7. The cell being
charged, a certain quantity of electricity is passed through it.

Exercise 9. Find the Absolute Participle Complex in the following
sentences and translate them into Ukrainian.

1. The laser beam being off, the energy for the next flash is building up. 2.
White light is a mixture of all possible wavelengths, all of them being out of
step with each other. 3. All the waves in a laser beam having the same
wavelength, it has a very definite colour, the red colour being one of the most
widely seen colours in them. 4. An ordinary beam of light diverges, laser beam
carrying its energy in a compact form. 5. In the metric system the unit of
distance is the meter, other units of distance being obtained by multiplying the
meter by ten or a multiple of ten. 6. Light from an incandescent gas at low or
moderate pressure passing through a diffraction grating, its spectrum consists of
several coloured lines on a black background. 7. Kinematics being the study of
motion, we study in it position, velocity and acceleration. 8. The corpuscular
theory being discovered at that time, it could explain the formation of shadows
by opaque objects.

Exercise 10. Translate the following sentences paying attention to the
position of the Absolute Participle Complex.

1. The temperature of the material rising, the movement of its molecules is
speeded up. 2. The new method having been studied in detail, the committee
decided to introduce it at nearly all the plants. 3. The pressure removed, the air
springs back to its original volume. 4. The two propellers turn in opposite
directions, one being on the hollow shaft and placed slightly ahead of the other.
5. Electrical energy being released, electromotive force is developed. 6. This
field can be detected by electroscope, the strength being measured by an
electrometer. 7. The device having been carefully tested, it was put into
operation. 8. The calibration is not appreciably affected by small changes in
anode or filament voltage, permissible tolerances being indicated upon the
instrument.

Exercise 11. Translate the Absolute Participle Complexes into Ukrainian.
Mind their position at the beginning of the complex sentence.

1. All other conditions being equal, friction will vary directly with the
weight of the object; the heavier the body, the greater will be the friction. 2. The
equipment having been received, we began the experiments from the very
beginning. 3. Our laboratory having been built, we could continue our research
work there. 4. The speed of light being extremely great, we cannot measure it by

led



ordinary devices. 5. The satisfactory measurements having been obtained, they
could finish their research. 6. The gas being colorless, we did not notice its
formation. 7. Copper being a good conductor of electricity, it is widely used in
electrical engineering. 8. Our laboratory being supplied with different new
‘instruments, the students can do their practical work there. 9. Knowledge being
the most valuable wealth of our times, the information theory became of great
importance for the national economy. 10. The computer electronic memory
recording all the operator’s commands, the picture of deviations was produced.
11. The latest developments of science and technology having been applied, we
could improve the production quality. 12. It should be noted, that this prism
disperses white light into its component colours, the band of colours in the prism
being an example of the dispersion of white light. 13. Zink being the cheapest
metal with a strong tendency to lose electrons, we commonly use it for the
production of electric current. 14. The gas being compressed, the number of
molecules in each cubic centimeter is increased. 15. Temperature remaining the
same, the volume of a gas varies inversely with the pressure. 16. Automation
having been firmly established in space research, our spaceships employ
automatic instruments in the study of cosmic space. 17. Natural radioactivity
having been discovered, many scientists became interested in it.18. Radium
having been discovered, scientists found that effects produced by it were caused
by the break-up of its atoms. 19. Many technical and scientific problems being
solved by our scientists, the first spaceflight could be realized. 20. With the
various parts of the system clearly defined, the stability critetia can be used with
full confidence. 21. When heat is applied at one spot, copper being a very good
conductor, it is rapidly transferred throughout the whole mass. 22. The data
being reliable, you can rely on them. 23. The theory having been discussed, they
could proceed to practice. 24. The laboratory being provided with necessary
instruments, they could carry out the work successfully. 25. Liquid lubricants
evaporating in vacuum, scientists developed solid lubricants for space
engineering. 26. The direct current circuits of a stage being separated electrically
by capacitors or transformers, this makes it possible to have a common direct
current source for all valves of the amplifier. 27. A bar magnet being placed in a
uniform magnetic field, a moment of force will produce rotating of the bar to
line it up with the field. 28. The anode being maintained at a positive potential
with respect to the cathode, the electrons are attracted to it. 29. The electric
current passing through the device, we can measure light intensity incident on

the cathode.

Exercise 12. Translate the Absolute Participle Corﬁplexes which are
placed at the end of the complex sentence into Ukrainian.

1. The balanced state may be obtained by adjustment of the potentiometer,
the release of the battery key discharging the capacitor after each trial
adjustment of the potentiometer. 2. It is well known that conductors will emit
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electrons from their surface if there exists a potential gradient at their boundary
of the order of 10° volts per cm, this phenomenon being known as cold
emission. 3. Electrons may be emitted from certain materials when they are
subjected to rays of light energy, this occurrence being known as photo-electric
emission. 4. The heater filament is a tungsten wire loop placed inside the tube,
the loop being coated with an insulating material such as aluminium oxide
which is not affected by heat. 5. When the potential at A is sufficiently positive
with respect to that at point B, a current I amperes flows through the valve into
the load resistance R ohms, the current magnitude depending upon the voltage
across the diode and upon the value characteristic. 6. The single diode circuit of
fig 13.5 rectifies only alternate half-cycles, the other half-cycle being
suppressed: it is termed a half-wave rectifier. 7. In this arrangement two diodes
are connected in anti-phase, one valve rectifying the positive half-cycles and the
other the negative. 8. Grid current is produced under certain conditions when the
grid is positive to the filament, some of the electrons on their way to the anode
being attracted and absorbed by the grid. 9. The various forms of feedback
oscillator depend in principle on the continuous transfer of energy from the
anode circuit to the grid circuit, the latter in turn controlling the energy in the
anode circuit. 10. Oscillation always tends to occur in a high-frequency
amplifier, the energy being fed back due to the self-capacitance between the grid
and the anode. 11. Various methods are adopted to prevent this undesirable
occurrence, a screen grid valves being usually employed. 12. Two different
modulation methods are in general use, (i) amplitude modulation (AM) in which
the amplitude of the carrier current is varied by the modulating frequency, the
carrier frequency remaining constant, (ii) frequency modulation (FM) in which
the carrier frequency is varied by modulating frequency, the amplitude of the
carrier wave remaining constant. 13. With the grid modulator the audio-
frequency. signal is applied to the grid of a value in series with the carrier
voltage of constant frequency, both alternating voltages being applied through
the transformer. 14. The audio-frequency input is fed to the grid of the low-
frequency amplifier or modulating valve V2, the anode current for this valve
being derived from the same ht. source. 15. The voltage under test is then
applied across the input terminals to the grid circuit: the rectified current gives a
direct reading in volts, the scale having been previously calibrated against a
standard instrument. 16. The bridge circuit generally used for this purpose is
shown in fig. 13, R being the load resistance. 17. When B is positive to A the
conditions are reversed, rectifiers 3 and 4 being in the conducting direction with
rectifiers 1 and 2 not conducting. 18. A transformer is shunted across the line
circuit, the secondary winding being closed with the rectifier networks A and B.
19. The process is repeated indefinitely, the potential on the anode rising
gradually and collapsing almost instantaneously, producing what is termed a
“saw-tooth” waveform. 20. The far end of the glass envelope is flattened to form
a viewing screen, the inner surface being coated with a fluorescent material.
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21. The valve is usually a voltage-operated device: the transistor is current-
operated, the emitter-base voltage being always small. 22. The indium pellets
are used, one containing gallium (emitter) in solid solution and the other
containing antimony (or arcenic). 23. The operation of this switching rectifier is
extremely fast, turn-on and turn-off being measured in microseconds. 24. A
magnet being broken into two, two complete magnets result, two new poles
appearing at the fracture. 25. If the temperature is increased the molecules are
given additional speeds, more of them breaking through the surface of the liquid,
thus increasing the vapor density. 26. Matter is said to exist in four states: solid,
liquid, gaseous and plasma, the latter being a hot ionized gas. 27. The scientists
have made a number of experiments, some of them being very important for our
work. 28. Voltage amplifiers mostly operate in class A, power amplifiers also
operating in other classes. 29. Each stage introduces some distortion in the
signal being limited, this placing a practical limit on the number of stages. 30.
The efficiency of a class A amplifier is not above 25%, it being able to attain
80% in class C.

Exercise 13. Translate the following sentences paying attention to the
Absolute Participle Complex.

1. Some electrons having been lost, the atom has a positive charge. 2.
Every electron emitted from a body having a minute negative charge, the space
outside the body becomes negatively charged. 3. The properties of the three
types of electron emission are given in the table, it being the result of vast
investigation and profound studies. 4. The triode is normally operated under
space-charge limited conditions, an electron cloud ferming close to the cathode
surface. 5. The control electrode is maintained at a potential equal to or negative
with respect to K, the anode being maintained at high positive potential. 6.-All
types of valves can be used as oscillators, the triode being the most commonly
employed. 7. Consequently this electron tube acts as a rectifier, the plate being
the anode and the heated filament the cathode. 8. The phenomenon is called
secondary emission, the emitted electrons being secondary electrons. 9. In fact
the emitter is said to inject holes into the semiconductor, the emitter current
being composed of electrons. 10. The grid being made less and less negative, the
plate can move easly to attract electrons and plate current increases. 11. There
being two pairs of mutually normal plates, the electron beam can be deflected in
horizontal and vertical planes. 12. These positive ions destroy the space charge
near the cathode, the current flowing through the valve freely. 13. The first type
is called a filament cathode; the second is known as a heater cathode, the
filament merely acting as a store or heater. 14. The solution is made somewhat
more complex due to the close proximity of the grid wires to the cathode, the
effect of the grid being the greatest at those parts of the cathode close to the grid
wires.
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6. TEPYH/IIA
(THE GERUND)

Tepynziit — e HeocoGoBa dopma miecnosa i3 3aKiHYEHHAM -ing, W0 Mae
BIACTHBOCTI Ai€C/IOBa # iMEHHHKA.

Sk i indiHiTHB, repymnill HasuBae niro: reading wumanns, listening
CRYXAHHA.

B ykpaiHchKiii MoBi HeMae Qopmu, Aka Binosifana 6 repynniio. Cnosa
yuManHA, CIYXaHHA — IMEHHWKH, IO YTBOPHIHMCH Bifi Ji€CIIB, ale He MaloTh
rpaMaTHYHMUX 03HAK AI€CIO0BA.

6.1 [TiecnisHi BracTuBoCTi repynis

[epyHpi#t Ma€ Taki AieciiBHi BIACTHBOCTI:

1. TepyHniil mepexifiHuX Ni€CHiB BXHMBAETLCA 3 IPAMUM JKOATKOM:

I like reading books. 51 10610 YMTATH KHUKKH.
She began preparing foed. Bosa novana rotyBsaTtH ixy.

2. Tepynaiit MoXe MaTH O3HAYEHHS, BUPAKEHE IPUCITIBHAKOM:

They continued listening Bouu nponoBxyBaiu yBaxHO CyXaTH.
attentively.

3. Iepyuniii Mae HeosHaueHy # neppextHy GopmH, BKMBAETHCS B
aKTHBHOMY 1 macuBHomy craHi. 3a Qopmoro repyHaif 3biraereca 3
BiamoBiaHEMK Gopmamu Present Participle.

Tpo GpopMu repyHis JUBUCH CXeMy 6.1.

6.2 IMenHMKOBI BJIaCTHBOCTI repyHis
[epyHiiif y pe4eHHI BHKOHYE TaKi BaCTMBI IMEHHHUKY CHHTAKCHYHI QYHKLUIT:

1. llipmera: .
Smoking is harmful. TManuTy — LIKiTHBO.

2. [TpenuxaruBa: .
Horo ymob6nene 3aHaTT —

His hobby is collecting . .
KOJIEKLIIOHYBATH MOINTOBI MapKH.
stamps.
3, lonarxa (npsAMoro i
NpUHMEHHHKOBOTO):
He likes talking to me. Bin mo6UTh PO3MOBITH 3i MHOIO.
She is fond of painting. Bona m06uTs MATIOBATA.
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Kpim Toro, repyHaiil Mae 111 Taki iMCHHHKOBI BNaCTHBOCTI:
1. Tlepen repyHmicM MOXe BXHMBaTHCA MPUAMEHHHK, IO BITHOCHTHCS 1O
HBOTO:
Nobody thought of going Hixrto i He AyMaB NraTH crnaTu.
to bed. (Gaskell)

2. Tepen repyHaiem, siK i nepex iMEHHHKOM, MOXe BXUBATHCS IIPUCBIAHHH
3aiiMEHHHKK 260 IMEHHHK Y IPUCBIAHOMY BiIMiHKY:

Don't fear my forgetting He Giiitecs, 1o 5 3abyay ii.
her.

Would you mind my Bu He 3amepeuyeTe, AKILO i
opening the window? BiI4MHIO BIKHO?

I insist on my sister's 51 HanoyAraw Ha Tomy, 1100
staying at home. MO CecTpa 3ajlHLIuIacs BAOMa.

Tlpo byHKUil repyHais 3 ypaxyBaHHSM BIaCTHBOCTER AieciioBa H iMcHHH-
Ka JUBHCH cxemy 6.2.

6.3 BixuBaHHS repyHais
[CepyHaii — eauHa niecniBHa Qopma, nepel SKOK MOXE BXKUBATHCS
npuiimennnk. TOMy repyHOi#l BiuBacTsCS Nicis Ai€ciiB, NPUKMETHUKIB i
BHpa3iB, AKi BUMaraioTh JOAATKa 3 MPUAMEHHHKOM:

Thank you for telling me. JIsKyto, 110 BY cKa3allk MeHi.

She could not keep from Bosna He Moria cTpuMaTHcs, 1ob He
crying. 3arulaKaTy.

I am fond of reading. A mobmo yuTaTH.

[Ticns aesxux miechis repyHzii BkuBaeThes 6e3 npuiimennuka. Cepen HUX
€ TaKi, mcld SKMX MOXe BXHMBATHCA TINBKY FepyHAiH, Ha BiAMIHY Bif iHIIMX,
SKi MOXYTB BXMBaTucs | 3 repyHjiem, i 3 indinitupom. icns Takux aiecnis
BIKUBAETHCH TUIBKA MepyHIIN:

1. to avoid ynuxamu; to finish zaxinuyeamu; to suggest npononysamu; to
leave off, to give up nepecmasamu wocv pobumu; to go on, to keep on
npodoexcysamu; cannot help e moxcy ne (pobumu wozocy). B yxpaiHchbkil
MOBI T1ic/1 BiAOBIAHUX Ji€CHiB BXUBAEThCS 1HPIHITHB!

We finished dressing.  Mu 3akiH4nIM ofgraTucs.

They went on eating. BoHU npoxoBXyBaIH iCTH.

I cannot help asking. 51 He MOXY He 3allUTaTH.

2. to enjoy ompumysamu 3adosonenns, naconody; to excuse, to forgive
subauamu; to put off, to postpone sidxradamu; to delay zampumyeamu;
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BHHELHh
"OIONIOUIILIHE HiBlHR 9dQOoY — BLOW IRl WOMXHHHOW!
‘119Mm ysiSug Suipeal st wie InQ WosHLIHIDH! edrAondi O10OHHINW!
O.JOHAIBINO BEHHLOBh
' ‘OHOHdOX BHHE1HE WOMHHHOW]
_ ‘oHOUdON HLelH|, WOogHLIIIDH] LOWXTI

‘[ngasn s1 Juipesy | poaLderelniada)|
reraadai odon e BITHAdaI NIHAD 7'9 BWAX))
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gidknadamu; to fancy ysenamu (& oxnuunux pexennax); to mind sanepeuysamu
(691CUBAEMBCA 8 RUMANLHUX | 3anepeyHux peyennax). B YKpaiHCHKii MOBI micas
Bi/IMOBiAHUX I€CTiB BXMBAETLCSA IMEHHHK a00 MiAPALHE PEUCHHS:

1 don't mind telling you. 51 e mpoTH TOrO, 06 PO3TIOBICTH BaM.
( Dickens )
Fancy going for a walk in Y 4BiTh cO6i NPOTyNsAHKY B TaKy IOTOxy!
such weather!

3. to want, to need, to require nompebyeamu. Tlicna umx nieciiB
repyHMi#f BKMBAETHCS B AKTHBHOMY CTaHi 3 TaCHBHHM 3HAUECHHIM. B
YKpaiHCBKiH MOBI MiCNs LMX JI€CNiB BXHMBACTECH IMEHHHK abo indinHiTHB Yy
noeaHanHi 3i cnoBamu Tpeda, morpiGHo:

The house needs BynuHOK noTpebye peMOHTY
repairing. (Tpeba BipeMOHTYBaTH).

Tepynniit a6o indinitne BxuBaetscs micna Aiecnis to begin, to start
nouunamu; to continue npodosicyeamu; to propose sanponorysamu; to like
n06umu;, to try namaeamucs; to refuse eiomoenamucs (WOCH 3pobutn); to
intend mamu namip; to forget 3abysamu, to prefer sidoasamu nepesazy:

The ¢hildren began playing. JliTi mouanu rpaties.

Then they began to whisper. Toni BOHH MOYalH TOBOPHTH TOMIENKH.
(Gaskell)

She continued sitting BoHa NpozioBXyBaNa CHIITH HEPYXOMO.
motionless. (Gaskell)

He continued to live with BiH DposoBXKyBaB XHTH i3 CBOIMH

his parents. (Hornby) OaThKaMu.

V Jesxux BHTAJAKaX 3HAYEHHS JI€C/IOBa 3MiHIOETBCS 3aN€XHO Bil TOTO, 9H
BXKHMTO BOHO 3 iHiniTuBOM 4n 3 repynaiem. Tax, aiecnoso to stop y IO€IHAHHI
3 repyHiEM 03HAYa€ nepecmamu wocs pobumu, a 'y noeAHanHi 3 iHdiHiTHBOM
— 3ynuHumucs, wob uoce 3pobumu:

They stopped reading the Bowy nepectany 4uraTy 00'18Y.

notice.

He stopped to read the Bin 3ynuHUBCH, W06 NpounTaTH 06'BY.
notice.

[epyHniii BXUBAETbCA K 6€3MPUAMEHHUKOBHHA NONATOK 10 IPUKMETHHKIB
like cxoorcuii, busy sasinamuii, worth eapmuii:
She was busy translating Bona 6yna 3aiiHsTa NEPeKnafoM CTaTTi.
the article.

n
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They were not worth Ha nux He BapTo 6y/10 IMBATHCS.
looking at.
I don't feel like working. VY MeHe HeMa HaCTpOIO IIPaLFOBaTH.

U'epynpi#i  BwwuBacTecs y  ¢yHKuil o3smaueHHs (Haituactime 3
npuiiMeHHIKOM of ), 1110 cToITh micns 03HauyBaHOTO IMEHHHKA:

She had come with the in- Bona npuitiuna 3 samipoM ckasaTu csoe
tention of saying something pimeHHs.

definite. (Galsworthy) .

You have always been in Bu 3aBXI# May 3BHYKY JaBaTH it
the habit of giving her play- irpauku.

things. (Bronte)

I'epyHniit Ges mpuiMeHHHKa BXMBA€TBCA B POJI O3HAYEHHS, IO CTOITH
nepes  O3HaYyBaHMM IMEHHMKOM | BHpaxac NpU3HAauYeHHS mpeaMeTa,
TI03HAYEHOTO LIHM IMEHHHKOM:

writing-paper  nanip ona nucoma
dancing place  micye dna manyis

Y Takiit jxe no3uuil B poili 03HaYEHHs BXUBAETHCH i Present Participle. Axe
Ha BIAMIHY Bif repyHuis, menpnxmemux TENEPillIHBOTO Yacy BUpaXae He
NPUSHAYEHHs Npe/iMeTa, a Aito, AKy BHKOHYe ocoba a6o mpeamer, BHpaxeHi
03H49YBaHHUM IMEHHHKOM:
a dancing girl - niBuuna, o TaHLOE

I"epyﬂnm 3 NpHAMCHHHKOM BXHMBAEThCA B (yHKUii o6GCTaBuH (dacy,
croco0y aii Ta in.):

They ate without talking. Bonu inu, He po3MOBIAIOUH.
Upon reaching the park [puiimoBwmy 10 napky, Bin

he waited and waited and 4eKaB i yekas, a Keppi He npuxo-
Carrie did not come. (Dreiser) Jna.

Y poni 06CTaBHH 3 TAKMM CAMHM 3HAYEHHAM BXUBAETECH | Ai€PHKMETHHK
TenepilHboro yacy. Ane Ha Bl}IMlHy Bill repyHzis, AKOMy B Uil ¢yHkuii
3aBXIH Nepenye NpUAMEHHHK, TieNMPUKMETHHUK Teneplmﬂsoro gacy HiKOJIH He
BXUBACTHCA 3 NPUHMeHHUKOM. ToMy B peueri On coming home he began to
work cnoBo coming - repyuziii, a B pevenni Coming home he began to work
Coming € fienpuxkMeTHUKOM, X0Y OOHABA DEYEHHT Ha YKPaiHCHKY MOBY
TepeKIIanatoTCA OHAKOBO — [Iputiuiosuiu 0000My, 8iH HOuYaGs npayeamu.

Ipo nepexnan repynnis 3 npuiiMeHHMKaMH THBHCH cxeMmy 6.3.
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Cxema 6.3 Iepexnaj repyHais 3 BpUiiMEHHUKAMH

by
3A, 3A JOTIOMOT 010, HUTIXOM+
+IMEHHHK ABO JIETTPUCIIBHUK

He achieved these results by raising temperature.
BiH mocsr Uux pe3ysbTaTiB 3a JOIOMOro
[iIBHUIUEHHS TEMIIEPATYPH.

on

TICJIA + IMEHHMK ABO JIE€TTPUCTIIBHYK
JOKOHAHOI'O BULY

On returning home he began translating the
text.

+ | TEPYH/IIN | ToBepnyBmuck noaomy, Bik nodas

nepexnanaty Tekct. ( Micas noseprenns )

[TIJ1 YAC + IMEHHUK ABO
JICTTPYCITIBHUK
in In translating the text he used the dictionary.
Tix 9ac mepeknagy TeKcTy ( IepeKxaanalys
TEKCT) BiH KOPHUCTYBaBCS CIOBHHKOM.

BE3 + IMEHHUK ABO 3ATIEPEYHA
®OPMA HICTIPUCJIIBHMKA
We understood the article without translating
it.
Mu 3p03yMisH CTaTTIO, He NEpeKiiafiatoyy
without ( 6e3 mepeknany ) ii.

6.4 KomniexcH 3 repyHaiem

Tepyuziii y pedeHni MOXe BiJHOCHTHCH JIO Timmera a6o noparka. Tak y
peuenni He stopped working and smiled Bin npununue pobomy i ycmixuyecs
nisi, BUpaxceHa repyHAieM (working), BiTHOCHTECS 110 MiAMeTa (BiH NpaLioBas, a
NOTIM IPUIMHKB poboTy).

Y peuenni I don't forgive you for being late for dinner 4 ne npobauaio eam
moz0, wo 6u 3anizHunucs Ha obio repyHiiif BifHOCHTBECA 1O AoOjJaTKa. Ane

ne
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repyHIili MOXe TaKoX BIJIHOCHTHCS 1O iMeHHHMKa ab0 3aHMEHHMKa, IO HE €
migMeToM UM JogaTkoM pedenHs. Llei iMeHnuk uu 3alimeHHHK (CyG'exT
repyH/is) 3aBX/H CTOITh Nepell TEPYHMIEM | [I03HaYa€E ocoby a6o npeaMer, wip
BUKOHYe fit0 abo 3a3Hae [ii, BUpaXkeHOI repyHIieM. Toenuauus repyHzis 3
TaKdM IMEHHUKOM 260 3aiiMEHHHKOM CTAHOBHTH TepyH/IiaIbHMI KOMILTEKC:

Don't fear my forgetting - He 6iitrecs, 1o g 3a0yxy Bally JONOMOTY.
your help. (Gaskell) :

Ilepura yacTUHa TepyHIIANBHOTO KOMILIEKCY — IMEHHHK Yy TIPACBIHHOMY
4y 3aranbHOMy BimMiHKy ab6o npucsifinmit salivennuk. Jlpyra 4vacTiHa-
repyHuiit, o BHpaxae Jit0, 5Ky BUKOHye abo sikoi 3a3Hae ocoba 4 Tpeamer,
T03HAYeHHH MepIIOI0 YaCTHHOIO KOMILIEKCY:

They were afraid of my Bouu Gossucs, 10 1 B3HAIO IIpaBAy.
finding out the truth. (Dickens)

They told us of Peter's Boun ckasamu HaM, o Ilerpo
coming there. NIPAXOAMB TYLAH.

Sxm0 iMEHHMK, [O SAKOTO BIHOCHTBCH TepyHIiH, HE BXHBAETHCH - B
NPUCBiAHOMY BIAMiHKY, BiH CTaBMTECS Tepeld TePyHRIEM y 3araibHOMY
BiIMiHKy, aje NpM 3aMiHi HOro 3aiMEHHHKOM BXKUBAETBCH, AK IPABUIO,
npuceiitunii 3aiiMeHHUK:

I hadn't much hope of his V meHe 6yno maino Hafil, o #oro
plan working. (Braine) 1aH Oyne ebeKTHBHAM.

I hadn't much hope of its Y Mmene 6yno Mano Hafil, 1o BiH
working. (nnan) Oyne eheKTUBHUM.

IMGHHHK y 3araibHOMy BiIMiHKy Moxe OYTH IMepIIOI0 HaCTHHOK
repyHJianbHOTO KOMIUIEKCY, HaBiTh SKIIO MeH IMEHHHK B3araimi Moxe
BKMBaTHCS B TpHcBiiiHOMy BiaMminky. IHo;i rmepumiolo  YacTHHOMO
TepyHianbHOrO KOMILIEKCY Moxe OyTH TaKox ocoboBuit 3aliMEHHHK B
06'€XTHOMY BiIMIHKY:

1 remember his sister "~ Tlam'srato, 10 HOro cecTpa
taking part in the concert. Gpaa y4acTs y KOHIEPTI.

1 do not like him going Meni He mogo6aersbes, WO BiH
there. iine Tynu.

TepyHmianbHuil KOMIIIEKC CTAHOBHTH ONMH CKIAAHUA HNIEH PEHEHHSA iB
pedeHHi Moxe OyTH:
a) MiIMEeTOM:



Your coming here is very Bam npuisx cronu fyxe GaxaHHi.
desirable.

6) nopatkoMm (Ge3npUiiMEHHUKOBHM | IPUHMEHHUKOBHM):

Forgive my saying it. Bubaure, 110 f cKasana ne.
I insist upon your staying. 51 HanosATa10 Ha TOMY, OO BR
3QTUITHITUCE.

B) O3HA4YEHHSM:

I don't know the reason 51 He 3Har0 MPUYUHH BAMOro Bix'i3my.
of your leaving.

I) 06CTaBHHOKO:

I entered the room without 51 BBiii1ina qo KIMHATH Tak,
his seeing it. L0 BiH 1 He No0ayuB LBOTO.

ITpo mepexnan repyHAianbHUX KOMIUIEKCIB AUBUCH cxeMy 6.4.

6.5 T'epynpiii i BinniecaiBamii iMenHuK

BigniecniBupi imennuk (the verbal noun)— ne iMeHHHK, yTBOpeHHH Bix
niecnoBa 3a JONOMOrox 3akiHueHHd -ing. Ha Bigminy Bixg repysxuis
BigniecyiBHMA {MEHHUK He Mae HieCHiBHUX BIACTHBOCTEH, a JIMIUE BIACTHBOCTI
IMEHHHKa:

a) BimmiecHiBHMM IMEHHMK MOXKE BXHBATHCS 3 apTHKIEM, BKa3iBHUMH i
NpUCBifHAME 3aliMeHHMKaMu i Mae ¢dopMmy MHOXuHH: the sittings of the
commission 3acidanns rxomicii; the making of a new outlook gopmysanna
Hogozo ceimoznady; our likings are regulated by the circumtances wawi
ynooobanna kepyromscs obcmagunamu;

©) BimmiecnmiBHHI IMEHHHK, YTBODEHHH BiJ MepexifHuUX [iecriB, He
BXKUBA€ETECS 3 IPAMHM JOJATKOM; BiH NpHiiMae KoaaTox 3 npuiiMenHHkoM: the
raising of living standard nidsuwyenns soicummesgozo pisns,

B) BimgiecnmiBHMM IMEHHHMK O3Ha4yaeThcsi NpPUKMETHHKOM (a He
NPUCIIBHUKOM, SIK FepyH/il Ta inmi aiecniBHi dopmu):

I like rapid reading. MeHi mogo6aeTbCs IIBUAKE YHTAHHSA.
Fast driving was dangerous HIsuaka i3na 6yna HeGesneyHo0
in this region. B LbOMY pETiOHi.
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Cxema 6.4 Hepexnaa repyHsiajbHHX KOMILIEKCIB

IepexnamaeTbcs, fK  OPaBHIO,
HOiIPAAHUMH PEYEHHAMM, IifMeT
AKUX BigmoBigae  IpHUCBiHOMY
IMenHEK ( -'s ) 3afiMeHHHMKY ab0 iMeHHUKY B
“TIPUCBIAHUHA npUCBiHOMY BiZMIHKY, @ HPHCYIO0K
3aliMEHHHK -FepyHAil0 LIBOro 3BopoTy. Bubip
THIy NiAPSAHOTO  pedeHHs  IpU
nepeknafi 3a1eXHUTb BiXl TOTO, SIKUM
YWICHOM PEYeHHS € repyHaii.

1. lepynuiit —> noxgartok:

We know of his studying English.

[Tigmer [Hpncynox l

Mu 31aemo, WO BiH ( NPo Te, 1O BiH ) BUBYAE aHIIIACHKY MOBY.
2. Tepyuniit ) migMer:

Freud’s having devoted his life to psychoanalysis is known to everybody.

[Tigmer Tpucynox

Te, mo Mpeiif IPUCBATHB CBOE XUTTS IICHXOaHai3y, BiIOMO BCiM.

6.6 T'epynpiii i nienpuxkmeTHuk B pyHKuii obcraBuHn

3BepHiTh yBary Ha MOXUIMBICTh OJTHAKOBOTO NEpPEKIIajly FepyH/lis i AienpHk-
MeTHHKa B poJii 06CTaBHHH Yacy i cnocoly il (repyHaito B nux QyHKUiAX
060B’13K0BO Iepenye NPUAMEHHUK).

In copying ITpu crucyBaHHi 1ILOTO TEKCTA
(gerund) this text he (nepenucyioun ue#t TEKCT), BiH
Coping made a few 3poGHB AeKinbKa ITOMMIIOK.
(participle) mistakes.

ner
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On receiving R Ilicast OTpAMaHHA TeerpamMy

(gerund) my telegram (oTpHMMaBILIY TeNErpamy) BiH 0fipasy
Receiving he answered BIAIOBIB.

(participle) at once.

Having received

(participle) )

After finishing 7 the experiment  ITicas 3aKiHueHHS fAociAy (3aKiHYMB-

(gerund) they discussed M JOCTiL) BOHH OOrOBOPHIH
Having finished the results. pe3yNBTaTH.

(participle) 5

By reading (gerund) YuTarouu Brojioc KoxeH
aloud every day you will improve JeHb (1OJeHUM YUTaHHAM
Reading (participle) your pronunciation,  Brosoc; TuM, o Gynere
aloud every day YUTATH BrOJIOC KOXKEH JICHS),

BU NOKpAllUTE CBOIO BUMOBY.

Without + gerund nepexiafaeThcs Ha yKpaiHCbKY MOBY 3allepe4HOI0
(hOpMOIO i€npUCITiBHUKA.

He left without saying goodbye. Bin niwos, He cka3apumy > 10 nobadenHs’”’
(He TONpPOINABILINCE).

You will not be able to translate Bu He 3MoXeTe TIEPEKIacTH L0 CTATTIO,
this article without knowing He 3HAIOYH LUX NpaBull.
these rules.

OpHak 3 yKpalacekoi MOBM Ha aHI/iiceKy 3anepedHa ¢opma
Ji€npUCITiBHAKA aKTHBHOTO CTaHy NepeKiafacTbes pisHuMA cnocobamu. Sxumo
YKpaiHCHKHA AI€IPHCIIBHMKOBHH 3BOPOT He 3HAIOWH, He NPOYMTABIIM €
06cTaBUMHOK Ccocoby il (BiAMOBiNaKOYM HA NUTAHHA AIK, IKAM crocobom?),
BiH MepeKIaiacThesl Ha aHTIIACHKY MOBY repyHIieM 3 npuitMenHuKoM without.
Skmo Takuil JIENPHCTIBHHUKOBUA  3BOPOT ¢ 0BCTaBHHOIO IIPHYUHH
(BiAMOBIAAIOYM HA MMTaHHsS YOMY?), BiH MEPEKIANAETECA Ha AHIMIHCBKY MOBY
RiETPUKMETHUKOM B 3anepedHiif gopmi.

BiH niios, He 3aKiHYMBLIH IO po6OTY He went away without finishing
Byopa (i npu nBOMY He 3aKiH4MB poGoty).  this work yesterday.

He 3akiguuBIm (OCKiIBKH BiH He Not having completed this work,
3aKiHuMB) 110 poGOTY, BiH HE Mir he couldn’t leave on Saturday.
noixary B cy6oty.
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Exercisel. Translate the following sentences paying attention to the difference
between the Participle and the Gerund.

PARTICIPLE - ERUND

1. Measuring the temperature 1. Measuring the temperature will
we used ... . helpyouin....

2. Increasing the length we 2. Increasing the length is necessary
change ... . in some cases.

3. Escaping from the cathode 3. Escaping will not begin till
electrons flow to ... . we heat the cathode.

4. Accelerating the particles 4. Accelerating can be made by
we direct them along ... . means of ... .

5. Using a strong magnet we 5. Using a magnet is not necessary
direct the particlesto ... . here . .

6. Finding this ratio we can 6. Finding the ratio is very impor-
derive... . tant in our case.

7. Heating this alloy we can 7. Heating increases the speed of
define... . - molecules.

8. Solving this problem he .8. Solving such problems helps us
discovered ... . greatly. .

9. Calculating the speed we 9. Calculating the speed will not
must ... . : : give us ... . .

Exercise 2. Define the functions of the Gerund and translate the sentences into
Utkrainian.

1. Solving physical problems is a difficult job. 2. His having solved the
problem surprised me. 3. Our aim is solving easy problems. 4. He likes solving
difficult problems. 5. I know of the problem having been solved. 6. The way of
solving the problem is not easy. 7. In solving the problem he made some
mistakes. 8. On solving the problem he proceeded to making experiments. 9. By
solving the problem he got the required results. 10. You cannot do without
solving this problem.

Exercise 3. Transiate the following sentences paying attention to different forms
of the Gerund.

1. Reading English books is necessary. 2. Speaking foreign languages is
of great importance -for every educated person. 3. Traveling into space has
always been one of the greatest dreams of man. 4. He began studying English
at school. 5. I like translating technical books from English into Ukrainian. 6.

- For ages mankind has dreamed of reaching the top of the world, the North Pole.

2



7. There are many ways of translating Gerund into Ukrainian. 8. He was afraid
of connecting this device into the circuit. 9. His task was using these materials
for constructing the device. 10. After studying theory we can begin
experimenting. 11. Before finishing the experiment we could not write the
report. 12. An instrument for measuring current is called an ammeter and for
measuring voltage a voltmeter. 13. The device for determining the direction is
called a compass. 14. Think before speaking.

Exercise 4. Translate the following sentences paying attention to different
« forms of the Gerund.

1. I know of his coming to Kyiv. 2. I know of his having come to Kyiv.
3. I knew of his having come to Kyiv. 4. I shall know of his having come to
Kyiv. 5. I do not like interrupting other people. 6.:1 do not like being
interrupted. 7. He remembers having interrupted you during your report. 8.
- He remembers having been interrupted by you during his report. 9. We were
tired of skating so long. 10. Everybody knows of his having written one book
and writing another. 11. We know of her having lived there many years ago.
12. Our aim is mastering English. 13. Mastering English is not an easy task.
14. He likes reading such kinds of books. 15. After finishing the experiments
the students left the laboratory. 16. I succeeded in having finished my work in
time. 17. They insisted on their being examined by the doctor. 18. He insisted
on this letter being sent today. 19. We objected to his being sent to London.

Exercise 5. Translate the following sentences paying attention to the translation
of the Gerund with prepositions.

1. On reading the article he decided to translate it into Ukrainian. 2.
Many specialists have taken part in liquidating the consequences of the
Chernobyl catastrophy. 3. Our engineer succeeded in creating a new device. 4.
You can master English by reading books and newspapers every day. 5. By
doing nothing we learn nothing. 6. She left the room without saying a word. 7.
We spoke about the difficulties of reading such books without.consulting the
English-Ukrainian dictionary. 8. As it was late she went away without waiting
i for me. 9. Experiments showed that all gases expand on heating. 10. On
carrying on one of his experiments, Faraday discovered electromagnetic
induction. 11. At the present time radio can be used in orientating the airplane
. .or in fixing the airplane’s position. 12. The teacher asked her students not to go
away without speaking to her.

Exercise 6. Translate the following sentences paying attention to the gerundial
complexes.

1. We are speaking of your friend’s having gone to the expedition. 2. His
being sent to the USA was very important for his work. 3. His being invited to
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take part in this conference is natural as evervbody knows of his having made
interesting experiments in physics. 4. The engineer told us about his having
been invited to that research institute. 5. Nobody knew of her having left for
the Middle East. 6. | remember having seen this film. 7. The director informed
them of the construction of the plant having been completed. 8. The new
device was put into mass production on having been carefully tested. 9. Our
engineer’s having constructed a new type of the electronic device was not
known to us. 10. The atomic theory not only succeeded in having introduced
the order into chemistry but it also took the first place in physics. 11. The
workers succeeded in completing the construction of the plant in time because
of their having introduced new methods of work.

Exercise 7. Make up five sentences from each table.

1 1 insisted on ! visiting that museumn.
| He/She ; objected to l doing morning exercises.
i We - agreed to : buying the tickets beforehand.
Yo  thought of { helping them.
: They succeeded in : learning the poem by heart.
-1 | suggested - playing hockey.
lle/She  finished ‘smoking.

We f couldn’t help - meeting them.
"You enjoyed ' learning English. - -
 They gave up  laughing.
- After . finishing school 1 ' decided to go there.
' Before ' coming home ‘he/she | had a short rest.
; On  recovering “we spe'ﬂ a week at home.

¢ getting there i they began to work.

leavmg for Kyiv i ' booked a ticket.

Exercise 8. Transform the sentences using the Gerund instead of the Inﬁniti\;}e‘

Model: My father began to work at this plant 20 years ago. —
My father began working at this plant 20 vears ago.

[. We continue to study English. 2. The children like to play basket-ball. 3. The
boy started to run. 4. His mother intends to spend her holiday in the Crimea.
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5. They preferred to get there by plane. 6. She tried to open the window but
couldn’t. 7. I have just begun to translate the text.

Exercise 9. Combine the sentences using the Gerund.
Model: You helped me. I thank you for it. —I thank you for helping me.

1. You gave me a dictionary. I thank you for it. 2. The woman showed me the
way. I thanked her for it. 3. You explained to us this grammar rule. We thank
you for it. 4. Ann passed me the salt. I thanked her for it. 5. Nick bought a note-
book for Pete. Pete thanked him for it. 6. He repaired my TV set. I thanked him
for it.

Exercise 10. Transform the following sentences using gerundial phrases instead
of the subordinate clauses.

A. Model: 1 think I’ll go to Minsk next week — I think of going to Minsk next
week.

1. I think I’ll go to the theatre tomorrow. 2. I think I’ll join them. 3. I thought I
would buy that coat. 4. Tom thinks he will play hockey on Saturday. 5. She
thought she would take a taxi. 6. We think we shall visit him in the hospital.

B. Model: After he finished school, he worked at a plant. — After finishing
school he worked at a plant.

1. After they passed their exams, they went to the Caucasus. 2. Before we
moved to this town we lived in Kyiv. 3. After she wrote the letter she went to
the post-office. 4. Before you cross the street you must look to the left and then
to the right. 5. I turned off the light before I left home. 6. We met him after we
walked about two miles.

C. Models: She insisted that she should go to the library. — She insisted on
going to the library.

She insisted that she should be sent to the library. — She insisted on being sent to
the library.

1. He insisted that he should show them the way. 2. He insisted that he should be
shown the way. 3. They insisted that they should help me. 4. They insisted that
they should be helped with their work. 5. [ insisted that I should examine them
in the afternoon. 6. 1 insisted that I should be examined first. 7. We insisted that
we should pass the exam before June. 8. He insisted that he should carry the
heavy case himself. 9. She insisted that she should be offered a better job. 10.
She insisted that she should offer them some money they needed.
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Exercise 11. Paraphrase the following sentences using the Gerund.

A. Model: 1 want very much to get a letter from you. — I am looking forward to
getting a letter from you .

1. T want very much to visit that exhibition. 2. She wanted very much to go to
the country. 3. He wants very much to be offered this job. 4. We want very

much to see this performance. 5. I want very much to be invited to the
conference.

B. Model: It gave me much pleasure to see this performance. —I enjoyed seeing
this performance. '

1. It gave me much pleasure to work with him. 2. It gave me much pleasure to
read this story. 3. It gave me much pleasure to play tennis. 4. It gives him much
pleasure to ride a bicycle. 5. It will give him much pleasure to listen to this
lecture. S '

C. Model: 1t is useless to learn rules without examples. ~ It is no use learning
rules without examples.

1. It is useless to invite her. She won’t come. 2. It is useless to grow tomatoes in
this region. The summer is too short here: they won’t ripen. 3. It is useless to
teach her to play the piano. She has no ear for music. 4. It is useless to go
shopping now. Most of the shops are closed. 5. It is useless to go to the theatre
now. The tickets are sold out.

Exercise 12. Transform the following complex sentences into simple ones using
the Gerund. -

A. Model: 1 am sorry that I trouble you. — Excuse me for troubling you.
1. 1 am sorry that I ring you up so late. 2. T am sorry that I turned on the radio
when you are working. 3. I am sorry that I came so late. 4. I am sorry that |

broke your pencil. 5.  am sorry that I went home without waiting for you.

B. Model: T am sorry that I did not tell you about it. — 1 am sorry for not telling
you about it.

1.1 am sorry that I did not help you yesterday. 2. I am sorry that I didn’t wait for

you. 3. I am sorry that I did not do my homework. 4. 1 am sorry that I did not
ring you up. 5.1 am sorry that [ did not answer your letter.
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Exercise 13. Combine the following couples of sentences into one using the
Gerund.

A. Models : I am his pupil. I am proud of it. —I am proud of being his pupil.
I was his pupil. I am proud of it. — I am proud of having been his pupil.

1. He works with professor Collins. He is proud of it. 2. He worked with
professor Collins. He is proud of it. 3. He is playing chess with a champion. He
is proud of it. 4. He was playing chess with a champion. He is proud of it. 5. She
made many mistakes. She is ashamed of it. 6. She makes many mistakes. She is

. ashamed of it.

B. Models: I am often invited there. I am proud of it. —I am proud of being
- often invited there.

1 was invited there. I am proud of .it. — I am proud of having been invited
- there.

1. He is given an important task. He is proud of it. 2. He was given an

- important task. He is proud of it. 3. She is loved by the pupils. She is proud of it.

4, She was loved by her pupils. She is proud of it. 5. The boy is praised by the

teacher. He is proud of it. 6. The boy was praised by his teacher. He is proud of
it.

C. Model: We sang together. We enjoyed it. —We enjoyed singing together.

1. I saw this film. I enjoyed it. 2. She played the piano. She enjoyed it. 3.
Tom collects stamps. He enjoys it. 4. The boys played football. They enjoyed it.
5. We bathed in the river. We enjoyed it.

D. Model: They went home. They did not wait for me. —They went home
without waiting for me.

1. I translate the text. I did not use the dictionary. 2. Mary left home. She did not
lock the door. 3. He went to bed. He did not take off his shirt. 4. The boy
continued to speak. He did not look at us. 5. The man saved the child. He did not
give his name.

E. Model : 1 did not take a taxi. I went there by bus. — Instead of taking a taxi,
I went there by bus.

1. We did not go to the Crimea. We spent the summer in the country. 2. He
was not preparing for his exam. He was playing chess. 3. I did not learn the



story by heart. I prepared to retell it. 4. I shall not go to the cinema. I shall watch
television. 5.1 won‘t write her a letter. I'll send her a telegram.

F. Model: Mother is busy She is cooking dinner. — Mother is busy cookmg
dinner.

1. Tom is busy. He is repairing his bicycle. 2. Jane is busy. She is washing
her dress. 3. I was busy. I was preparing my report. 4. The children are busy.
They are cleaning the room. 5. The teacher was busy. She was correcting our
tests. 6. The director was busy. He was signing the papers.

G. Model: This radio set is good. I advise you to buy it.'—This radio set is
worth buying.

1. This book is interesting. I advise you to read it. 2. This film is good. I
advise you to see it. 3. This house. in not very old. I advise you to repair it. 4.
This museum has many interesting things. I advise you to visit it. 5. Many
scientific works are published in this language. I advise you to learn it. -

Exercise 14. State the form and syntactic function of the Gerund in the followzng
sentences. Translate them into Ukrainian. :

1. Would you mind lending me two matches? (Shaw) 2. Dick went on asking
about various friends. (Lindsay) 3. She was saving her from being questioned
and examined. (Gaskell) 4. He had thought of taking Steve along with him.
(Gordon) 5. 1 insist on being treated with a certain degree of consideration.
(Shaw) 6.1 don't mind telling you. (Dreiser) 7. She had stopped asking about the
time. (Heym) 8. She has the gift of being able to work sixteen hours. (Shaw) 9.
At the back of the house two women were busy washing. (4brahams) 10. He
was afraid of being poor. (Shaw) 11. 1 recollect talking about it. (Dickens). 12.
So he gave up trying to get breakfast. (Jerome) 13. I had a dim recollection of
having seen her at the theatre. (Dickens)

Exercise 15. Answer the following questions using the Gerund in the answers.

1. What are you fond of doing? 2. Are you fond of skating? 3. What do you
like better: skiing or skating? 4. Do you remember going to school for the first
time? What can you say about that day? 5. What films have you seen lately?
Which of them is worth seeing? 6. How many English books have you read
this year? Which of them are worth reading? 7. What do you dream of
becoming? 8. What are you busy doing now? 9. What do we use for cutting



bread? 10. What do we use for writing? 11. What do we use scissors for? 12.
Is it possible to learn English without working hard? 13. What book did you
read last? Did you enjoy it? Why? 14. Did you enjoy traveling by air? Why?
15. Where do you intend spending your holidays? 16. Do you sometimes
dream of visiting a certain place you were happy once?

Exercise 16. Make up five sentences from each table.

Going there.
! insisted on my JoIng tere
He his being sent there.
. - |looked forward to .
She thought of her coming back.
We obje fte dto our | being given this task.
You your | being invited to the party.
dreamed of thei .2
They eir | jnviting to the party.
| my .
am . behaving so.
He is pleased with yqur havin sgai dit
She are sure of his havi : b i d
We surprised at | our ?Vlflg een p]rlalse ‘
You was proud of their | P a'tym.g sc.) well.
They were Jane's bexr?g invited there.
having won the match.

Exercise 17. Combine the sentences using gerundial complexes.

Model: They lost the game. I am surprised at it. —I am surprised at fheir
having lost the game.

1. Nick studies very well. His father is proud of it. 2. Kate failed in the
examination. We are surprised at it. 3. He will come in time. I am sure of it. 4.
She plays the piano very well. I am pleased with it. 5. Our football players won
the match. We are proud of it. 6. They are here. I am surprised at it. 7. He will
be a good specialist. They are sure of it. 8. Our students won the brain-ring
game. The dean is pleased with it.

Exercise 18, Paraphrase the sentences using gerundial complexes.
Models: 1 want him to take the floor. — I insist on his taking the floor.
I don't want him to be sent there. — I object to his being sent there.
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1. I want Kate to recite this poem. 2. They wanted me to take part in the
competition. 3. I don't want Jane to stay here alone. 4. The teacher wanted the
pupils to do this exercise. 5. Mother did not want Mary to go to the cinema. 6.
don't want him to be elected chairman. 7. [ want her to be sent to the conference.

Exercise 19. Change the following complex sentences into simple ones using
gerundial complexes.

Model: When she plays, I enjo'y‘i‘t. — I enjoy her_pl'aying.

1. When you quarrel I dislike it. 2. When you open the window I don't mind
it. 3. When they dance I enjoy it. 4. When he gets an excellent mark
his parents are pleased with it. 5. If you make noise I dislike it. 6. When you
don't know the lesson, I am surprised at it. 7. If you pass your examination well
T'll be proud of it. 8. When you smoke in the room I hate it.

Exercise 20. Ask your groupmate:

1. if he enjoys traveling by sea; 2. if he likes playing chess; 3. if he objects to
your opening the window; 4. whether he agrees to yourr using his dictionary; 5. if
he intends going to Riga this year; 6. whether he is ashamed of making speiling
mistakes; 7. if he is sure of passing his examination well; 8. if he dreams of
becoming a doctor; 9. if he insists on your playing chess with him; 10. whether
he is fond of skating; 11. if his mother is afraid of his catching cold; 12. whether
he is afraid of catching cold; 13. whether he is afraid of your catching cold; 14.
whether the film he saw last is worth seeing; 15. whether the book he read last is
worth reading. 16. whether my sister is delighted of her playing baseball with
professional players. 17. whether he is astonished at being invited to the party.
18. if she hates standing in long queues; 19. whether she doesn’t mind sleeping
late on Sundays; 20. if he would like to give up borrowing money.

Exercise 21. Find gerundial complexes in the following sentences and state
their syntactic function. Translate the sentences.

1. 1 will not stand your encouraging people as you do. (Shaw) 2. He thought
of Jem's coming that night. (Gaskell) 3. We made metry about Dora's wanting to
be liked. (Dickens) 4. Will you give me a certificate of your being unable to go?
(Gaskell) 5. Forgive my saying it. (Hardy) 6. They don’t like Kate’s indulging in
fantasy all the way. 7. I thought of Albert Einstein’s having devoted his life to
the theory of relativity. 8. The customs officer gave us an explanation for our

luggage being liable to duty. 9. The lazy student complained of his not having
enough time to study.



Exercise 22. Answer these questions using the verbs given.

Examples: Why do you never fly? (hate ) I hate flying.

Why does Tom go to the cinema so ofien? He likes going to the cinema.

1. Why do you always wear a hat?(like) 2. Why does Ann watch
television so often? (enjoy) 3. Why‘do you never go to the cinema? (not /like) 4.
Why does Jack take so many photographs? (like) 5. Why don’t you work in the
evenings? (hate) 6. Why does you friend ride a bicycle so seldom? (not/like)

Exercise 23. Put the verb into the correct form: - ing or to + infinitive.
Examples: I enjoy being alone.
Would you like to come to a party?

1. Do you mind ... (travel) such a long way to work every day? 2. Ann
loves ... (cook) but she hates ... (wash) up. 3.1 can’t stand people...(tell) me
what to do when I'm driving. 4. I don’t like that house. I would hate ... (live)
there. 5. Do you like ... (drive)? 6. When I have to catcha train, 'm always
worried about missing it. So I like...(get) to the station in plenty of time. 7.1
very much enjoy ... (listen) to classical music. 8.1 would love ...(come) to your
wedding but it just isn’t possible. 9. Sometime I’d like ... (learn) to play the
guitar. 10. He doesn’t like ... (get up) early.

Exercise 24. Now you have to make your own sentences. Say whether you like
or don't like the things in brackets expressed by the Gerund. Choose one of
these verbs for each of your sentences:

(don’t) like love hate enjoy don’tmind can’tstand (don’t) feel like
Example: (reading) I like reading very much.

1. (playing cards) I... 2. (learning languages) ... 3. (visiting museums)
...4. (lying on the beach in the sun) ... 5. (shopping) ... 6. (jogging) ... 7.
(waiting for a long time) ... 8. (making love in public) ... 9. (being interrupted
while eating) ... 10. (celebrating parties at the cafe) ...11. (taking on
responsibility). ..

12. (sewing on buttons)... 13. (making excuses) ... 14. (arguing about money)
... 15. (getting up early) ... 16. (writing thank-you letters) ... 17. (waiting at the
doctor’s) ... 18. (sleeping late) ... 19. (watching horror films) ... 20. (making
new friends)... 21. (having coffee at night) ...
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Exercise 25. Here is some information about Tom when he was a child.

1. He was in hospital when he was four. 4. He cried on his first day at school. -
2. He went to Paris when he was eight. 5. He said he wanted to be a doctor.
3. He fell into the river. 6. He was bitten by a dog.

He can still remember 1, 2 and 4. But he can't remember 3, 5 and 6. Make
sentences beginning He can remember ... or He can’t remember ...+ gerund.

1. He can remember being in hospital, etc.

Exercise 26. Your friend has some problems and you have to be helpful. For
each problem write a question with try + gerund.

Example: 1 can’t find anywhere to live. (put an advertisement in the newspaper).
Have you tried putting an advertisement in the newspaper?

1. My electric shaver is not working. (change the batteries) 2.1 can’t
contact Fred. He’s not at home. (phone him at work) 3. I'm having difficulty
sleeping at night. (take sleeping tablets) 4. The television picture isn’t very
good. (move the aerial) 5. I am afraid I have a cold. (take medicine for a cold):

Exercise 27. In this exercise you have to put the verb into the correct for: -ing
or to + infinitive. (Sometimes either form is possible.)

Examples: Please remember to post this letter.

John intends to buy (or buying) a house.

1. A: You lent me some money a few months ago. B: Did 1? That's
strange. I don't remember... (lend) you any money. 2. We tried...: (put) the fire
out but we were unsuccessful. We had to call the fire-brigade. 3. When you see
Tom, remember... (give) him my regards, won't you? 4. What do-you.intend ...
(do) about this problem? 5. Someone must have taken:my-bag. I clearly
remember... (leave) it by the window and now it has gone. 6. When she saw
what had happened, she began ... laugh) loudly. 7. Sue needed some money.
She tried... (ask) Gerry but he couldn't help her. 8. He tried ... (reach) the shelf
but he wasn't tall enough. 9. 'Did you remember... (phone) Ann?' 'Oh no, I
completely forgot.'

10.1 asked them to be quiet but they continued ... (make) a lot of noise.

Exercise 28. In this exercise you have to read a sentence and then write a
second sentence with the same meaning. Each time begin in the way shown.

Example: 1 phoned Ann and then I went out.- After phoning Ann I went out.
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1. Tom went to bed but first he had a hot drink. Before ... 2. The plane
took off and soon afterwards it crashed. Soon after... 3. We didn't eat at home,
We went to a restaurant instead. Instead of ... 4. You put people's lives in
danger if you drive dangerously. You put people's lives in danger by ... 5. He
hurt his leg but he managed to win the race. In spite of... 6. Bill is a very good
cook. Bill is very good at...7. I don't intend to lend her any money. I have no
intention of ...8. George took more exercise and so lost weight. By ... 9. He
was angry with me because I was late. He was angry with me for... 10. Tom
thinks that doing nothing is better than working. Tom prefers doing nothing to

Exercise 29. Now read each situation and then write a sentence with without -
ing.

Examples:

She ran five miles. She didn't stop. - She ran five miles without stopping.
He left the room. Nobody saw him. - He left the room without anyone
seeing him.

1. He translated the article. He didn't use a dictionary. He translated the
article without ... 2. Look right and left before you cross the road. Don't cross
... 3. She got married. Nobody knew about it. She... 4. They passed the exams.
Nobody helped them. 5. Tom left the room. He didn’t finish his dinner. 6. The
thief climbed through the window. Nobody saw him. 7. It’s nice to go on
holiday and not to worry about money.

Exercise 30. This time read each situation and write a sentence with look
forward to + gerund.

Examples: You are going on holiday next week. How do you feel about this?
DI’m looking forward to going on holiday.

Sue is doing an examination next week. She’s not very happy about it. How
does she feel about it? She is not looking forward to doing the examination.

1. A good friend is coming to visit you soon, so you will see him/her
again. How do you feel about this? I'm... 2. You are going to the dentist. You
don't like visits to the dentist. How do you feel about it? ... 3. Carol is a
schoolgirl. She hates school but she is leaving school next summer. How does
she feel about this? She ... 4. It’s raining cats and dogs but my brother is to go
to the baker’s. How does he feel about it? He ... 5. You are going to whitewash
the ceiling in the kitchen but the weather is very fine and the sun is shining,
How do you feel about it? 6. You are going on an excursion. How do you feel
about this? 7. He is going to have a good rest in the country with his relatives.
How does he feel about it?
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Exercise 31. Make sentences using ‘1 prefer doing (something) to doing
(something else).

Example: (driving/traveling by train) I prefer driving to traveling by train.

1. (praising Paris/ admiring London) I prefer praising Paris... 2. (phoning
people/ writing letters) I prefer... 3. (going to the cinema/ watching film on
television) . 4. (dancing at the discotheque/ singing at the concert). 5. (staying at
home/ going out). 6. (hunting for a challenging job/ fulfilling routine tasks). 7.
(having early breakfasts/ drinking coffee at night). 8. (arranging an active rest/
sleeping at the daytime)Now rewrite sentences 2 and 3 using the structure “I
prefer to do (something)...”.

Exercise 32. Combine two sentences into one using the gerundial complexes.

Example: They combine two methods. It is of great value. — Their combining
two methods is of great value. ' "

1. He works at this problem. It is known to us. 2. He has made the
experiment. It is important. 3. They have obtained some new data. It is very
important. 4. The heater is connected to a relatively low voltage in this
experiment. It is known to us. 5. A relatively low voltage increases the supply of
electrons. It is important to remember. 6. He makes use of this new alloy. It will
give good results. 7. The flow of plate current is governed by the voltage placed
on the control grid. It is known to every student. 8. The plate current is measured
by a milliammeter. It is trivial. 9. Static characteristics had been obtained under
actual operating conditions. It was very important. 10. He makes the calculation
regularly. It helps us in our work. 11. He had stopped making experiments. It
was unknown to us. 12. They had changed manufacturing methods. It surprised
us greatly.

Exercise 33. Translate the sentences into Ukrainian, paying aftention to the
gerundial complexes. TR

1. His having made such a discovery interested everyone. 2. Our having
fihished all the experimental parts in time did not surprise them. 3. Their having
obtained the new equipment will help them greatly. 4. Her working in this field
of electronics made a great contribution to their common research. 5. His having
taken part in the optoelectronics conference was reported in the press. 6.
Petrov’s having invented the electric arc is known to everybody. 7. Their having
found a new method of transmission will help us to send information better and
faster. 8. Their having developed efficient radiolocation facilities was important
to us. 9. His having applied new techniques for manufacturing amplifying signal
devices interested everyone. 10. Their having used biotechnical and medical
devices and systems will help them in their experiment. 11. Huyghen’s having
developed the wave theory brought him world renown.
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Exercise 34. Translate the sentences into Ukrainian paying attention to the
Gerund and gerundial complexes.

1. Knowing the physical properties of all the substances is very important
to the chemist. 2. Ultimate weight is determined experimentally by employing
some architecture of testing machines. 3. Elementary phosphorus is made by
heating calcium phosphate with silica and carbon in an electric furnace. 4.
Scanning is accomplished by changing the amount of electrons getting on the
fluorescent screen. 5. Setting up an automatic control system takes considerable
time during which the machine is idle. 6. We know of Newton’s having
developed the principles of general physical theory. 7. Measuring temperature is
necessary in many experiments. 8. Experimenting is widely used in different
branches of science and industry. 9. The best way to solve this problem is
experimenting, 10. The engineer insisted on experimenting the best method to
solve this problem. 11. We prefer working at the laboratory after classes to
reading specialized literature at the library. 12. Conducting reseach is interesting
for research — oriented students.

Exercise 35. Make these sentences imperative using the Gerund.

1. It’s necessary to measure the distance (begin). 2. It’s not important to
do it now (stop). 3. It’s better to heat water a little (keep on). 4. You must check
the device (begin). 5. You needn’t calculate these data (stop). 6. It’s better to
define it at once (start). 7. You will have time to treat this part (go on). 8. There
is only one more experiment to make (go on). 9. It’s very promising to use this
array in the mathematical proof (start).

Exercise 36. Tranlate the folloving sentences into Ukrainian paying attention to
the Gerund.

1. Reading English technical magazines is important for an engineer. 2. It
is no use speaking to her. 3. I remember attending his lectures on history. 4. He
re-members having added some water to the mixture. 5. They finished installing
the apparatus only on Saturday. 6. After the failure they stopped following this
rule. 7. They began doing the experiment in May. 8. He began determining the
properties of the new material. 9. After failing in the examination in January he
had to take it again in February. 10. After graduating from the Institute he
worked in the Far North. 11. At the meeting they discussed different ways of
.improving their work. 12. There are different ways of obtaining the gaseous
substance. 13. The problem of obtaining new power sources was discussed by
the board of directors. 14. The organizers of the conference were informed of his
refusing to take part in it. 15. We were informed of new results being obtained at
the laboratory. 16. I remember his having been interested in languages since his
childhood. 17. They learned of his having discovered effective means of
memorizing difficult number combinations.

102



Exercise 37. Translate the following sentences paving attention to the Gerund.

1. 1 know of his having been sent to work to the electric networks
enterprise. 2. What is the reason for his having left our city so suddenly? 3. We:
heard of the experiment having been started last week. 4. He improved his report
by changing the end. 5. They objected to his remaining at home. 6. Instead of
restoring the old theatre they decided to build a new one in the centre of the
town. 7. New possibilities for applying atomic energy open up. 8. It is possible
to set up power stations based on utilizing the heat of the sun. 9. The idea of
creating a multi-stage rocket belongs to Tsiolkovsky. 10. Before being sent up
the balloon was filled with a special gas. 11. What apparatus do we use for
measuring air pressure? 12. Science requires experimenting. 13. Speaking
foreign languages is of great importance for every cultured and well-educated
person.

Exercise 38. Transiate into English using the Gerund.

3. TIpoGaure, wo mu Typdyemo Bac 3HOB. 4. IIpobaute, wo My He npuilinin
ruacto. 5. [1po6aure. wo s nepebuato sac. 6. Ilpobaure, 10 MU TOBOPUIH TAK
ronocHo. 7. IlpoGaure, uio s TesedoHYIO BaM TaK Ni3HO.

B. 1. Jlaxyro Bam 3a Te. 110 BM NOKA3AIM MeHi a0pory 1o micta. 2. Jlakyiwo
TOOI, WO TH AONOMII MeHi AicTat KeuTKW. 3. JIskylo, WO BH MPOBEIU MEHE
aogomy. 4. Jlskyio, wio T4 po36yaus Mene. 5. JIKyr0, IO BY NOSCHHAH MEHI e
paBuIio.

C. 1. 8 nam'araro, wo Oaums #oro B Kuesi. 2. BoHa namM'arae, 110 4UTAIa KO
KHIKKY. 3. MM nam'sTaemMo, 110 BiH NMpaLioBaB pa3oM 3 Hamu. 4. Bin nam'arac,
w0 GaumB ued dinbm. 5. S nam'aTaI0, 10 BOHA BYMNACS B Haunif mxoai.

D. 1. Mese ausye, w0 BOHa poOUTL Tak 6arato opdorpadiuHux NOMKIOK. 2.
Meni AMBHO, M0 TH NPONYCTHB Tak Oararo ypokis. 3. MeHe auBYy€, 0 BiH
cka3ae 1ie. 4. Meni IuBHO, IO BH TaK 4acTo 3anizHieTech. 5. Meni IMBHO, wo
BOHN NPOrpaIK MaTy.

E.1. Yuurens 3anepeuysas npoTH TOFO, OO MM CLOrOAHI MIULIA B KiHO. 2.
Boun He 3anepedyioTs NPOTH TOro, wio® s npueaHascs 20 HUX. 3. Bu He
3anepedyeTe NPOTH TOro, wob # BiAYMHKAA BikHo? 4. 5] 3anepedyio NpoTH Toro,
106 11e nuTanHs 00roBOPIOBANIOCA ChOrO/HI.

F. |. Bix Hanonaras Ha ToMy, mo6 yci npuitiutd 3asTpa o 8 rogusi. 2. Boxa
HANONSTANA HA TOMY, 106 f Mimos 10 Jikaps. 3. 5 HanoasAralo Ha Tomy, ulol
BOHa HeraliHo moixana no Kuera. 4. 51 manonsraio Ha ToMmy, 106 ii Hera#Ho
nocaam 1o Kuepa. 5. Mu Hanonsraemo Ha tomy, ol uedl Gyannok Oyio
BiIPEMOHTOBAHO. ' '

G. 1. lle 3anexuTh Bil TOrO, 4M mpuiife BiH BuacHo. 2, Bee sanexuth Bix
toro, wM Oyne noroma xopowa. 3. Bama noisgka 3ane¥MTh Bifl TOrO, yu
nicrasete BK KBMTKM. 4. Yomix Hamoi poboTH 3aMekuTH Bid TOro. M

A ) Tinofaure mo g r2ar gamy kumxky 2 Tipofaute, wo 1 2anizuuscs
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nomoMaratuMete BH Ham. 5. Lle 3anexuTts Bijg Toro, uM Gyne BiguMHEHHIA
MarasuH.

H. 1. Mu 3 HeTepmiHHAM 4YeKaiM, KONH BiH TIOBEPHeThCA. 2. YuHi 3
HeTEepNiHHAM 4YeKaloTh, KONM BOHH MOIAYyTh Ha eKckypcito. 3. Boma 3
HeTepIiHHAM dYeKae, KoM il 3ampocaTh Ha Bedip. 4. Mu 3 HeTrepuinuAM
yeKaeMo, ko Oyze BHAaHa Ui KHIXKa. 5. 51 3 HeTepniHHAM 4Yekaro, Konu Oyny
MpaLioBaTH Ha 3aBOXI.

~1. 1. Bona minuia 3 nOMy, He BHMKHYBIUM TeneBizopa. 2. SI He Mir
NiArOTYBATH IOMOBi/b, HE IPOYMTABIIN LHX CTaTel. 3. YuHi mimiu nojomy, He
o6roBopuBIIM lie MUTaHHA. 4. MH He MOXEMO NHTH [0 Tearpy, He KyTMHBILM
KBUTKIB 3a3fainerifs. 5. BiH mimos, He NONpPOINABIINCE.

J. 1. 3amicTs ToOro, 06 iTH 10 HBOTO, BH MOXETe 3aTene)OHYBATH HoMy.

2. 3amicTh TOTO, IHO6 KyOHUTH WO KHIXKKY, 4 B3iB 1i B WIKiNbHiN Gi6riorewni. 3.
3amicTe TOTO, 106 iTH A0 Jicy, MM 3aTMILIKINKCS BioMa. 4. 3aMicTh Toro, 106
ixaTl TyoM TpaMBaeM, BiH MilOB MiIKH. 5. 3aMicTh TOro, W06 rocunaT Tyau
%enerpamy, 1 HaITMIY HOMY JIUCT.

K. 1. S BuBuuB Oarato CiiB, YHUTAIOYM LIOAHA aHIVIHACHKI KHIKKUA. 2. Mu
MOXXeMO BCTHTHYTH Ha IOI37, B3sBIIM Takci. 3. Bin ayxe nonoMir Hawm,
NOACHIOIOYH TpaBuna. 4. Bu Moxere 3anuTaTy fioro npo e, 3areneponyBaBIiu
flomy. 5. 51 xpamie 3anaM'sTOBYIO CJIOBA, BXXUBAIOYH 1X Y PEUEHHX.

L. 1. 51 se MaB Haroau noroBopUTH 3 HUM. 2. V Hel He Oyno Hanil KymuTH
KBHMTOK Ha IIIO BHCTaBy. 3. Bin Mae no6py 3BH4YKy 3amMCyBaTH KOXHE CJIOBO B
CJIOBHHYOK. 4. € pi3Hi cnocobu nepeknaay repyHIis Ha yKpaiHChKY MOBY. 5.
Bonu He Maiu MOXIIHBOCTI KOPHCTYBATHCA MATHITOPOHOM.

M. 1. Ile#i Gynunok sumarae pemonty. 2. [Timtory Tpe6a nodapGysaru. 3.
Hitn notpebyrots nornsay. 4. Uepebnku Tpeba monaromutu. 5. ®insm Tpeba
o6rosopuTH. 6. Lleit aBToM0Ginb Tpe6a BiApeMOHTYBATH.

N. 1. Miii ToBapum 3aitusTHif peMOHTOM Tenesizopa. 2. Bona 3aiinsra
nepexnanoM cTarti. 3. Mu 3afiHsaTi: 06roBoproeMo ayxe BaXIHBe NUTAHHSA. 4.
Yuni 3aifHsiTi: camaTe fepesa B HIKITEHOMY CajKy.

O. 1. Leit ¢inem BapTo mojusurucs. 2. Lleit poman Bapro npountard i
obrosoputu. 3. Lle onosiganus 3acmyrosye Ha Te, wo6 oro nepexiaaiM Ha
ykpainceKy MoBy. 4. Lli daxtu Bapro 3rajaru. 5. Tenesizop BapTo KynuTH.

Exercise 39. State the functions of the gerunds and verbal nouns in the follow-
ing sentences.

A. 1. Studying small structures is accomplished with the help of a
microscope. 2. Scientists began working at the problem of magnifying the power
of microscopes more than 200 years ago. They were greatly interested in
improving the lenses. 3. The experiments of the physicists resulted in making
much more powerful microscopes. 4. Doubling the power of the ordinary
microscope became possible by means of an ultraviolet microscope. 5. Instead
of using ultraviolet light, scientists turned their attention to studying electrons. 6.
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Using electron microscopes scientists succeeded in bringing to view the fine
structure of every material. 7. Upon making a number of experiments atomic
physicists solved the problem of building a very powerful microscope. 8.
Scientists succeeded in building electron microscopes with a great magnifying
power. 9. Building a microscope using an electron beam in place of the usual
beam of light provided a means of studying the smallest particles. 10. By
solving the problem of constructing the electron microscope scientists were able
to bring to view the fine structure of every material. 11. By making use of the
properties of electrons physicists succeeded in- constructmg an electron
microscope. : '

B. 1. Upon being heated, the molecules begin moving about very rapidly. 2.
Drinking water is a prime necessity for plants and animals. 3. It is simple
enough to heat a vessel of water to the boiling point. It is also a simple matter to
cool water to its freezing point, but we must-have more. complex equipment
unless the weather is cold enough to do it for us. 4. The most important way of
changing mechanical energy into heat energy is by means of electricity. 5. When
an object suddenly starts moving, we understand at once that something has
acted or is acting upon it to produce the change. 6. In considering the chemical
properties of metals the first thing that must be noted is that they vary widely in
degree of chemical activity. 7. Alloys are usually prepared simply by melting
two or more metals together and then allowing this liquid mixture to cool and
solidify. 8. There are two general reasons why man has tried to make synthetic
materials instead of being satisfied with those already existed. ;

Exercise 40. Translate the sentences into Ukrainian paymg attentton to the
Gerund. .

1. This has an effect of eliminating the dip or kink present in the anode
characteristic of the screen grid value. 2. Various methods depending-on the
employment of a non-linear impedance are available for effecting amplitude
modulation. 3. In making a measurement the input terminals are first short-
circuited. 4. In an instrument of this type a single battery is used for heating the
cathode, biasing the grid and providing the positive anode potential. 5. If the gas
becomes ionized it is capable of conducting electricity. 6. The number of ions
may be increased by raising the temperature of gas. 7. The energy given up by
the positive ions on reaching the cathode is converted to heat. 8. The cathode-
ray tube is an instrument for showing pictorially the variations in pulse duration
or current occurrmg in a circuit. 9. A convenient method of gradually raising the
anode potential is to connect it to a capacitor C which is charged through a
resistance R. 10. For the purpose of making measurements a transparent scale
may be fitted to the screen. 11. A television system is considered to possess
means for transmitting sounds synchronously with visual images. 12. Many
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difficulties could be avoided by using heterojunctions. 13. Saying that an atom is
the smallest particle of any substance means that no substance can exist in any
more subdivided form. 14. As matter and weight are closely connected we
usually measure the amount of matter in an object by weighing it. 15. The
transformer is a device for raising or lowering voltage. 16. It would be
impossible to simplify the production process without applying this device. 17.
If biological experiments are going on, the problem of developing the
technology for growing plants in space conditions will be solved. 18. The first
problem is determining the trajectory described by the points of a moving body.
19. In using the transformer one can increase the voltage of the alternating
current. 20. On leaving the metal surface the electrons can produce considerable
currents.

Exercise 41. Find the gerunds in the following sentences, define thezr Sfunctions
and translate them into Ukrainian.

1. On making a lot of experiments Faraday discovered the electromagnetic
induction. 2. Heating makes molecules move faster. 3. Our success depends on
being supplied with the necessary equipment. 4. He is busy checking the
equipment for the experiment. 5. The way of avoiding these difficulties is
unknown at present. 6. This procedure will give us the possibility of determining
both the state estimation and the time delay. 7. The idea of using this technique
is new and somewhat unexpected. 8. We insist on treating another important
element in this technique. 9. On pressing the button you will get the information
desired. 10. He is used to working under pressure. 11. Many solids can be
changed to gases by heating. 12. All aspects of the life depend on our
understanding the properties of matter. 13. There are different ways of charging
a body with electricity. 14. One can increase the current by reducing the
resistance of the circuit. 15. On being heated to a sufficient temperature any
body becomes a source of light. 16. We succeeded in simplifying the
calculations of some magnetic strength. 17. There is one more point worth
‘mentioning. 18. This device should be put into operation without stopping the
~‘experiment. 19. In recend years man has succeeded in controlling chemical

" reactions.

Exercise 42. Translate the sentences into Ukrainian paying attention to the

Gerund.
: 1. After heating the cathode the electron emission is produced from its
surface. 2. After leaving the cathode emitted electrons are attracted to the
positively charged anode. 3. The flow intensity can be increased by raising the
temperature of the cathode. 4. By using serial electronic amplifier stages it is
possible to increase current, voltage and power. 5. An initial experiment was
made to reduce the interelectrode capacitance of a triode by reducing electrode
dimensions. 6. Vacuum tubes can be used for getting high frequency steady-
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state oscillations. 7. Getting high-frequency steady-state oscillations is necessary
for broadcasting. 8. The degree of sensitivity in this case falls rapidly with
impurity content increasing. 9. Our understanding of thermoelectric devices will
be increased by studying tunnel diodes. 10. After leaving the magnetic field the
electrons will travel on to the screen in a straight line as in Fig. 41. 11. Electrons
can pass through the control grid unimpeded, but the electric field at the cathode
surface can be changed by varying the electric potential of the control grid. 12.
Before reaching a receiver a signal must be modulated and radiated through. 13.
The addition of an impurity element to a pure piece of semiconductor has the
effect of increasing its conductivity. 14. Before discussing the p-n junction we
must define a term frequently used in a device terminology, i. e. bias. 15. This
cannot be done by using the same two valves in any other way. 16. The emission
rate can be increased by raising the temperature of the cathode. 17. The
electrons flow to the cathode because of its having lost electrons and being less
negative than the negative side of the battery. 18. As an aid in solving the
temperature sensitivity problem, new high-temperature materials are being
developed.
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